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Between these covers you will find a wide variety of software ranging
from business applications to games and hardware utilities and much
more. These widely varied programs highlight many different aspects
E G ) The individual program descriptions were
limited in order to allow the maximum amount of software for you the

of 0SI's computer systems.
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HOBBIT QUIZ ==--

This program will run on all machines. It is a short quiz;

Tolkien's book "THE HOBBIT" .

3 NRa4:NG=4
S FORI=1T03@:PRINT:NEXT
10 FORI=1T093:REARDAS:PRINTAS : NEXT

11 FORI=1T014:PRINT:NEXT
12 GOSUB1099

15 FORI=1TONQ

17 FORIO=1T03@:PRINT:NEXT

20 RERDQS: RA, A$CL), A$(2), A$(I), AF(4), D$(L), D$(R), D$(3), D$(4)

30 PRINT@S:PRINT:PRINT:FORJSLTONR: PRINTJ")", R$(J) :NEXT

35 PRINT: INPUT“WHAT 1S YOUR'ANSWER"; A

49 IFAONRORACO INTCAIORACLTHENPRINT "WHAT?* : GOTO3S

43 1FA=RATHEN100

47 FORL=1TOMC: IFWCLYSATHENPRINT"NO, YOU TRIED “A$(R):PRINT:GOTG30
48 NEXTL

S8 PRINTDSCAR) :PRINT"TRY RGAIN®

53 WC=WC+L: IFWC=NRTHENWC=0

6@ WCWC)=R

63 GOTO3S

100 PRINT:PRINT"RIGHT! “RS(R)“ IS CORRECT. " :PRINTDS$(A)

110 GOSUB1000

120 FORL®LTONR:WC(L)=@:NEXT

200 NEXTI

210 PRINT:PRINT"YOU WON!®

220 PRINT"YOU HAVE ANSWERED ALL'NGQUESTIONS CORRECTLY.

238 INPUT“DO YOU WANT TD PLAY AGRIN*; Qs

249 IFLEFT$(Q3, 1)="Y"ORLEFT$(QS$, 1)="Y*THENCLEAR : GOTO3

sgg E:éNT:PRINT“THﬂNK YOU FOR PLAYING WITH ME. GOOD-BYE.

500 DATA"THIS IS A QUESTION AND ANSWER GAME ABOUT THE HOBBIT., BY
$10 DATAJ. R R TOLKIEN.,"*

520 DATAI WILL ASK YOU QUESTIONS ABOUT THE BOOK. YOU WIN WHEN YOU
530 DATAHAVE GOTTEN ALL THE QUESTIONS RIGHT. IF YOU NEED HELP ASK
. 340 DATAYOUR TERCHER. REMEMBER THAT A COMPUTER IS NOT VERY SMART
552 DATARFTER ALL I AM ONLY A" MACHINE!, *"

560 OATAWHEN YOU ARE RERDY TO BEGIN TYPE ‘R’ AND THEN PUSH /RETURN‘.
600 DATAWHICH ONE 0Q YOU THINK IS THE MAIN CHARACTER?

6083 DATAR, FRODO, BILEO, GANDALF, BARD

610 DATA“NO, FRODO IS ONLY IN THE LORD OF THE RINGS BY TOLKIEN,
613 DATABILBO IS THE ONLY ONE WMO I5 IN EVERY CHAPTER

620 DATA"GOOD GUESS, BUT GANDALF IS NOT IN THE STORY RS MUCH AS BILBO"
638 DATA"BARD SHOOTS SMAUG, BUT HE DOES NOT DO MUCH ELSE. "

650 DATAWHAT KIND OF CREATURE WAS BILBO?

660 DATA3, DWARF: CRAGON, HOBBIT, ELF

670 DATA"NICE TRY, BUT BILBO WAS EVEN SMALLER THAN A DWARF. “

680 DATA“SMAUG IS THE NAME OF THE ORAGON. BILBO IS NOT A DRAGON!'"
658 DATATHE BOOK IS CALLED THE HOBBIT BECAUSE OF BILBO BRGGINS
633 ORTA"NO, ELVES ARE TALL ‘AND ARE NOT USEUALLY THIEVES"

799 DATAWHICH ONE CAN TURN INTO A BEAR?

765 DATAL BEORN, ELROND, BILBO, THORIN

740 DATARBEORN COMES TO THE BATTLE OF FIVE ARMIES IN THE BERR-SHAPE
715 DATA"NO, ELROND IS THE HALF-ELF WHO RERDS THE SWORDS

720 ODATR“NO, BILBO IS A HOBBIT!®

723 DATA"NOT QUITE. THORIN IS THE KING OF THE DWARVES. *

790 DATAWHO STEALS THE BIG GEM CALLED THE ARKENSTONE?

7355 DATAZ, GANDALF, GOLLUM, BILBO, BALIN

760 DATA"NO, NOT GANDALF THE WIZARD.

765 DATA"NOT REALLY. GOLLUM IS THE MONSTER WHO PLAYS THE RIDOLE GAME"
779 DATAR"BILBO GIVES THE ARKENSTONE TO THE ELF-KING. “

773 DRTAR“SORRY. BALIN IS THE DWARVES” OLD WRTCHMAN. "

1000 PRINT:PRINT

1002 INPUT"TYPE "R’ TO GO ON";R#

1683 IFR$CO "R THENPRINT"WHAT?" : GOTOL1000

1012 RETURN
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DECIMAL TO HEXADECIMAL CONVERTER =---

This program will run on
numbers to hexadecimal numbers.

S PRINT"DECIMAL TO HEXDECIMAL CONVERTER*
10 INPUT X

12 PRINT"=*;

15 34096

20 R=X/4096:G0SUB 30

24 Ba2%6

22 A=X/B:G0SUB 30

23 Bs16

24 R=X/B:GOSUB 30

25 8=t

26 A=X/B:GOSUB 30

28 GOTO 130

39 IF AD@ THEN AsINT(A)

49 X=X-(B¥R)

0 IF ACL0 THEN PRINTR;

60 IF As10 THEN PRINT“A%;
70 IF Awil THEN PRINT*B";:

89 IF Aw12 THEN PRINT“C*;

99 IF R=13 THEN PRINT"D*;

100 IF Aei4 THEN PRINT “E";

118 IF A=1S THEN PRINT'F";

120 IF AD15 THEN PRINT®TOQ LARGE"
138 RETURN

159 PRINT:GOTO10

HEXADECIMAL TO DECIMAL CONVERTER --=-

all

machines., It converts decimal

This program will run on all machines. It converts

numbers to decimal numbers.

3 FORI=1TOZO:PRINT:NEKT
S PRINT"HEXDECIMAL TO DECIMAL CONVERTER®

?F
12
20

30
4@
50
60
70
80
=)
100
110
120
290
210
300

ORI=1TOS: PRINT: NEXT

FORI=1TO4

PRINT"DIGIT #";I::INPUT AS$CI)
IFAS(I)="A°THENA( I )=10: GOTO100
IFAS(I)="B"THENACI)=11:GOTO100
IFAS( I)="C"THENA( I )=12:30T0100
IFAS{ I)="D"THENA(I)=13:GOT0100
IFASCI)="E"THENA( I )=14:GOTO100
IFAS(I)="F " THENAC I)=15: GOTO138
ACTI=UAL{ASCI))

IFALTIICBORACII>LSORAC I K DINT(AC I ITHENZD

NEXT

PRINT:PRINT

PRINTAC 1 )84@86+A( 2)#256+A( I ) #1B+A(4)
PRINT:PRINT:PRINT:PRINT:GOTOL10

END

hexadecimal



AMAZIN wewe-
This program will run on all machines (Note: you must use smallaer
mazes if programed on a Ci1?P.). It will generate a maze to the

dimension specified. The generated mazes will always have at least one
correct path.

S0 PRINT"AMAZIN® . gg: LLg g::

53 PRINT 202 0OTO 260

78 PRINT®THIS PROGRAM TAKES A LONG TINE ON LARGE MAZES 298 1F ROH THEN 24

89 PRINT'MAXIMUM SIZE 1S 23 &Y 22 S0 IF SoH E 240

100 LET As2 2

110 DIM W(28, 2%), v(25, 2%) £20 LET Rt

111 FOR =@ TO 2% 21 LET Set

112 FOR Jud T0 25 222 Q0TO 250

113 WCI 2e0:v(l, Jyag 230 LET Rei

114 NEXT J - 231 LET Sag+y

s ey
g ::m YOUR WIDTH: : INPUT H:PRINT "FND LENGTH") : INFUT v 2% IF NCR, $)=0 THEN 210
130 IF HC2 Q0TO 132:1F HD23 GOTO 432:1F V<2 GOTO 432:1F ¥322 GOTO 132 250 IF R-1e3 THEN 330

i o e

L] (Y " - S .

gg ::m; MEANINGLESS DIMENSIONS. TRY AGAIN. T I A TN % 390
141 GOTO 120 290 IF ReH THEN 330

150 PRINT 300 IF WCR+L SO0 THEN 330
184 PRINT 340 LET X sINTCRNDCAI#3+L)
160 LET Q=0 . 220 IF Xei THEN 790

164 LET 29 324 IF Xm2 THEN 820

162 LET XwINT (RNDCRIYWH+1) 323 IF a3 THEN 060

463 FOR Is4 TO W 320 IF SOV THEN 340

170 IF laX TMEN 173 3321 IF =i THEN 370

171 PRINT ©:mat 332 LET qut .

172 GOTO 180 : 233 6OTO 3%0

473 PRINT *: W 349 IF WCR, S+1)0 THEN 37
189 NEXT 1 380 LET XaINTCRNDCAI#3+L)
199 PRINT v« , 360 IF X=i THEN 790

191 LET Cwy : 361 IF ¥s2 THEN 320

192 LET W(X, 1m0 362 IF Xa3 THEN 310

19% 1 ET fafet 370 LET KeINTCRNDCAI#E+L)
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380 IF Xe1 THEN 790
331 IF Xe2 THEN 829
350 IF ReH THEN 470
409 [F UWCR+1 SO0 THEM 470
491 IF SCV THEN 420

410 IF Zwi THEN 4350

411 LET Gey

412 GOTO 430

420 IF W(R, $+1)<50 THEN 430
430 LET XuINT (RNDCRI#3+1)
440 IF Xwi THEN 790

441 IF Xe2 THEN 360

442 IF Xe3 THEN 510

439 LET XsINTCRNDCAIWEeL)
460 IF X1 THEN 790

461 IF Xw2 THEN 960

470 IF 50OV THEN 499

480 IF w1 THEN 320

461 LET Qu

482 GOTO 509

499 IF WCR, 5+1)COR THEN 520

302 LET XsINT(RNO(R)#2+L)
540 IF Xwi THEN 799
941 IF ¥=2 THEN 912
320 GOTQ 790
330 IF S-1=) THEN 670
$4Q IF WCR, 51000 THEN 479
541 IF ReH THEN 610
342 IF WCR+L 5200 THEN 610
330 IF SOV THEN 360
S%1 IF 2=1 THEN 3550

970
5+4)0O0 THEN. 299
INTCRNOCRI#3+L)
THEN 820
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THEN 820
Xu2 THEN 860
SOV THEN 630
vt THEN 660
T Q=i

333 4.2 #10

[
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W(R, S+1)00 THEN 660
XsINTCRND(AIWe1)
%=1, THEN 320

Xwd THEN 310

0T0 320

670 IF Red THEN 740

689 IF WCR+L 300 THEN 740

REEBRES
g5

2
o
8%

690 IF Zsi THEN 730

651 LET g=1

692 GOTO 930

700 IF W(R, 54100 THEN 730
710 LET HaINT(RNOCR)*+1)
720 IF =i THEN G60

721 IF Xw2 THEN 310

730 GOTO 360

740 IF 3V THEN 760

790 IF 2ot THEN 730

7eL LET Qut.

72 GOTO 770

760 IF WCR, S+10C30 THEN 780

70 GOTO 319

780 GOTO 1009

790 LET W(R=1, 3)af

300 LET CaC+d

801 LET Y(R=-L, 5022

302 LET RsR-1

3810 IF CaHwy+i THEN 10410
311 LET @=9)

g12 GOTO 260

820 LET W(R, S-1,)=C

838 LET CaC+L

340 LET V(R, 5=1)31

841 LET Sa%-1

842 [F CaMwy+2 THEN 1010
850 LET Q=3

354 GOTO 262

860 LET W(R+L, 5)=C

370 LET C=C+i

374 [F V(R 529 THEN G890
372 LET V<R, 5.m3

373 GOTO 8350

860 LET V(R,5)=2

399 LET RwR+l

900 [F Cs=Hwy+i THEN 1012
992 GOTO 330

910 IF Q=i THEN 360

920 LET W(R,S+i)sC

924 LET CaCs

922 IF Y(R, S)=Q THEN 940
330 LET V(R, 5)=3

934 GOTO 9%0

349 LET V(R S)=d

950 LET Se5+1

954 IF CsMwy+i THEN 1040
952 80TO 268

960 LET 2w

970 IF V(R, S)=Q THEN 980
974 LET V(R, 5)=3

978 LET =0

973 GOTO 1000

980 LET V(R, S)=i

964 LET Q=0

962 LET Rwi

999 LET Sag

994 GOTO 2%

49099 GOTC 240

1010 FOR Jwi TQ ¥

1014 PRIMT “Iv

1042 FOR I=L TO H

1043 [F V(I I>C2 THEN 1030
1029 PRINT * %

1021 GOTO 1949

1020 PRINT * I

1049 NEXT [

1041 PRINT

1043 FOR lat TO H

1048 IF W(I, J)>=d THEN 1060
1099 IF V<1, J)=2 THEM 1060
1094 PRINT . "

1082 GOTO 1279

1060 PRINT " ==";

1979 NEXT !

1074 PRINT ¢

1072 NEXT J

1074 END



A DECISION MAKER ===-

This program will run on all machi
choice from a group of items you
consideration factors specified by you.

160 REM A DECISION MAKER

118 REM  IRITTEN BY PHIL FELDMAN AND TOM RUGG - RPRIL 1977
128 DIN F$(40), L$(18), F(10), M(10, 18), ¥(18), 2(18) :PRINT

130 y$=cy* PRINT"
148 PRINT®SEST POSSIBILITY FOR YOU OUT OF SEVERAL ALTERMATIVES. *

nes. It calculates the Dbest
are considering, taking into

748 PRINTLSC) : INPUT MCJ, I3 IF MCJ, 120 THEN 728
720 PRINT*  C/MON  NO MEGATIVE MNBERS. TRY RGAIN *:GOTO 78
720 NEXT J:PRINT:M(L, 1)=10:NEXT I:FOR [=1 TO F:C=9:FCR J=1 TO LO

1 CR HELP YO MRKE DECISICHS BY CHOOSING THE® 5’ e s e, [y:NEXT J:FOR Jat TO LO:NCJ, DG, D/CHERT J:NEXT 1

738 FOR J=t T LO:¥¢J)=@:FOR I=f TO FO:W(I=N(I)+{, D)

138 PRINT*ALL I NEED T0 00 IS ORGRKIZE INFORMRATION YOU RLRERDY HAVE 5o vour 11 1.FOR 1= TO 18:2(1)=1:NEXT:CoLG-4:FOR J=t T0 L0

160 PRINT-PRINT® WHICH OF THESE BEST DESCRIBES THE TYPE OF*
178 PRINT"DECISION YOU HAVE TO MRKE?*:PRINT
189 PRINT"{ - CHOOSE fiN ITEM FROM SEVERAL ALTERMATIVES®
199 PRINT™2 - CHOOSE A COURSE OF ACTION FROM SEVERRL ALTERNATIVES"
200 PRINT: INPUT*KHICH TYPE (1 OR 2) 0O YOU HAVE TO MRKE?":C
28 IF CCL R 02 THEN 200
220 PRINT:IF Cei THEM PRINT® AT TYPE OF [TEM IS IT THAT YOU
20 IF C=1 THEN PRINT*NEED TO DECIDE UPON®:INPUT S$ ‘
248 IF C=2 THEN S$s“COURSE OF RCTION
PRINT:PRINT® [ WILL MQU NEED A LIST OF ERCH *;5¢
PRINT"THAT YU ARE CONSIDERING PLEASE INPUT THEM ONE AT A8
. PRINT'TIME. THE ORDER IS KO PARTICULAR IMPORTANCE

260 PRINT:INPUT®  FIRST, HOM MANY ARE THERE ALTOGETHER®:L@

298 IF L>=2 AND LOC=18 THEN 310

302 GOSUB 899:GOTO 280

310 PRINT:FOR =1 TO LO:PRINT:PRINT*NUMBER *; I; * PLERSE
320 1NPUT L3CD :NEXT [:PRINT

130 PRINT*Q.K  THIS IS THE LIST UNDER CONSIDERATION®:PRINT

FOR I=1 TO LO:PRINTL; TRB(S); LSCI) :NEXT 1:PRINT:GOSUB 988

IF B$OVYS THEN 238

PRINT:PRINT®  NHOW, HOW MANY DIFFERENT FACTORS RRE [MPCRTANT

PRINT “TO YOU IN CHOOSING A * S3:INPUT FB

388 IF FIOsi AN FO(=10 THEN 400

399 GOSUB 899:GOTO 269

1 NEED A LIST OF ERCH OF THESE FACTORS
440 FOR I=1 T0 FO:PRINT PRINT® FRCTOR NUMBER *; I:INPUT F$CI):NEXT
420 PRINT:PRINT®  NOM LOOK AT THE FOLLOMING LIST OF FACTORS YOU
438 PRINT"HRVE PROVIDED RND DECIDE WHICH IS THE MOST IMPORTANT
440 PRINT:FOR I=t TO FO:PRINTI; TRB(S); F$C1) NEXT
438 PRINT:PRINT® HICH FACTOR (BY NUMBER) IS MOST IMPORTANT?
468 PRINT"CINPUT @ IF YOU HISH TO CHANGE THE LIST™:INPUT F2
479 IF F2=0 THEN 369
480 IF F24 OR FOFQ THEN 458
499 PRINT-PRINT* 0. K SUPPOSE KE HAVE A SCALE OF IMPORTRNCE THAT
380 PRINT"RRNGES FRCM @ TO 18 LET'S SRY * F$(F2)
548 PRINT*HRS A VALUE OF 10 SINCE IT IS AT THE TOP {F THE SCALE ON
328 PRINT"THIS SCALE, WMAT VALUE NOULD ERCH OF THE OTHER FRCTORS
330 PRINT"HRVE (DECIMAL NUMBERS ARE 0. K )?°:PRINT:F(R I=i T0 FO
340 IF 1=F2 THEN 578
529 PRINTFSCI): INPUT FCID:IF FCIDD=R RO F(1)(=18 THEN 570
960 PRINT® YOUR INPUT IS NO-GOOD. TRY RGAIN *:GOTQ 558
579 NEXT:F(F)=10:C=9:FOR I=1 TO FB:C=C+F(1) NEXT.FOR I=1 TG FB
388 FCIX=F(I)/C:NEXT PRINT:PRINT®  NON CONSIOER HOM EACH *; S8
390 PRINT®RATES WITH RESPECT TO ERCH OF THE FRCTORS. BE WILL
608 PRINT*CONSIDER EACH FACTOR SEPRRATELY RO THEN RATE ERCH
€18 PRINT S8;° IN TERMS OF THAT FRCTOR CNLY. *:FRINT
620 PRINT*LET/S CONSIDER “L$¢1); " TO HAVE R
530 PRINT*VALUE OF 10 ON ERCH SCALE. THEN EVERY OTHER ;53
€49 PRINT"WILL BE GIVEM A MBTEER HIGHER OR LOKER THAN 18

630 PRINT"ACCORDING TO HOW MUCH BETTER OR WORSE THAN
668 PRINTLS(L); ® wOU THINK IT IS ":FCR I=1 TO FB:PRINT
678 PRINT™ CONGIDERING " F3CI)i" QMLY, AND
629 PRINTASSUMING *;L$(1); * HRS A “ALLE OF 19,
699 PRINT*HAT “RLUE WOULD YOU GIYE TO EACH OF THE FOLLOWING.®
T FR J=2TC LY

o9
68
m

%o
%
368
n

708 FOR [=1 T0 C:ML=2(1):M2=Z(I+1):IF VOQUIIV(N2) THEN 729
700 I+ 2(D)=e :
798 MEXT 1:NEXT J:C132(4):C2=2(2):C=100/¢CL) :FORJ=L TO L3
890 Y(JY=CHI])  NEXT  PRINT  PRINT .D=¥(CL)-V(C)

810 FRINT* MELL, YOUR BEST CHOICE SEEMS TO EBE “;L$(CL)

829 IF 0C10 THEN PRINT* BUT ITS PRETTY CLOSE

830 IF 0C20 AND D)=1@ THEN PRINT*BY A FRIR MARGIN

848 IF 03229 THENPRINT*SY A GOOD-SIZED MARGIN

858 PRINT:PRINT®  HERE’S THE FINAL LIST WITH *iL$(C1)

869 PRINT*GIVEN R VALUE OF 108 AND THE OTHERS SET RCCORDINGLY
878 PRINT:PRINT:PRINT*RATING®, S$:FOR Joi TO L@:C=2(D)

889 PRINT V(C), L$(C) :NEXT.END '

899 PRINT"  THE NUMBER MUST BE BETUEEN 2 AND 10" :RETURK

969 IPUT" 1S THIS CORRECT (YES OR NOX*:R$

918 B$=LEFTS(RS, 1) :RETURN




LEAST SQUARE ===-
This program will run on any machine. It calculates the I'"best

fit" straight line through a set of given data points (there must be
at least three data points) . Then it will give you the equation of
the line with the line's deviations.

10 REM#t* PAUL JOVIAK ks
43 REMREAST SQUAREwE«
20 CLEAR

40 DIMZcied

59 DIMKX(120) :DiMy<400) : DIML(100)
60 FORI=1T0128:%¢I)20:Y(1)=9:NEXT]
39 FORI=1T032:PRINT:NEXTI

100 PRINT*THIS PROGRAM HILL":PRINT"CRLCULRTE THE EQUATION®
188 PRINTOF A LINE IN THE FORN™:PRINT"QF -'t=M{+B” FRCM DATA"

110 PRINT*POINTS. *:PRINT

113 PRINT"YQU NEED AT LEAST 3*:PRINT"DATR POINTS"
129 PRINT:PRINT:PRINT"HOM MANY POINTS ARE"
123 INPUT"BEING CONSIDERED*; R

123 IFACICRADA0OTHENILS

139 PRINT:PRINT:PRINT:FORI=4TCR

448 PRINT"POINT 4% L; - INPUT™ /% ¥/ "5 (I, (D)
130 PRINT:PRINT:NEXTI

153 FORI=L7030:PRINT: NEXT

178 PRINT.PRINT:FCRI=LTOR

130 PRINT'POINT &% 1

133 PRINT

185 PRINT"X VALUE": XCI)

199 PRINT™Y VRLUE" (DD

191 PRINT

193 GOSUBR0D:NEXTI

195 INPUT'LIST AGRIN®: ¥$: IFLEFTS(YS, 1)a°¢*THENL70
198 6070300

200 [NPUT“CORRECT"; v$

205 PRINT:PRINT

218 IFLEFTSCYS) L)Y THENRETURN

230 PRINTXCI) ®, ")

235 PRINT:PRINT

240 INPUT“CHANGE TO ‘X ¥/*3 XC1D\ ¥C10

243 PRINT:PRINT

253 RETURN

388 FORI=1TOR

310 51a514X(1):52=524Y(])

333 S3953+3(1)"2:ST=STHR(IIwY( D)

333 S3aSI+Y(1)"2

350 NEXTI '

30T S625172:GaN*S3-S6

3%6 [FG=OTHENPRINT*ERROR" :GOTC1009
368 Ma(AeSS-51#52)/G

378 B=(S2-M¥S1)/R

4060 FORI=4TO32:PRINT:NEXT

500 PRINT*THE SLOPE [S*:PRINTHM
S90S PRINT

249 PRINT®THE INTERCEPT 153" :PRINTB
528 PRINT:FRINT

$38 [FM=0THEN1@Y

955 INPUT"RERDY"; '3

600 FORI=LTOR

€10 2¢1)=Mwi+B

628 SaSH(Y(1)-Z(IN"2

630 NEXTL

€48 Y=30R(ABS(S/R-1))

€59 FORJ=LTOR

669 L())atsX(I)+8

670 S4mSd+(M(-LIIN"

638 NEXTJ

718 Gi=(R=2)*j

720 ML=SOR(ABSCRS4/GL))

739 B1=SQR(ABS(S4uS L))

735 FOR1=1T020:PRINS . NEXT

740 PRINT*DEVIATIONS:*

745 PRINT

758 PRINT"SLOPE: “:PRINTML

738 PRINT .

760 PRINT"INTERCEPT. ":PRINTBL
763 PRINT

778 PRINT™Y: MY

789 RaSS-(Siss2) /A

790 Ri=S3-51"2/A:R2eS3-S2"2/R
808 R3=RitR2

818 SRR D -

340 PRINT:PRINT:PRINT"CORRELATION COEFFICIENT:"C
208 PRINT:PRINT

1000 INPUT"RGRIN") RS

1819 IFLEFT$(AS, 1)=*y* THENAD
49399 £MND



HEXADECIMAL-DECIMAL-OCTAL CONVERTER =—=w=- ‘ )
This program can be run on all machines. It converts hexadecimal
numbers to decimal numbers, decimal numbers to hexadecimal numbers,

octal numbers to decimal numbers, and decimal numbers to octal
nimhera.

1 REM HEX TO DEC

S PRINT:PRINT "THIS IS HUMCON®:PRINT

18 FRINT: INPUT"HEX *; H$: IFH$="Q“THEN10O

20 PRINT:D=8

38 X=RSCCLEFTECHS, 1) 1 ¥=K~RSC("2*) : [FXOITHENK=K-?

49 D=DHLG+K HI=MIDS(HS, 2) : IFHEO " THEN3D

30 PRINT:PRINTD:PRINT:GOT019

162 REM DEC TO HEX

118 PRINT:HX$="3123455739RBCDEF"

1223 INPUT"DEC “;D:IFD=0THEN20O

129 H$="":FORI=1T04:X=INT(D/18) :H§=MIDSCHKS, D-K*16+1, 1)+H$: D=X:
131 NEXT [ :
140 PRINT:PRINT "$“+H$:PRINT:G0T0120

208 REM OCTAL 7O OZC

248 PRINT: INPUT"OCTAL ¥; 0C$: IFOCS="3* THEN2D8

223 D=3

238 X=RSC(LEFT$(OCS, 1)) : X=X-ASC("D"*) : IFKOITHENK=K~7

248 D=D+3+: 0C$=NID$(OCS, 2) : IFOCSO““ THEN239

239 PRINT:PRINTD:PRINT.GOT0210

322 REM DEC TO OCTAL

318 PRINT:CCT$="91224567*

320 INPUT"DEC *;D: IFD=BTHENS

338 C$="":FORI=1T0S: X=INT(D/8) : O$=MIDS(OCTS, D-4#8+1, 1)+05 -
348 D=X:NEXT

328 PRINT:PRINTCHRS$(S4)+03: PRINT :GOT0328

DECIMAL TO BINARY TUTOR'S AID =w=-= .
This program can be run on any machine. It converts decimal
numbers to binary numbers. -

18 REM DECIMAL TO BINARY TUTOR’S AID

23 PCUERS=" 15 14 13 12 14 19 03 @6 07 06
30 HALFBYS=" 22 34 92 014 93 04 32 04 93 34
35 BINAR'Y?="84":BRSE=2

33 FORK=LTO33:PRINT:MEXT

4 INPUTUSTARTING YALUE " v:y=v-¢

43 Y=v+L:0ECHAL=Y

90 IFDECC3 OR DECDES535 UR DECCOINT(CEC) THENPRINT:PRINT °WHAT":GOTO 49
30 FORI=1T018: TEMP=INT(DECIMAL/BASE)

1069 ANSWERS=" “HMIDF(BINARYS, DECIMAL-TEMP+BRSE+L, 1) +ANSHERS

110 DECIMAL=TEMP:NEXT

158 FORX=15T0BSTEP-1

150 PRINTPCUERSS

178 PRINTHALFEYS

139 FORK=1TO43:PRINT TABCX>; *~"; :NEXT:PRINT

133 PRINTANSKERS; “ DECIMAL YALUE = %

280 FORX=1TC48:PRINT TABCR); °-*; :NEXT:PRINT

218 PRINT:PRINT:ANSWERS="":GOT045




RESISTOR ===

This program converts to and from the color codes on
The program will run on all machines.
18 INPUT DO YOU WANT DIRECTIONS™;GS
12 IF ASC(G$)I=78 THEN ZS
14 PRINT:PRINT:PRINT” A RESISTOR HAS 4 TO 7 COLOR BANDS ON~

1S PRINT:PRINT"1T. THE FIRST 3 ONLY ARE THE RESISTANCE 1IN OHMS”
168 PRINT:PRINT"THE LAST GIVE INFORMATION ABOUT WATTRAGE AND -

resistors.

17 PRINT:PRINT "UARIANCE. " :PRINT® THE CORRECT END TO START 1S5 THE °©

18 PRINT:PRINT"OPPOSITE OF THE GOLD AND SILVER BRMDS”
1S PRINT:PRINT"AND CAN BE BLACK, BROWN, RED, ORANGE, *
289 PRINT:PRINT"YELLOW, GREEN, BLUE, GREY, OR WHITE."

29 PRINT:PRINT:PRINT

38 PRINT*THE FIRST 2 BANDS ARE THE BIGGEST AND THE"

32 PRINT

35 FRINT"SECOND BIGGEST DIGITS, AND THE THIRD BAND®

37 PRINT

48 PRINT"TELLS THE NUMBER OF ZERO' S AFTER THEM®

42 PRINT:PRINT:PRINT
45 INPUT"COLORS FROM NUMBERS®;G$

47 IF ASC(GS$)=8S THENZSB

5@ PRINT:PRINT:PRINT:PRINT"COLORS (3 ONLY)®
53 INPUT AS,BS$,CS

55 FOR Nel TO 3

88 IF N<>1 THEN 8@

85 G$=AS:GOSUB 2000

. 78 AS=GS

86 IF N<>2 THEN lB0

85 G$=D%:GOSUB 2008

9¢ BE=GS

188 1IF NK>3 THEN 139

1805 G$=C$:GOSUB 20R0

118 C3=G$

138 NEXT N

148 1F C%="9" THEN C$=" *

145 IF C$="1" THEN C3="8"

158 IF C$="2" THEN CS$="00"

155 IF C$="3" THEN C$="000"

188 IF C$="4" THEN C$="0008"

185 IF C$="5" THEN CS$="Qo00a*
178 1F C$="6" THEN CS="0@0eon"
175 1F C$="7" THEN C%$="0020B02"
188 1F C$="8" THEN C%="0Q0acode"
185 1IF C$="3S" THEN ($='0pB0ooesoo”
186 IF C$="SILUER" THEN C$="s181-2"
187 IF C$="GOLD" THEN C$="s1B1-1"
185 PRINT:PRINT:PRINT

139 PRINTAS;BS;CS; " OHMS®

208 INPUT*ANY MORE™;GS

216 1F ASC(GS)=89 THEN 45

215 END

258 INPUT*RESISTANCE IN OHMS®;R
252 IF R<18 THEN 400

255 RE=INT{LOG(RI/ZLOG(18))

257 S5=.83

268 R1=INT(R/12TREG+S)

Z780 RZ=INT((R/1BTRG+S-R1)»18)
<88 FOR N=1 70O 3

Z8S IF MK>1 THEN 295

289 G=REG-i:GUSUB 2006



29z
295
3006
305
3le
31s
329
325
330
338
340
345
400
420
425
430
509
585
=213
507
588
Sle
518
5298
828
S3e
§38
540
550
570
§75
580

R¥=GS
IFN<>2 THEN 318
G=R1:GOSUB 3000

R13$=G$

IF MN<>3 THEN 325 -
G=RZ:GOSUB 3000
R28=GS '

NEXT N

PRINT:PRINT:PRINT"IN THIS ORDER, THE COLORS HRE i
PRINT:PRINTR1S,R23,R§

PRINT:PRINT:PRINT

GOTO 2pB

1IF R<1 THEN S@8
R1$="BLACK" : G=R:R$="BLACK"
GOSUB 3000:R2$=G$S

GOTO 331

RL=ABS( INT(LOG(RI/LOG( 18)))
RS=R4+ 10MRL

RE=*27777?"°

1IF RL=1 THEN RS$="GOLD"

1IF RL=2 THEN R$="SILVER®
RU=INT(RS)

IF INT(RS#12-RUs18)=@ THEN 570
RR=INT(RS#10-RU#18)
G=RS:GOSUB 3008

R18=GS: G=RR

GOSUB 300@

R2$=GS

G0TO 330
R1$="BLACK"1G=RS:GOSUE 3000
RZ28=GS

@OTO 330

2008 REM COLOR FINDER

2005 IF GS="BLACK" AND Nwl THEN GS=" *
2010 IF GS="BLACK" THEN GS="Q" ‘
2015 IF G$="BROWN" THEN GB=‘1°

2028 IF GS="RED® THEN G$="2°®

20825 1F G$="ORANGE® THEN G$=*3°*

2830 IF GS="YELLOW® THEN GS="4"°

2035 1F G$="GREEN" THEN G$='S°

2049 1F GS$="BLUE" THEN GS$="B"

245 1F G$="VIOLET® THEN G$="7°

20S@ IF GS$="GREY® THEN G$='8*

20SS IF G3="WHITE® THEN G$=*3" -

2068 RETURNM

3000

REM COLORS FR. #'S

3802 RESTORE

3005 FOR 1= TO G:READ GSINEXT I

3020 RETURN

40028 DATA *BLACK", *BROWN®, *RED", "ORANGE", *YELLOW"

4805

10

DATA *GREEN", "BLUE", “VIOLET","GREY", "WHITE"




NIGHT OF THE LIVING VOLKSWAGENS —==-

THIS PROOGRAM WILL RUN OnN THE C1P AnD -SUuPERB0ARD II ONLW.
DRIVING THE CAR MOVING UP THE SCREEN: BUT WATCH OUT
TOWARD YOU ARE FIRING AT ¥YOu. YOU MOVE RIGHT BY DEPRESSING
BY DEPRESSING "1, AND STRAIGHT BY DEPRESSING BOTH. YOU CAN FIRE BACK
BY OEPRESSING THE "3" THE CLOSING NUMBER IS MOW MANY CARS YOU SHOT.

1 REM ### RosBerT L.
2 REM #x%# Coppeno=
3 KE=357088: POKES30, 1
4 POKEKE, &4
b INPUTZl FORX=1TO035: PRINT: NEXT
& POKES4117, 32
1O FORX=53355T0S4219STEP32
20 POKEX, 147: POKEX+S, 144
30 NEXT
35 DP=539946: FOKEDP, ©
S50 RP=INT(RND(Z1)#4+1)+33355
91 FORY=1T039: POKERP-RC, 32
52 RP=RP+INT(RND(Z1)#2+1)#32: POKERP, 1
33 FORX=1TOZ: NEXT: Z=Z», 8788
54 IFRP=DPTHENG&O
58 RC=0: COTO80
60 FORX=1TO150: POKERP.X NEXT
61 POKERP, 0: Z=75: POKERP-32, 32
62 FORX=1TOS590: NEXT
GOTOS0

80 POKEKE, 64: GﬂPEEK(KE)
81 IFG=126THEND=~
82 IFG-l?OTHENDﬂl
83 IFG=462THEND=-32
84 IFG=254THEND=32
85 IFG=2446THEN100QQ
92 IFPEEK (DP+D)=32THENDP=DP+D: POKEDP-D, 32
93 IFDPC<S335STHENDP=0P+27#32
94 IFDP>54224THENDP=DP-27#32
95 POKEDP, @: D=0
100 FI=RND(Z1)*S
110 IFFI>4THEN15@
120 GOTO4%0
150 FORX=1T024: POKERP+32#X, 139
151 IFRP+32#X=DPTHEN19@©
i?g ggXqusORX=1T024 POKERP+32#X, 32: NEXT
190 FORY=1TOX: POKERP+Y*32;32 NEXT
200 FORX=1T0130: POKEDP, X: NEXT: POKEDP, 32
205 PRINTKI:KI=0
210 CLEAR: RUN
499 IFI>QOTHEN70Q0
S00 H=INT(RND(Z1)#23)+53363
5350 H(i)HINT(RND(Zl)*3+13)
-

700 POKEH.S”:H=H*64

710 POKEH, H(1)

720 IFH>S4233THENPOKEH, 32: I=0

800 Q=INT(RND(Z1)#*6-56)

g0l IFQ=5THENRC=1

802 TFE=-5STHENRC=-1

820 RP=RP+RC

850 IFPEEK (RP)<>32THENRP=RP-RC: RC=0
ggg ﬁEQ%C)OTHENPOKERP—RC;SE

1000 POKERP, 32: GOTOSO -
10000 FORX=1TO030: POKEDP~32#X, 140

10010 IFDP-32#X=RPTHENFORY=1TOX: POKEDP-32#Y, 32: NEXT: FORY=1T0150:
11020 IFDP-32#X=RPTHENPOKERP, Y: NEXT: POKERP, 32: KI=KI+1: GOTOS50Q
11030 NEXTX: FORX=1T030: POKEDP~32#%#X, 32: NEXTX

11040 GOTO93

CARS COMINO

1



BANTA AND EIGHT REINDEER ===~

THIS PROGRAM WILL RUN ON THE CLP ano Surersoarp II  onNLVY. Ir zs
EIOMT TINY REINDEER FOLLOWED BY SANTA AND HIS SLEION WISHING YOU
SzasON’S GREETINGS.

1 REMK. STEPHENS&P. JOVIAK: SANTA: IP
2 DIMY(32): DIMZ(SE) DIMN(SE) DIHV(QE) DIME(27): DIMF(27)
3 I=l: H=4: DIMP(22): DIMO(22)
4 FORX=ITOM: READZ(X) NEXT: FORXeITOH: READV(X): NEXT
S FORX=ITOH: READY (X): NEXT: FORX=ITOH: READW(X): NEXT
7 IFH=32THENLL
8 IsX+4:HmH+4: RESTORE: GOTO4
11 GOTO1450
9L FORX=iTOS: READA(X): NEXT: FORX=1TOS: READB(X): NEXT
92 FORX=1TO0%: READC(X): NEXT: FORX=1TOS: READD (X ) : NEXT
93 FORX=iTQ27: R X):NEXT: FORX=1TO27: READF(X): NEXT
4 FORX=1T022: READP(X): NEXT: FORX=1T022: READO(X): NEXT
FORK==1TO~l28TEP=1: LaK+33943: HmS3396+K
FORX=1T027: POKEH+E(X), F(X): NEXT
105 FORX=iTOS: POKEL=A(X)) D(X): NEXT
i FORX=1TOS: POKEL-A(X)=1, D(X): NEXT
110 FORX=1TOS: POKEL=A(X)+1, 32: NEXT
b 8 FORX=1TO22: POKEP (X)+H, O(X): NEXT
120 FORX=1TQ12: POKEL+X, 162: POKEL+X+32, 188: POKEL+X~%4&: 164: NEXTX
129 POKEL+13, 32: PO +4%5, 32: POKEL-83, 32: L=l -6
i FORX=1TON: POKEL+X, B(X): NEXT: POKEL+&, 32: L=+
182 FORX=LTO9: POKEL+X, C(X): NEXT: POKEL+10, 32: IFK--LZTHENISOO
1150 FORX=1T7022: POKEP(X)+H, 32: NEXT
1200 FORX=1T027 POKEH+E(X), 32: NEXT
1300 NEXTK: RETURN
1450 PRINT: PRINT“ 0. 8. I COMPUTERE 8AY.. ": FORX=1T020: PRINT: NEXT
1500 FORI=i1iTOS
1510 Q-(54100-53432)*RND(X)+53432
1513 IFPEEK (Q)<O32THENL1SL10
1520 POKES4117, 32: POKEGa46 NEXT
1999 FORC=LTO9

2000 FORX=4TO328TEP4

3000 L=538 5

Jee1 L=l-(X

3ea7 FORI=9T012 POKEL+I.128 NEXT
3008 POKEL-128, 2 POKEL-12%5, 240
3009 POKEL-95.24O POKEL-94.240
3010 POKEL-&3, 253

3011 POKEL-83;227

302@ POKEL-32, 226

31060 FORI=1TO8: POKEL+I, 42: NEXT: FORI=2T08: POKEL+I+32, 42: NEXT
3111 OKE =34, 173

4150 §=- &)

=X /4
4300 POKE

X+
Y(X)+R, Z(X): POKEY(X)}+V(X)+R, W(

4201 POKEY(X)+&+R, Z(X): POKEY(X)+V(X)+6+R;U(X)

4202 FORI=AiTO101:NEXT

42109 POKEY(X)+R, 32: POKEY(X)+V(X)+Ro32:POKEY(X)+V(X)+6¢R;32

zg%g POKEY(X)+6+R:32

4510 POKEL—3 32

4350 POKEL-lEBoGE POKEL-lBS:SE POKEL-93, 32: POKEL-94, 32
4560 POKEL-63, 32: POKEL-33, 32: POKEL—-32, 32

4579 FORI=1T08 POKEL+I;32 POKEL+I+32, 32: NEXT

4580 IFG=9ANDX=24THEN46@

NEXTX, G
45600 FORI=1TO9: FOKEL+I, 128: NEXT
GOSUBYL

7000 DATA 189, 143, 143, 199, 31, 32, 33, 33
7801 DATA 53921 53921:53932: 53923

7002 DATA 189;143:190 190

8000 DATA &4, 138, 97, &5, 32, 77, &9, 82, 82, 89, 67, T2, 82, 73, 83, 84, 77, &5, 63
8001 DATA 32, &4, b4, &4, &3

9000 DATA @, =31, ~30, 1, 32, 33, 2, 3, 64, &5, 34, &4, 98, 63, 95, 31, 128, 140

2001 DATA 94, 130, 162, 2246, 194, 127, 138, 190, 222

9902 DATA 189, 189, 190, 43.1554155:135:226:169.41:136:136:136:1894135
9003 DATA 143, 161, 175, 203, 200, 139, 139, 139, 196;281:140: 49

9010 DATA 194, 195, 135, 197, 190, 198 é -143:189.195.196
9011 DATA S, &, 0, 9,10, 181, 182, 17, 24

12000 FORI=1TOS0@0@0: NEXT

10001 CLEAR: GOTOL




RAINDROPS AND WILLY THE WIGGLE w=waa .
This program will run on all graphics machines except the C1P.
"It 1is a shower of raindrops and a wiggly worm using graphic
techniques.

1 REM RAINOROPS & WILLY THE WIGGLE ~=-=-= 881’78
10 FORI=1TOZ? :PRINT:NEXTI
0As=0HIO0 SCIENTIFIC COMPUTERS"

33 B"u 1]

49 Css"PROUDL Y PRESENTS. . .®

50 B%4021 449 NEXTI

60 FORI=LTOLENCAS) 450 FORI=%3440T055200:POKEL, 32:NEXTI

7@ POKEB+1, RSC(MIDSCAS, 1, 1)) 500 As=* WILLY THE WIGGLE “:B=S3449

80 NEXTI $10 FORI=LTOLEN(RS$)

90 B=%4278 S20 POKEB+I, ASCCMIDSCAS: 1, 1))

100 FORI=ATOLEN(BS) - 530 NEXTI

110 POKEB+I, ASC(MIDSCBS, I, 4)) - 540 B=B+]: IFB(SS103THENSLO

120 NEXTI ¥2Q FORI=LTO29:PRINT :NEXTI

125 FORI=1T01800:NEXT 260 B=S54303:C=5000:L(1)253448:L(2)=53440
139 B=54996 570 L(3)=53440:L(4)353440:L(5)a53442

149 FORI=1TOLEN(CS) 330 139

130 POKEB+I, ASC(MID3(CS, I, 1)) S99 A=INTC(RND(1)#3)+1

160 NEXTI 600 ONAGOTO619, 620, 630, 640, 650, 668, 670, 650
478 FORI=1T01000:NEXTI 610 A=B-65: IFACI344THENSSD

130 A$=“RAINDROPS * " 615 B=R:POKEB, 79:POKEL(S), 32:L(S)=L(4) :L(4)al(3)
190 FORI=2TOLENCA$)STEP2 618 L¢3)aL(2):L(2)=L(1):L(1)=B: al+1: IFI>SOOTHENTO
200 FORJ=1TOS3STEPS 619 GOTOS99 ‘

218 PRINTTABJY; MIDSCAS, I-1, 1) 620 R=B-64: IFRCS3440THENSID

215 FORL=1T0190:NEXTL 625 QOTOS1S

220 NEXT] 630 A=B-63: IFACI3440THENSS

230 FORJ=63TOLSTEP-8 . 63% GOTO61S

240 PRINTTAB(J): MIDSCAS, I, 1) 640 GOTOS30Q

250 FORL=1T0149:NEXTL 643 GOTO6LS

260 NEXTJ - 630 A=B+1: IFAYSS16VTHENSIR

279 NEXT] . 653 GOT0643

289 FORI=1T0410:PRINT:NEXT? 660 Aa8+63: IFAYIS167THENSID

290 PRINTTABC48%:"R A I N D R 0 P §" 665 GOTO61S

300 FORI=1TO14:PRINT :NEXTI 630 GOTO613

400 C=3500 700 FORI=1T013:PRINT:NEXTI

410 FORI=1TOC 783 PRINTTRBC12: "I S N ¢ T HE TALENTED
428 JS26#RNDC(L) :K=E3#RND(L) 18 FORISLTOLS:PRINT :NEXTI

430 POKES3448+64INT(J)+K, ASCC"%*) 1900 FORI=1T310008:NEXTI:GOTOLO

13



FUNCTION GRAPHER =w==
This program will run on all machines that have a polled keyboard
and graphics except the C1P. It will graph any function entered inteo
the program. NOTE: X and Y limits determines what the function will
look like on the screen.

4 REM wwes BY PAUL A JOVIAK AND ROBERT L. COPPEDGE i
2 REM #wow FUNCTION GRAPHER ok ,

3 FORX=LTOLS:PRINT :NEXT:PRINT" INSTRUCTIONS: * :PRINT

4 GOSUB 1099:GOSUB 300

S PRINT*RFTER ‘OK’ TYPE “59 DEF FNDCX)=’ AND THEN"

1@ PRINT"THE FUNCTION IN ‘X’ FOLLOWING THE EQUAL SIGN. "

15 PRINT*NOW PUSH RETURN AND TYPE ‘RUN 58/ FOLLOMED®

20 PRINT*BY PUSHING RETURN. EXAMPLE: *

2% PRINT:PRINT*SQ DEF FNDCX)=SIN(X)“:PRINT

27 R$a* “:T=0

30 INPUT*DO YOU WISH AN EXAMPLE RUN"; RS

33 IFLEFT$(RS, 1)a"Y“THENGR

4@ STOP

42 PRINT

43 PRINTUSE .1 FOR SCALES FOR THE X RXIS AND Y AXIS

50 DEF FND(X)=SINCK)

80 INPUT®SCALE FOR X-AXIS";W

85 INPUT"SCALE FOR Y-AXIS*i 2

90 Rels23:B=-A

97 FORI=1T030:PRINT:NEXTI

109 FORI=53332T0351325TEPG4:POKEL, 49:NEXTI

105 FORI=54336T054399: POKEI, 45:NEXT] : POKES4364, 43

120 Xa(A-BI#RND(P)+B

123 KEY=S57088:POKES30, 1:POKE KEY, 128

124 IFPEEK(KEY)=1230RPEEK(KEY)=64 THENLE3

130 YsFNDCY)

140 YRINT((Y/2)+. B) : XaINT(RAW)

150 P=54364+X-Y*64

155 IFP>SSL6TORPCI3440THENL20

168 POKEP, 46

163 POKE KE', 2

165 F=PEEK(KEY)

170 IFF=16THENS@®

173 POKE KEY, 128:F=PEEK(KEY)

175 IFF=128THENGE

190 IFF=G4THENS

163 IFLEFTS$(AS, L)="Y"THENT=T+1

190 IFLEFT$(AS, 1)="Y"ANDT2300THENL

200 GOT0120

309 REM #wINSTRUCTIONS

305 PRINT:PRINT

310 PRINT*WHEN GRAPH IS ON SCREEN :*

320 PRINT* PRESS “1/ FOR GRAPHING SAME FUNCTION®

330 PRINT® PRESS ‘2’ FOR GRAPHING A NEW FUNCTION®

340 PRINT* PRESS “ “ FOR ENDING PROGRAM"

345 PRINT:PRINT

358 RETURN

500 GOTO 1500

1008 PRINT*DEFINE THE X AND Y SCALES BY TYPING THE VALUE PER SPACE"
1001 PRINTOF X AND ¥. THERE ARE 30 SPACES EITHER SIDE OF THE"
1082 PRINT*Y-AXIS AND 12 SPACES ABOVE AND BELOW THE X-AXIS.“
1003 PRINT"IF THE SCALES FOR X & ¥ 0O NOT COMPLY THE GRAPH MAY"
1004 PRINT“NOT APPIER-ON THE SCREEN. IF THIS HAPPENS, PRESS ‘1’
1005 PRINT*AND ENTER NEW SCALES. * ‘
1010 RETURN

1500 END




8

11 LaaS3288

15 FOR J=S2200 TQ 9S4 FOKE J. SS:NEKT J
20 C=33440

35 Q2=33437

30 OFOR WsG2 TO SSzZ29
2% IF C>S3168 THEN 17
37 Lisbiesd

49 POKE C-Ru 32

4z F39:IF Ai64 THEM Fal

BOUNCER ===~ '
This program will run on all graphics mach1ne§ except the C1P. It
imulates a ball bouncing around the screen at various speeds.

1 REM--- BOUNCER

2 REM---8. BENNETT _

3 PRINTYSPEED~ FROM L TD Zte 150 Fep. et GOTOSS ‘
3 INPUT H1 170 POKE C-, 32: 385473 :M=599225
5 HSINTE 200 s 209 A=INTCA4RNDCCH+87)

T PRINT"INPUT RANDOM 3SEED 3" 295 F=:IF RS54 THEN FaL

& IneuT K 267 IF (<53440 THEN 290

S A NTCPHRND (D +857

210 FOKE 0, 72:POKE (CH+AY, 32
214 Me=

212 IF COM AND F=9, THEN 390
214 IF CCG AND Fst THEN 20
215 C=i-R

253 FOR R1=9 TO H:NEXT RL
260 MaM-54:G=G-54

279 GOTD 209

200 L1=52318:02s53432

233 POKE NL 32

STEP 64:PCKE L.73
9

45 Pa1l9: IF Coid THEN PaL ‘ 253 IF ACE4 THEN 330

47 IF Cili AND ACE4 THEN 409

236 IF ADS4 THEN Feb4=(A=64)

23 FOR Sa1 TO H (NEXT 35 ' 299 GOTO 30

€0 IF Fal AND C2(S3440+E4#P) THEN ReE4-AB3(A-64)
6% IF Fad AND CO(S$24d0+54nP) THEN RaS4+RES(R-54)
36 CaC+A:NEXT W

200 AmSar(S4-R):GOTD 219
320 Rage=(A-64) :GOTO 213
330 Rafieln(54-R):50T0 239

3 Q0TO 179

RANDOM SQUARE ==w=

This is a short graphics demonstration program. The program s

compatable with all graphics machines except the C1P. Note, this
program is also listed in the section "Special Hardware", with color
conversions.

12
15
1?
30
=15)
=le]
=]
180
140
144
145
148
150
1ER
172
g 1]
2zl
z253
366
=17 1%)
658

REM #% RANDOM SQUARE »s
POKEEE832,6: PRINT: PRINT: PRINT: PRINT
PRINT® OHIO SCIENTIFIC:"
FORI=1T024:PRINT:NEXT /
D=4096:B(13)=1:B(2)=~64:B(3)=-1:B(4)=E4
FORPS=1T0S

FORL=1TO2:H=58318

FORI=1TO11STEP2
HaH+E3:FORK=1T04:2=H
IFK=2THENZ=H+1
IFK=3THENZ=H+I+1#~64
IFK=4THENZaH+I# -54

FORJ=@TOI-1

TS=INTC LE#RND(2Z))
RS=IMT(255#RND(TS))
POKEZ+JI#B(K),TS
F=PEEK(S7E88): IFF< >L THENBDG
IFL=Z2THENPCKEZ+JI#B{(K)~D,32: G0OTOS22
POKEZ+I#B(K)~-3,RS

NEXTT,K,I,L

NEXTPES

15
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OTHELLO --=~-

This program will run on all machines except the
follows conventional rules for OTHELLO. This is a
Enter column, comma, row (example: 3,5) for your moves.

1 REM 2:xRUBERT L.
2 REM »xxCOPPEDGE
4 FOR R=i TQ 32:PRINT:NEXT
18 FOR Ws1 T 8:FOR ¥=1 TO §
11 NCY, WI=45:NEXT V:NEXT W
12 NC4, 43=79:N(S, $)=P9 :1NC4, $)a66:N(5, 4)=66:G0T0 115
110 PRINT"PLAYER “; A:PRINT"TYPE YOUR MOVE"; : INFUT X, v
111 IF 38 OR X< OR Y28 OR v<i THEN 118
112 IF NCX Y045 THEN 1500
113 H=13:GOSUB- 609
143 FOR W=i TO 8
116 FOR ¥=1 TO 7
117 PRINTTAB(2SIYCHRSCNCY, Wy ;"
118 NEXT V¢
120 PRINTCHR$CN(E, W)Y :PRINT
435 MEXT K
135 R=A+1:IF As3 THEN A=i
137 GOTC 14d
149 GOTO 1609
608 N(X, Y)=66:IF A=l THEN N(X, ¥)=79
601 B=N(X, )
682 W=1
603 C=66:IF A=2 THEN Ca?9
684 IF X=1 OR 'Y=i THEN 700
685 IF N(X-W, ¥-W)=B THEN €30
610 IF N(X~W, Y-W)=45 OR ¥-Wsi OR 'Y-W=1 THEN 70Q
615 W=W+1:GOTD 603
658 FOR V=1 TO W
835 N(KR=V, v=V)=g
‘636 IF WC1 THEN Hal:NEXT ¥
700 Wei
781 IF =1 THEN 800
785 IF NCX Y-W)=B THEMN 758
748 IF NCX Y-W)=43 OR Y-W=i THEN 900
74% W=l+1:GOTO 7635
738 FOR v=1 TO W
791 NCX, ¥=¥O=B:IF W1 THEN H=t ‘
7?52 NEXT ¥
500 W=l
801 IF X=8 OR Y=1 THEN 300
89S IF N(X+W, Y-h>=B THEN S350
318 IF HCA+W Y-W)=45 OR Y-W=1 QR X+W=8 THEN 360
943 W=W+1:GOTO 8O1 :
8359 FOR v=1 TO U
NCX#Y, ¥=¥)=B: IF W1 THEN Hsi

831
833 NEXT ¥

C1P. The
player

game

two game.

509 W=i:Sa1:[F #=i THEN 1900
291 IF NC(X-W, Y)=8 THEN 3%@

202 IF N(X-W, ¥y=45 OR X-W=1i THEN 1000
903 IF X-W=3 THEN 1139

995 W=li+S:GOTO 391

950 FOR ¥=5 TO W STEP 5

981 NCX=Y, ¥)=8:IF WS THEN Wt

952 NEXT ¢

1000 IF S=-i THEN 1169

1001 Ss-1:Wa-1:1F X=3 THEN 1400

1002 GOTO %@L

1005 Wei:IF X=3 THEM 1400

1100 W=1l:IF X=1 OR Y=8 THEN 12¢0
1461 IF NCH=W, Y+l>aB THEN 11%0

1102 IF NCH=i, Y+W)a4% OR Xa1 OR Y=8 THEN 1200
118% W=li+1:GOTO 1101

1450 FOR vy=i TO W )

14314 NCH=Y, Y+¥DaB: [F WL THEN Hel
11%2 HEXT ¥

1209 Wel:IF v=3 THEN 1309

1201 IF NCX, P+H)=B THEN 1290

1202 IF NGOG 'YHO=4S OR YeW=8 THEN 1390

1205 Wsii+1:GOTO 4201

1290 FOR Vet TO W:IF WG THEN het

1252 NCR, v+Y)38:NEXT V

1399 Wel:IF Yx3 OR X=3 THEN 1409

1381 IF NCXHL, Y+W)=B THEN 1339

1302 IF NCXHM, PHW)=43 OR H+Wa3 OR okmg THEN 1400
1305 Weli+1:00TO 1301

1350 FOR Va1 TO W:IF WOL1 THEN et

4351 NCH+Y, Y+¥) 2B NEXT ¥

1400 IF HsO THEN 15%0

1405 NaN+1:IF Nas4 THEN 1609

1410 FOR Ha1 TO 24:PRINT:NEXT X:RETURN

1300 PRINT*PLACE ALLREADY OCCUPIED*:GOTD 110
1530 PRINT"MOVE NOT ALLOWED":NCX, Y)=4S:30TQ 110
1609 FOR J=1 TO 3:FOR =i TO 3

1695 IF NCJ,Wys73 THEN Ial+i

1610 NEXT W:NEXT J:PRINT™O’3 SCORE I15:": I
1620 PRINT"B‘S SCORE:*; 641

1709 END




CHESSBOARD ===- .

This program will run on all machines except the Ci1P. This
program does not actually play chess or do any error checking, it
simply displays the chess board and pieces. The players simply input
their moves and the program updates the board. Typing KC or QC would
indicate a king side or queen side castle. Typing BOARD will display
the board. You move pieces by typing locations (example: D2-Du). You
can change a pawn to a queen by typing the change after the move
command (example: E2-E1Q).

1 REMe+#DANIEL GLASSER

2 REMew«CHESS BORRD

19 DIM B1(8, 3, B2(8, 85, P$C16)

30 FOR ¥=1 TO 2: FOR ¥=1 TO 8: READ S

42 BL(X, Y)=S: BLCX+2 ¥)uS: BL(X#d, ¥)uS: BL(X+6, ¥)=S5

S@ NEXT ¥: NEXT X:FOR X=1 TO 2:FOR Y=1 TO 8:READ 5:B2¢X, ¥)=S
99 NEXT Y:NEXTX:FORX=7T08:FOR Y=1 TO 8:READ S:B2(}, Y)=G:NEXT ¥
100 NEXTX:FORX=1T016:READSS: P$(X)=S$: NEXTX: GOT0S0@

143 IF W=t THEN 168

141 INPUTUD"; M$:GOTO 170

160 INPUT"8>"; M$

178 IF M$s"END*THEN2002

177 IF Ms="KC" THEN 259

178 IF M=“QC* THEN 399

179 IF M$="BORRD* THEN 799

180 AS=LEFT$(MS, 1) : BSZMIDS(MS, 2, 1) : ALS=MIDSCMS, 4, 1) :BL$=MIDSCMS, 5, 1)
190 B=VAL(BS$) :CaVAL(BLS) : [Fl=1THEN210

200 W=1:G0T0220

210 W=Q:W2$(K)=its

220 P1=ASC(AS)-64:P2=RSC(ALS)-64

238 U=B2(B, P1) :B2(B, P1)=9:B2(C, P2

23S IF RIGHTS(MS, 1)=*Q* THEN 309

240 GOTO 799

250 IF Wei THEN 288

260 W1

265 B2(1, 1)=9:B2(L 4)=0:82(1, 2)a7:62(L, 3)=4 :GOTO?99

280 W=9:B2(8, 1)=0:82(8, 4)=0:B2(8, 2)=14:52(8, 3)=11:GOTO?799
300 IFW=1THEN33D

318 W=t

320 B2(1, 8)=29:B2¢(1, 4)30:82¢1, §)a7:82(L, 5)=4:GOT0?99

330 W=0:82(8, 8)=9:B2(8, 4)=0:B2(3, 6)=14:82(8, 3)=11:G0TO 799
799 FOR MS=1 TO 4:PRINT:NEXT MS

888 PRINT® ~fmmeeBmmemlmmme{mmmef mmef mmeme G e ®

861 PRINT :

810 FOR X=1 TO 8: FOR Y=1 TO 8

820 S51=8B2(% V)

8§38 IF S1=0 THEN S13B1(X Y)

840 S$=P$(SL):PRINTSS: ¥ *;

850 NEXTY:PRINT®  *; X:PRINT:PRINT:NEXT

851 PRINT® ~RmemrmBme = ey e weeef momme e

935 GOTO 149

900 IF C=8 THEN B2(C,P2)=8:G0TO 799

910 IF C=1 THEN B2(C,P2)=15

912 GOTO 799

1008 DATA ,.2L.2L,21L224242421

1010 DATA 4,56, 78,95 43,3:3,3.3,3,3.3

1026 DATA 10, 19, 10, 10, 10, 10, 18, 10, 11, 12, 13, 14, 15, 16, 12, 14
1030 DATA *  °, ° ##%, % WP*,® WR", " WN, ® WB", * WK", " W@","* WB*
1040 DATA * BP*,“ BR“,“ BN, * BB, * BK"," B@", " BB"

2000 END

0K
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18

18
21
22
23
24
40
41
45
50
58
B0
65
70
=]
8l
99
95

Word Processor -=-

comp Ehls prggram is a simple word processer for BASIC-in-ROM
uters, e program allows' tape storage of text, but re
10K+ RAM to process full pages of text. quires

REM--D. TEWKSBARY; WORD PROCESSOR
DIMLS(32),C8(13):IP=1:LP=1:C$(BQ)="1IT"

CO(LI=*IL :Co(2)="TL":CP(I)="1C :CHL 4)="DC"

CS(SI)I= "V iCH(BI="A*:CH 7 I= "G : CH(EBI="PT"
CS$(9)="PD":CH1B)="C 1 CH(LLI="F :CH( 12)="S:1CH(13)="R"

PRINT: INPUT " COMMAND" ; AS: FOR1=@TOL13: IFCS( 1)=ASGOTL50

1IFIP=33THENIP=1

NEXT1:GOSUBL400: GOTO4@

ONI+1GOTOL70, 100, 280, 380, 400,500, 528, 700, 808, 999, 1080, 1102, 1220
INPUT OLD STRING“HS-INPUT NEW STRING®;B$:PRINT
PRINT*REPLACE *;A%$;" WITH *;BS$:PRINT: INPUT"CORRECT";Y$
IFLEFTS$(VYS, 1)="N"GOTOS5
LA=LEN(A$):FORI=1TO3Z2:FORIZ=LTOLEN(LS( 1))
IFMIDS(L$(1),12,LA)=ASGOTOSA

NEXT12,1:G0T048
IF12=1THENLS( 1 )=BS+MIDS(LS( 1), I2+LAI:GOTOBL
LS(1)=LEFTS(LS(I),12-1)+BS+MIDS(LI(1),12+LA):GOTOBL

180 PRINT*(*IP")"; :INFUTAS: IFAS="%2"G0T048

185 IFIP>3Z2THENPRINTFILE OVERFLOW® :GOT040

110 C=Q:FORI=1TOLEN(AS):IFMIDS(AS,1,1)="/"GOTO150@
115 LS(IPI=LS{IPI+MIDS(AS,1, L)

128 NEXTI:1P=IP+1:G0T0100 _ ‘

158 IFLEN(LS(32))< >BTHENFRINT"FILE OVERFLOW®:GOTO4@
151 IFIP>3L1THENPRINT*FILE OVERFLOW® :PRINT:GOT0408
155 FORIZ2=31TOIPSTEP-1:L$(12+1 )=l S 123 NEXT

160 IP=1P+l:L$(IP)="":G0TOLl20

17@ POKESLS,254:PRINT*START TAPE™:PRINT:INPUTAS

175

PRINT ("1IP*)"; : INPUTAS: IFAS="s«"THENPOKES1S, B: GOT040

178 IFIP>32THENPRINT*FILE OVERFLOW® :POKESLS, 8:G0T0O48
180 LS(1P)=A%: IP=IP+1:G0TOL17?S
2008 PRINT:INPUT*DID YOU WANT TO REMOVE A SERIE

19

IFLEFTS(YS, 1 )="N"THENGOTOZ25D

228 INPUT LOWEST LINE NUMBER®;AR

239
231

INPUT"HIGHEST LINE NUMBER®;
IFA>BG0T0220

235 1FAC1O0RAY3LIORBK 1ORB>3LTHEMNPRINT OUT OF RHHGE"GOT04B

240 FORI=ATOB:LS${1)="":NEXT

245 FOR1=B+1T032:L$(A+1-B~1)=L$ 1) : NEXT

246 FOR1=3Z2-B+ATO32:L8( 1)=" " :NEXT:G0TQ40

258 INPUT"WHICH ONE THEN®;A

268 IFACLORA>3IZTHENPRINT*OUT OF RANGE":G0TOZ58

278 LS(AI=""PRINT:INPUT IS THAT ALL";YS$S

288 IFLEFTS(YS,1)="Y"GOTO40

238 GOTOZSe

360 PRINT:INPUT WHAT STRING WOULD YOU LIKE TO INSERT HERE® ;A%
385 BS(1l)="":1HS(2)="":C=)

315 FORI=1TOLEN(ARS$):IFMIDS(AS, 1, 1)="/"THENGOSUB3SA: NEXTI GOTO317
318 BH(CI=BS(CH+MIDS(AS, T, LIt NEXTI

317 IFC+IP>3L1THENFRINT®OUERFLOW® :GOTO4@

318 IFC=ZTHENLS(IP+1)=B$(2)+* "+LS(IP+1)

320 IFLP=1THENLS(IP)=BS( 1)+LS(IP):6G0TO335

330

LS{IP)=LEFTS(LS(IP),LP-1)+BS( L )+MIDS(LS(IP),LP)

335 LP=LP+LEN(BS(1)): IFCaZTHENLP=LEN(ES( 2))+1: IFP=1P+]
3408 GOTD49
IED C=C+L:IFCOZTHENPRINTTONLY ONE ~/ ALLOWED® :GOTO40Q

385

LE(IP+1 )=MIDS(LSCIP)I,LP)+" "+LS(IP+L1)

368 IFLP+I<3THENLS(IP)="":RETURN




378
480
429
438
440
Seo
(=45
619
620
630
708
@1
710
728
730
740
750
809
818
818
815
gze
Bz1
82s
830
980
=~}
302
905
910
918
916
9208
825

LS{IP)=LEFTS(LS$(IPF),LP-17:RETURN

INPUT"HOW MANY CHARACTERS DO YOU WANT TO DELETE";C: 1FC=@G0T04@
IFLP=1THENLS( IP )=MIDS(LS( IP),C+1):6G0TO48
LS(IPI=LEFTS(LS(1IP),LP-13+MNIDS{LS(IP),LP+C)

G0TO48

PRINT:PRINT ¢ "1P" ) L$(IP):GOTO40

PRINT: INPUT"ADUANCE HOW MANY®;A
1IFIP+A>320RIP+A< L THENPRINT"OUT OF RANGE" :GOT040@

IP=1P+fA:iLP=l

PRINT:PRINT*CURRENTLY AT *;1P:G0T046

PRINT: INFUT"WHAT STRING ARE YOU LOOKING FOR®;AS

INPUT"ON WHICH OCCURANCE";C:IFC=BGOTO7@1

J=B: LA=LEN(AS) :FORI=IPTO32: FORIZ=1TOLEN(LS( 1))

IFMID$(LS( 1), 12, LR )I=ASGOTO74Q .
NEXT1Z,1:PRINT:PRINT*NOT FOUND":GQT040

J=J+1:IFJ<CGOTO?38

1P=1:LP=12:60T0630

PRINT: INPUT*THE PRINT SHOULD START WITH WHICH LINE";L1
INPUT"WHERE SHOULD THE PRINT STOP®;L2

IFL1<10RLZ< 1ORL2>320RL1>32G0T0828

INPUT"DID YOU WANT LINE NUMBERS®;Y$:1FLEFTS(YS,1)="Y"G0T0B838
PRINT:POKESL?7, L :PRINT*FOR PLAYBACK VIA THE 1T MODE, BEGIN THE®;
PRINT® TAPE AFTER THIS LINE BEGINS!!'"®
FORI=L1TOLZ2:PRINTLS( 1) NEXT:PRINT " ##" : POKES17,0:G0T048
FORI=L1TOLZ:PRINT( 1" )" ;L${1):NEXT:GOTO40

INPUT*THE PRINT SHOULD START WITH WHICH LINE";L1

INPUT"WHERE SHOULD THE PRINT STOP®;LZ
IFLICLORL2<10RL L >320RL2Z>IZTHENPRINT "OUT OF RANGE™ :GOTC48
INPUT"ON WHAT LINE WOULD YOU LIKE YOUR DATA TO START™:A
INPUT"AND WHAT INCREMENT®;B:POKES1?, 1:PRINT

PRINT*FOR PLAYBACK VIA THE 1T MOLDE, BEGIN THE TAPE AFTER THIS®;
PRINT® LINE BEGINS!'®
FORI=L1TOLZ2:PRINTR*DATACHRS(34);L${ 1); CHRS( 34) : A=A+B: NEXT
PRINT*##" :POKES17,0:G0T048

1060 FORI=1TO31:1IFLEN(LS( 1)) >@G0TO1620

1818 FORIZ=I+1TO3Z:L$(1Z2-1)=LS(I2):NEXTIZ2:LS(I2)=""

1928 NEXT1:G0T04@

1189 PRINT: INPUT"WHICH LINE DID Y0U WANT TO BE ON";A$

1110 A=VAL(AS): IFA=BGOT040

1120 1P=R:GOTOE30

1208 PRINT:INFUT ENTIRE TEXT®;Y$:IFLEFTS(YS,1)="Y"GOTO1259

1218 INPUT WHICH LINE";C:IFCKLIORC>ILTHENPRINT "OUT OF RANGE":GOT049

1230 L3(CH=LS(CH+™ "+LF(C+1):LS(C+LI)=""

1240 INPUT®COMPRESS®;7$: IFLEFTS(YS, 1)="Y"G0TO1000

1245 GOTO40

1258 FORI=1TOILSTEPZ:LS(I)=LS( 1)+ “+LS(I+17:LS(1+L)="" 1 NEXT:G0T01240
1408 PRINT"LIST OF COMMANDS IL> INSERT LINE®

1418 PRINT® DL> DELETE LINE IC> INSERT CHARACTER®
1428 PRINT® DC> DELETE CHARACTER G> GO FOR STRING®
1438 PRINT® V> VERIFY LINE F> FIND LINE"

1448 PRINT® A> ADVANCE C> COMPRESS®

1458 PRINT® S> STACK LINE R> REPLACE STRING®
1468 PRINT™ PT> PRINT AS TEXT PD> PRINT AS DATA®

1478 RETURN

19
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Trax ==-

This program will run on all OSI computers with 540 video
boards. This is a two player game where the one who lasts the

longest wins!

S FOR LF=1 TO 32:PRINT:NEXT

10
iz

-3

22
24
z6
28
30
32
34
35
38
49
42
44
46
48
sa
52
53
54
13
58
50
82
54
66
68
78
72
74
76

INPUT DO YOU WANT INSTRUCTIONS (Y/N)*31ANSS

IF IANSS="N* THEN B2

PRINT® THE OBJECT OF THIS GAME IS NOT TO RUN INTO ANYTHIMG."
PRINT® INCLUDING THE BOUNDARY, THE ENEMIES TRACK,OR YOUR OWM"

PRINT®" TRACK. ¢ DO NOT GO BACK ON YOURSELF!)*

FRINT® PLAYER 1 STARTS IN THE TOP LEFT HAND CORNER j
PRINT® PLAYER 2 STARTS IN THE BOTTOM RIGHT HAND CORNER.®

PRINT® THE MOVEMENT KEYS RRE AS FOLLOWS :*

PRINT

PRINT® W o

PRINT® AS KL

PRINT® 2 .

PRINT |

PRINT®  PLAYER 1 PLAYER 2°

PRINT

PRINT® THEY MOVE EACH PLAYER NORTH SOUTH EAST WEST

PRINT® MAY BOTH OF YOU HAVE EQUAL LUCK!®
INFUT * ARE YOU READY";IANSS .
Dl=1:D2=-)

P1l=53509:PZ=55832

POKE 530, 1

FOR LCe=l TO 32:PRINTINEXT LC

KB=57088

DP=30%64

BC=181

REM SET UP BOARD

TL=53313

FOR BD=55048 TO S55295:POKE BD, 32:NEXT BD
FOR BD=TL TO TL+6@

POKE BD,BC:POKE BD+DP,BC:NEXT BD

FOR BU=TL TO TL+DP STEP B4

POKE BD,BC:POKE BD+6@, HC:NEXT BD

108 REM NOW PLAY LOOP

110 GOSUB 10w8

128 NP=P1+D1

129 1F PEEK(NP)I<>32 THEN 580
1480 POKE NP, 232:Pl=NP

158 GOSUB 1008

160 NP=P2+D2 )
172 IF PEEK{NP)<>32 THEN 620
188 POKE NP,233:Pz=NP

198 G070 118

528 FP=55827

518 GOTO Bli@

508 FPp535ES

Gl@ FOR FL=1 TO 1@

(5745

825 POKE FP+2Z,32
B3% POKE FF+5,78
64 FOR IM=1 TO SB°
BS@ NEXT IM

588

878 POKE FP+5,32
€88 FOR TM=1 TO S@
6530 NEXT DM

7@@ NEXT FL

AS AFPFROPRIATE"

718 INPUT “PLAY AGAIN"; IANSS
728 IF 1IANSS= YY" THEN 52

738 STOP

988 REM KBOARD POLLER

1200
1919
1828
1830
1648
18508
1268
1678
1880
1858
1120
1110
1120
1138
1140
1158
118Q
1179
1183

POKE FP,?73:POKE FP+1,32:POKE FP+3,87:POKE FP+4,73

FOKE FP,32:POKE FP+l,32:FOKE FP+3,32:POKE FP+4,32

POKE KB, 2

Q=FPEEK(KB)

1IF Q=54 THEN Dl=-}

IF Q=32 THEN Dl=64

POKE KE, 4

1IF PEEK{(XB)=2Z THEN DZ=54
FOKE KB, 8

Q=PEEK{KB)

IF Q=128 THEN Di=l

IF Q=2 THEN D2=-1

IF Q<>13@ THEN 1120
Di=]:[2=-~)

POKE KB, 15

IF PEEK(KB)=128 THEN Di=-84
POKE KB, 32

Q=PEEK(KE)

IF Q=54 THEN D2=}

IF G=32 THEN D2=-54
RETURN '




Star Wars ===

This program is a game that will run on any graphics macbine
except thePCI%. You are controlling a turret and an invader is

after you.

I REM. STAR WARS
€ REM JERRY DURBAK

-1

30
g7

FORI=1TOIQ1PRINTINEXTL
POKE2073, $8: POKESER32,08
GOSUBZ20000

T=570688

2=55168

W=S5189

P=EE180
AXeI2:YY=E4:22=128
N4=48: NI=48:1 N2=48:N1=48
M4=m48: MIedl: M2w48: M1l=48
EX=151:52=8

Us]l:Qm]

POKET, 128

168 REM MAIN BODY AND SAUCER DRIVER
150 DeINT(248RNDCLI+1)

200 X=53440+54sD

300 Y=S53471+544D

428 ON INT( ZeRND( 1)+1)G0T0458, 1029
450 REM LEFT ENTRANCE

475 I=X-)

S8 1I=1+1

6@ POKE1, 4

708 1F1-X=P-ZTHENGOSUBZ800

8090 GOSUBRSD0O

858 1FQ=2THENG=1:GOTO1S0

902 POKEL,32

950 IFI>X+3Z2THENGOTOLSR

978 GOTOS00

1800 REM RIGHT ENTRANCE

1825 l=Y+l

10508 1=1-1

1100 POKEI, 4

1200 1FY-1=W-PTHENGOSUB2B00

1300 GOSUBS0LD

1350 IFQ=ZTHENQ=1:G0TOLS@

14G@ POKE1,32

1588 IFI<Y-3ZTHENGOTO150

1628 GOTOl@58

2088 REM SAUCER FIRING

2100 FORK=1T033-D

2200 FOKEI+B4sK, 149

2360 IFKOZTHENPOKEI+64#(K-2),32
2375 IFQ=2THENGOT02999

2408 IF1+E4sK=PTHENR=F:GOSUB30B8
2450 1FSWS="2" THENGOSUBSD0®

2588 NEXTK

2808 POKEI+E4#(K-1),32

2708 POKEI+R4eK,32

2998 RETURN

3006 REM EXPLOSIONS

3160 EX=16)

3202 POKER+84,EX:POKER+B4+),EX: POKER+E4+Z,EX
Y20B POKER+S54-1,EX

340 POKER-3,EX:POKER~2,EX:POKER-1,EX:POKER.EX:POKER+1.EX
3500 POKER-84-2,EX:POKER-64-1,EX:FOKER-E64,EX: POKER-G4+1,EX

21



3JSTe
360
3700
4100
4200
4258
4300
4480
4500
43889
Se00
5106
S208
5380
5400
5500
SE600
S70e
SBe0
S9ee
6000
100
782
7100
7150
7200
7308
7400
7500
7600
7658

77e0.

7880
7980
7950

- 8000

22

80506
8180
81518
82080

POKER-B4+2, EX
POKER-128-1,EX: POKER- 128, EX: POKER - 128+1 , EX:POKER - 1 28+2, EX
POKER-152-3,EX: POKER- 192~ 1, EX: POKER-192, EX: POKER- 192+2, EX
POUKER-256-2, EX

POKER-B4+4, EX

IFU=2THENQ=2

IFEX=32THENGOT0452@8

EX=32: GOT03200

GOSUB1OEBE

RETURN

REM TURRET DRIVER
POKEP, 176: POKEP+1, 178

C~PEEK(T)

1F C=YYANDP< W-4THENGOT 05728

1F C=ZZANDP »2THENGOT 055008

IF C=XXTHENGOSUB 70800

60T08108

PaP+1: IFP>ZTHENPOKER- 1, 32: POKEP, 32
GOTOE22®
P=P=1:IFP<W-4THENPOKEP+1 , 32: POKEP+2, 32
POKEP, 176:POKEP+1, 178

RETURN

REM TURRET FIRING

FORF=17027

IFU=ZTHENGOTO7408

POKEP-E44F , 143

POKE(P+1)-644F , 149

IFF >2THENPOKEF -E48( F-2),32

IFF >2THENPOKE( P+1)-B48(F-2),32
IFP-644F =1 THENR=1: Um2: GOSUB3000

IF (P+1)-B49F =ITHENR=1 : U=2: GOSUE3228
NEXTF

U=1

POKEP-G48(F-2),32

POKE(P+1)-64#(F -23,32

"POKEP-B4#(F-1),32

POKE(P+1)-B4#%(F~-1),32
POKEP-G44F ,32
POKE(P+1)-B48F,32
RETURN

16000 REM SCORING

10100

1FQ=ZTHENNI=N3+1

19208 IFQ=1THENM3=M3+)

16300 1FN3=SETHENN4=N4+):NI=4g

10498 IFM3=SETHENM4=M4+] 1 M3I=48

19509 POKEZ-128,N4:POKEZ-127,N3:POKEZ-126,N2:POKEZ-125,NL
16602 POKEZ-181,M4:POKEZ-180,M3:POKEZ-39,M2: POKEZ-98, M1
19658 1FN4=5p0RM4=SBTHENGOTO30EE2

18708 FORAB=1TO1580:NEXT

18808 POKEZ-128,32:POKE2-127,32:POKEZ-126, 32:POKEZ2-125,32
18888 POKEZ-181, 32:POKEZ-10@, 32:POKEZ-9S, 32: POKEZ2-98, 32
11808 RETURN

28080 REM INTRODUCTION

20050

1IFSZ=1THENGOTOZ21100@

29198 PRINT"STAR WARS® :FORIl=1TO1S: PRINT NEXTIL

28208 PRINT®DO YOU NEED™: INPUT®INSTRUCTIONS (Y/N)°;AS$
20300 IFLEFT3(AS, 1 )="N"THENGOTO021108

2848@ FOR1Z=1TO3@:PRINT:NEXT




20500
20E00
20700
20808
20908
21000
2109%0
211080
21208
21529
298898
30000
300250
38100
38150
30200
38300
38400
30500
31008
31108
31200
31308
40000
4939388

PRINT"YOU ARE EQUIPPED WITH":PRINT®DOUBLE LASER FIRE AND®
PRINT"MOBILITY. *:FRINT:PRINT"YOUR CONTROLS ARE:®

PRINT®1> LEFT :PRINT"2> RIGHT":PRINT"3> FIRE"
PRINT:PRINT*YOUR ENEMY HAS A*:PRINT"SINGLE LASER EQUIFPED®
PRINT*WITH COMPUTERIZED °:PRINT"TRACKING."
PRINT:PRINT:PRINT USE THE FORCE!!'" :
PRINT:PRINT*YOUR SCORE 1S ON THE®:PRINT“LEFT. PLAY 1S TO 280"
PRINT:PRINT YOU CAN PLAY:":PRINT"1> HARD® :PRINT"2> EASY"
PRINT :PRINT"READY?7" : INPUT"(ENTER A 1 OR 2)°;SUS
FOR13=1T70308: PRINT : NEXT

RETURN

REM ENDING AND RERUN

POKEP, 32:PORE(P+1),32

FORIS=1T03@: PRINT : NEXT

1FM4=5QTHENGOTO031080

PRINT"GOOD SHOOTING!?!*:PRINT:PRINT:PRINT
IFSWS="2°*THENPRINT *TRY THE HARD VERSION.®
1FS$="1"THENPRINT"THE FORCE WAS WITH You!*

G0T031200

PRINT"THE IMPERIAL FORCES":PRINT"WHERE TOO MUCH FOR®
PRINT®YOU! ! * 1 PRINT : PRINT : PRINT

PRINT:PRINT:PRINT*WOULD YOU LIKE®™:INPUT ANOTHER RUN (Y/N)" ;RS
IFLEFTS(AS, 1 )="Y " THENCLEAR: S2=1: GOSUB200@0: GOTO35
POKE2@73, 173:POKESE832, L

END

Graphic V ===~

This program will run on all graphics machines except the

The program is a graphic pattern generator.

2 REM----GRAPHIC V

3 REM--CHALLENGER 11

S FORI=1TO3W:PRINT : NEXT:POKESS184, 32: POKESEE3Z, @
FORM=8T0O7:READI(M) : NEXT

C=INT(RND( 1741007+128
IFINT(RND( 1747 )=l THENC=32

IFC>178ANDCK 1830RCZ1BANDCL 21560T0Z
P=1NT(RND( 1L )»1808)+53380

i@
20
21
Zs
30
35
49
52
69
78
80

IFP/64-

INT(P/B4)>.5G0T0308

M=INT(RND( 1148)

P=P+1(M):POKEF,C
IFINT(P/323=P/320RP>5S 1040RP< 5333060T029

IF INT(RNDC 1)%93< >160TOS0

MN=INT(RND( 17489 : IFTIMNIC >-1( MITHENM=MN: GOTOSE
128 50T08:

119 DATAG4, -B4,6S, -55,83,-63,1,-1

ClP.

23



ESCAPE <«==-
This program will run on all graphics machines except the C1P,

The program demonstrates randomness and, trial & error of a rat trying
to escape from a self made maze.

L@ REM ESCAPE 4/15-79
20 Klwl:K2=2:KE6=64:KHmG4:KU=26:KO=@: TT=0:LL=5880

38 G=1:F=1:DIMBBS(KU,KH)

40 KA=S3S36:KB=54339: KC=55136: KD=54336

SO HH$="-1":GOSUBSBCO2

7@ FORI=1TOPEEK(SS26)+2:B=RND(L):NEXT

80 GOSUBER2R8: GOSUB20000

160 AS="PRESENTING...":B$="THE RAT RACE "
1682 A=53S45:FORI=ATOA+LENC(AS -1 : BuB+]

184 POKEI,RSC(MIDS(AS,B, 1) ):NEXTI

166 B=@:FORI=1TO10@0:NEXT

168 A=54290: FORI=ATOA+LEN(BS )-1:B=B+1

i70 POKEI,ASC(MIDS(BS,B, 1)):NEXTI

189 FORI=1TOKU:FORJI=1TOKH: BBS( I, J )=HHS: NEXTT: MEXTI

190 GOTO280

208 GOSUBSRERA0:PRINT"THIS RUN TOOK*:T; "MOUES®:PRINT

222 Q=K@: IFT>TTTHENT T=T

224 IFTSLLTHENLL=T

226 PRINT"THIS WAS RUN NUMBER";G:PRINT

227 PRINT"THE HIGHEST SCORE IN THESE RUNS WAS";TT:PRINT
223 PRINT"THE LOWEST SCORE IN THESE RUNS WAS";LL:PRINT
229 GG=GG+T:AU=INT(GG/G)

232 PRINT"THE AVERAGE RUN TOOK®;AU; *MOUES*:T=@:PRINT .
232 PRINT"(THE RAT GOT OUT";E; "TIMES)":PRINT

240 G=G+1:GGS=STR$(G):FORI=1TO3D00 : NEXT

288 GOSUBGEEDNOB: GOSUBZ0000: C="READY?": D§="

380 A=S4290:B=0: IFF={THENF=0:GOT0483

332 FCRI=ATOA+LEN(CS)-1:E=B+]

384 POKEI,ASC(MIDS(CS,B, L)) :NEXTI:FORI=1TOL20@: NEXT

4830 K=INT(RND(K1)8KU):Y=INTC(RND(KL I®KH)

418 N=53439+848X+Y

415 IFNCS3504THEN4QR

470 B=0:FORI=ATOA+LEN(DS)-1:B=B+1

489 POKEI,ASC(MIDS(DS,B, 1)):NEXTI

12890 D=INT(RND(1)#4+1):A=INT(RND(L)81+] )i X1l=xK: LaY
1ige ONDGOSUBZ290@, 3900, 4900, S260

1113 IFQ<OKLITHENLLSA

1120 X$="H E ESCAPED !

1122 A=54356:B=0:FORI=ATOR+LEN(XS)-1:B=B+1
1124 POKEI,HSC(ﬂID#{XS,B.l)):NEXTI:FORI-lTOl@BB:NEXT
1126 E=E+K1:G0T0200 '
1158 IFX1=XANDY1=YTHENC=C+K1:GO0TOL188@

1160 C=K@

118@ IFC>ISTHENGOSULBSQR2D

1280 50TOL1000

2820 FORJ=K1TOA: IFY+K1 >KHTHENRETURN

2300 IFBB$(X,Y+K1)=GG$THENRETURN

2488 Y=Y+KLl:N=N+Kl:POKEN, 18:GOSUB10GAR

2450 GOSUB38009: IFQ=K1THENRETURN

2508 NEXTJI:RETURN

3808 FORJ=K1TOA/K2: IFX+KL YKUTHENRETURN

3380 IFBB$(X+K1,Y)=GG3THENRETURN

3408 X=X+K1:N=N+KE:POKEN, 20: GOSUB12093

24




3450 G0T02458

4028 FORJ=KLTOA: IFY-K1<KLTHENRETURM

4388 IFBBS(X,Y-Kl)=GGSTHENRETURN

4400 Y=Y-Ki:N=N-K1:POKEN,22:G0SUB10220

4459 G0T02450

S082 FORI=KITOA/K2: IFX-K1<K1THENRETURN

5390 IFBBS$(X-KLl,Y)=GGSTHENRETURN

5400 XaX-K1:N=N-KG:POKEN, 16: GOSUB L0000

S450 GOT0245@

10008 T=T+K1:BB$(X,Y)=G38:RETURN

20000 L=INT(RND( 1)8255+1)

20010 IFL=32THEN202Q0

280508 FORI=S3ISB4TOSISE7: POKETI, L:NEXT

290190 FORI=S3631TOSS1687STEPG4: POKET,L: NEXT
20280 FORI=SS5166TOSS185STEP~1: POKET, L NEXT
28300 FORI=SS51834TOS3SEBSTEP-64: POKET, L: NEXT
20490 POVES3S36, 32: POKES4393, 32: POKESS136, 32: POKES4336, 32
20508 RETURN

30080 IFN=KAORN=KBORN=KCORN=KDTHENQ=L

38819 RETURN

S00Y0 FORD=KL1TO4:A=INT(RND(K1)#L1B+K1)

50188 ONDGOSUB2000, 3098, <096, 5680

28200 IFYL<O>YORX1< >XTHENC=@:RETURN

523208 NMEXTD:X$="Aa HAR ! . ., .60 TCHA "
S0480 A=S43C6:B=0:FORI=ATOA+LEN(XS)~1:BwB+1
S@5008 POKEI,ASC(MIDS(XS,B, L)):NEXTI:FORI=1T01000: NEXT
50600 GOT0209

50060 FORI=1TO32:PRINT:NEXT:RETURN

25



BREAKOUT ====

THIS PROGRAM WILL RUN ONLY ON MACHINES WITH ASCII kevesoares., THIs

GAME CAN BRE CONVERTED TO A POLLED KEYBOARD SYSTEM. (SEE PROGRAM

CaNyV

R
I
P
P

[

OO~ AN

ERTIONS. )

En DAVID E TEWKSBARY

NPUT“DO YOU NEED INSTRUCTIONS“ Y$: IFLEFTS(Y$, 1L)="N"GOTO18
RINT" HOKAY“ PRINT: PRINT“THIS IS THE CAME BREAKOQUT. ": PRINT
RINT“ IDEA IS TO WIPE OUT ENOUGH BARRIERS TO ALLOW"

PRIN BOUNCINO BALL TO REACH THE TOP OF THE SCREEN. "
RINT“YOU PADDLE IS ON THE BOTTOM OF THE SCREEN AND IS *“

© PRINT“MOVED IN THE FOLLONING MANNER: ": PRINT

PRINT" 1) LEFT":PRINT" 2) RIGHT": PRIN

PRINT" IN ORDER TO SERVE A BALL. PRESS SIX BALLS WILL"
PRINT“BE THE LIMIT. _POINTS CAN BE RED BY KNOCKING DOWN™
PRINT“THE BARRIERS, THE DEEPER ONES BEING MORE UABLE. '
PRIN NT"WHEN YOU ARE READY, TYPE ‘R’ Y‘
IFY‘C)"R"GOTO 3

FORI=1T030: PRINT: NEXT: POKES&832, @

PRINT" BALL # SCORE"

FORI=S3534T0S54942STEPG4: POKETL, 47: NEXT: POKEX, 35
FORI=SSQ0STOS4977STEP~1: POKEI, 93: NEXT: POKET, 35
FORI=54912T053504STEP-44: POKEI:?E NEXT: POKEI, 35
FORI=53441T05344%: POKEXL, 42: NEXT OKEI, 35
FORI=S53505T053933: FOKETX, 51: NEX

FORI=33569T053597: POKEY, 30: NEXT

FORI=53633T0536464: POKET, 49: N

REM INITI ALIZE VARI LES

ML) m=bS: M(2) m=gd: H(S)U-éa M( Ymb3: M(F)=bh4: M(6) =6T

BCw79: BO=32: PCm=bél: Tw37343: Pm34925

POKEP, 61: POKE55048u48 POKE55062148 POKESS@43, 48

REM

IF X=6GOTOLO
IFPEEK(T)()lBOGOTOBb
XmX+l: POKESSQ4

8, 4
@ BP-INT(RND(BC)*25)+SGB°7 GOSUBS00: L=é
BALL ‘S MOTION

REM
FORA=LTOL: IFA<>1G0T0230
P BPagO Q;gEEK(BP*M(IB)) IFQ=BOGOTO200

LeLw 87: I 0-2290RQ-92THENIE-IB+2 GO0TOL80
IFQ-47ORG-ES9THENIB=IB-E GOTO1
Q2=PEEK (BP+44 )
IFQE-&lORGE-ZSGTHENIB-INT(RND(BC)*3)+1 coTOoLB0
IFQ=2330RA=9560T08S
IFQmw2340RA=42G0T01000
IFQu24LORA=4FTHENZwZ +1 : GOSUBSOO GOTOL90
IFQ=2420R0O=SOTHENZ»Z+2: GOBUBSE0: GOT0L190

Q= 430§D?géTHENZ-Z+S GO08UBS00: GOTOL90

Q2<>32ANDO2CO>224G0T01. 70 .
88 POKESZ063, Z+48~INT(Z/10)+10
oL

Py

-
B
D

BP=BP+M(IB): P
¢

REM LE M
C=PEEK(T): IF NDP<5494LGOT0260
IgCSéggANDP>S 136010270

Pa=P-1: IFP>S54912THENPOKEP, BO
Pw=pP+2: POKEP, PC: GOTO280

PuP+i: IFP<S4942THENPOKEP, BO

NEXTA: COT0140.

POKEBP+H(IB).BO IE;%NT(RND(BC)*3)+4 RETURN

RE ESSAGES

@ FORI=1T03Q: PRINT: NEXT: POKES&832, 1

1 IFQ<CO234ANDGACO32G0TOL040

@ PRINT"WELL, WELL. 80 NOW I SUPPOSE YOU THINK YQU’RE"
@ PRINT“TOUGH, EH? WELL, YOU Y HAD": Zi "POINTS!"

9@ PRINT" S0 THERE!'!":GOTOL

@ PRINT"NOBODY SAID IT WAS GOING TO BE EASY!!"

@ PRINT“SERIOUSLY THOUGH, “1 Z; “ISN'T TOQ BAD!"

o PRINT" (BUT I GUESS THERE 8_ALWAYS ROOM FOR IMPROVEMENT. )
@ PRINT INPUT“W ULD_YOU LIKE TO TRY AGAIN";Y

® IFLEFTS(YS, 1)="Y " THENRUN1S

o PRINT:PRINT"HAVE IT YOUR WAY. ":END

>VVO




TORPEDO ~==—

THIS PROGRAM WILL RUN ONLY ON MACHINES WITH ASCII xEvsoarDs. THIs

OAME CAN BE CONVERTED TO A POLLED KEYSBOARD SYSTEM. (SEE PROORAM
CONVERTIONS. ) )

™
n

REM=-=R. VAN SCOY--TORPEDOE
ggggT;go gogRUANT E?BTRUCTIONS“JAQ IFLEFT$(AS, 1)="N"THEN130

=
PRINT"HELLO ADMIRAL. “: PRINT"YOUR ORDERS_HAVE_PUT YOU IN CHARGE OF”
PRINT"AN UNDERWATER, ANTI-SUBMARINE INSTALLATION.
PRINT"YOU ARE TO DESTROY ALL SUBMARINES WHICH PASS OVER"
PRINT"COMMAND!' ! ! BEC USE OF THE IMPORTANCE OF THIS ASSIGN-
PRINT"MENT, YOU PREFORMANCE WILL BE RATE Y WILL RECEIVE“

PRINT"GOOD LUCK ADMIRAL!'®"

PRINT"OH, YES. I ALMOST FORGOT TO TELL YOU THAT DUE TO BUDGET"
PRINT"CUTS, YOU MUST MAKE EVERY SHOT COUNT, BECAUSE EACH MISS"
PRINT"WILL COST YOU T POINTS, AND EVERY SUB THAT GETS AWAY, "
PRINT"WILL COST YOU TEN POINTS!

@ PRINT"YOU MUST ALSO KNON THAT fHE SUBMARINES ARE EQUIPED WITH"

105 PRINT"AN AUTO—PTILOT WHICH IS DESIGNED TO CONFUSE THE ENEMY! ™

Mls="TORPEDOES: ": M23="SCORE: 000"
FORXHLTOS READT (X): T(X)BT(X)-64 NEXT

P+45
TP=53440: H=1344: POKESS104, 32
FORX=1TOLEN(M1%): POKETP+X, ASC(MIDS(M1$, X, 1) ) : NEXT
FORX=1TOLEN(M2%): POKETP+X+32:ASC(MID‘(MEQ.Xal)):NEXT
FORX=53504T0S3564: POKEX, 94

: NEXT
300 FORX=TTOT+44STEPL1S: POKEX.?l POKEX+2, 93:

POKEX+&S5, C1: Ci=Ci+1: N
ZﬂINT(laiRND(ZL))*64+53697 Z2=15
FORC=ZTOZ+40
POKETL, 32: POKET1-1, 32: T1=C+R(Z2)
POKET1, 62: POKET1-1, 62
81i=INT(NU/10): 52=INT (NU-81#10): POKETP+12, S1+48: POKETP+13, 82+48
S‘PEEK( E)=174
S<1ORBO>STHENLBO
FORQHT(S)TOT(S)-HSTEP~
CT=PEEK (Q—&4): IFC?BéEORC78174THENNU=NU-1 GOTO900
POKEQ-&4, 33: POKEQ, 32
FORX=1TOL1S: NEXT
NEXTQ: NU=NU-1: 8C=SC-5: POKEQ, 32

GOsuB920
Z2=INT(14¥RND(Z1)+1)
NEXTC:POKETL-E.GE:POKETlalsSE

750 SC=8C-10: COSUB920: GOTO3S

REM---EXPLOSION OF SUB
POKEQ, 32
FORQL=QTO32: POKET1-~1, Q1: POKETL, Q1: NEXT

915 8C=8C+25: COSUB920: IFNU=0THEN10@0

‘GOTO350

920 LBABS(SC) S§3=INT(L/100): S4=INT((L.-100#53) /19): S3=L.~-100#83-1.0+84
925 IFSCCOTHENPOKETP+39, 45
926 IFSC)-OTHENPOKETP+39o32

PO#ET§*40.SS+4B POKETP+41, S4+48: POKETP+42, 85+48
T: PRINT: PRINT: IFSC<130THEN1100

ioi0 PRINT“CO NGRATULATIONS ADMIRAL, WITH ";S8C; "POINTZ"

1920 PRINT"YQU’'RE AMERICA’S FIRST SUBMARINE ACE"'“ GOTO14600
1100 IFSC<100THENL1200

iilo PRINTSC; "POINTS IS EXCELLENT SHOOTING ADMIRAL"

® PRINT"IT’S GCOOD ENOUGH TO GET YOU PROMOTED. “: GOTO14600

2
1200 IFSCCSOTHEN1300
1210 PRINT"WELL ADMIRAL. " 8Ci“POINT IS PRETTY GOOD SHOOTING, "
1220 PRINT"BUT THE TOP MAN THINKS YQU NEED NORE PRACTICE. ": GOTO1400
1300 IFSC(OTHENl 00

1310 PRINTSC; "POINT IS NOT VERY GOOD ADMIRAL. ™

%ggg ngNT“THE COUNTRY IS LUCKY IT’S NOT DEPENDING ON YOU!!'*"
1300 PRINT"WHEN YOU ONLY GET_"; 8C; "POINTS, THE ENEMY*® ‘

1420 PRINT"IS GLAD YOU’RE NOT ON _THEIR SIDE. YOU'LL

1430 PRINT"BE MOPPING THE DECKS T )MORROW, IF YOU DON‘T"
1449 PRINT"IMPROVE THAT S '
1450 PRINT1450: PRINT“SC=“:SC

27



28

1400 PRINT: PRINT: PRINT: INPUT“DO YOU WANT TO TRY AGAIN®) As
iégg éFLEFTS(AC.1)-“Y“THENCLEAR RUN130

ND
2009 DATAUSO4L, SHOS6, 55071, 55086, 55101
aiee DATA-LEBa-127.—126»-&3.-63;-62‘1.2:64.63.66.128.129.130.0

STELLAR PERSUIT —===

THIS PROGRAM WILL RUN ONLY ON MACHINES WITH ASCII KEVBOARDS. THE
PROGRAM CAN BE _CONVERTED TO A POLLED KEVBOARD SYSTEM (SEX PROGRAM
CONVERTIONS). IN THIS GAME YOU ARE CHASING AN INVADER HOME AND TRYING
TO DESTROY HIM. TO CONTROL YOUR TURRET DEPRESS “1" TO MOVE DOWN, wav
TO MOVE UP, "3" TO MOVE RIGHT, "4" To LEFT, AnND "S" TO gToP.
DErrEsSsING THE "TY WILL PFIRE ROCKETS. DEPrRESS THE "F" TO FIRE THE
LASERS.

1 REM *#*ROBERT
2 REM ***COPPEDGE
g ]

81=32: 52=32: 83«32
10 DIMU¥(EO)oY(EO)aZ(EO)

i1 I ral

12 FOR_y=353250 TO 55295: POKE Y, 32: NEXT Y
14 KO'INT(53316+RND(21)*1915)

16 FOR Y=y TO 735

17 Ca&NT(52216+RND(Zl)*1915)

E C
20 FOR vy=i TO 10
30 X(Y)-INT(53816+RND(ZL)*1915)
49 Z(Y)aINT((X{Y)~3331 4)

43 W(Y)mX(Y)=53316-64 &Z(Y

S5 IF W(Y)C30 THEN W(Y)=—1

S6 IF Z(Y)C14 THEN Z(Y)m=1 )

S7 IF W(Y)<34 AND W(Y)>30 THEN W(Y)=Q

S8 IF Z<Y)<18 AND Z(Y)>14 THEN Z(Y)=Q

59 IF W(Y)>33 THEN W(Y)=1

60 IF Z(Y)>17 THEN Z(Y)=}

65 IF Mi=i TH 155

790 POKE X(Y) 46: NEXT Y

110 K=S5167: Ju53231: 6=53199

120 FOR Y=1 TO 10

121 GOTO

123 POKE X(Y), 32

126 P KE B4177, 45: POKE 54173.45 POKE 54047, 73: POKE 54303, 73
130 X(Y)=X(Y)+W(Y)+banZ(Y

135 POKE X(Y), 46

130 IF X(Y)>S5231 OR X(Y)<33316 THEN 1

145 IF X(Y)-53316-64*INT((X(Y)-Saalé)/64))63 THEN 1350
1446 IF X(Y)-S5331&6-INT((X(Y)-53316)/464)<1 THEN 150
147 GOTO 1535

150 POKE X(Y), 32: Mlﬂl GOTO 30

155 H-PEEK(S?S

156 IF M=2.2 OR L=2 THEN 190
157 IF M=19B OR L=1 THEN 162
158 IF M>176 AND M<i182 THEN 5350
159 IF M>@ AND MCS THEN 55

140 IF M=i98 OR L=i THEN 162

GOTO 200
142 IF H=1i&6 THEN 178
163 HsH+1:L=1

164 IF S8=2Q0 THEN 900

1635 POKE J, 94: POKE K, 94

144 POKE J+19B.32 POKE K+184, 32
167 JmJ-54: =K-62

148 GOTO 200

S8= SB +1,
180 POKE 54373, 32: POKE 54361:32 POKE 34307, 32
181 POKE 54299, 32: POKE 424 POKE 54237, 32
182 FOR I=i TO 80:POKE 5 175.1- TI
183 H-O L=0: Ka351467: J=55231
184 POKE 541735, 32
186 IF K0>54107 AND K@<S4114 THEN 500
187 IF K@>354171 AND KO<S54178 THEN 5S¢0
188 55T50>53235 AND KO<34242 THEN %500

20
19@ IF H=8 THEN 195




NEW

oAME

IF 86=10 THEN BQ@
POKE G, 32: GSGalaaoPOKE G, 34

84=86+1: GOTO 182
NEXT Y

GOTO 120

N-INT(lb*RND(ZL)+L)

IF N>8 THE

ON N GOTO 310:315.320:325»330:385:340.345
8=64: GOTO

gﬂl GOTO 347

K4=KQ-53312-644#INT ( (KO-33312) /64)

IF Ko+6>85231 OR Ke+8 53312 THEN 300
IF K4<2 OR K4>6l1 THEN 300

POKE KO:; S1: POKE K1, 82: POKE Ka., 83
KO=KO+5: K1=KO+L: K2uK@—1: K3=K0—-&4
S1i=PEEK (KQ): S2=PEEK (K1) : SB-PEEK(KZ)
EOKE Kgs79 POKE K1, 92: POKE K

0 1
PRINT"ENEMY DESTROYED!": §7=S7+1
FOR_Y1=35039 TO_S55061: POKE Y1;32 NEXT Y1
§1=32: 52=32: §3=32
POKE K@-64, 32: POKE K0-43, 32: POKE K0-&%, 32
KO-INT(53316+RND(Zl)*l?ls
IF S7=46 THEN 1000

POKE 54113, 32: POKE 54109, 32
ggKE 53993-32 POKE 34239, 32
H-M-176

ON M GOTO 555.560.570-590:585
Gmbq: GOT 390

Snsl GOTO 390

POKE K@, 81: POKE K1, 82: POKE K2, 83
KO=K@+S: K1=Ko+1: K2=Ko-1
S1=PEEK (KQ): S2=PEEK (K1): SS-PEEK(KE)
IF KO+853535231 OR KO+8<S53312 THEN &0
K4=KQ- 53312-64*INT((K0-5' 312)/764)
IF K4<2 OR K4>61 THEN
88;% K@, 79: POKE K1, 92: POKE K2, 47

200
KOuKO~5: K1=K@+1: K2=K0-1
POKE KO, 79: POKE K1, 92: POKE K2, 47

(2]
(o]

FOR_Y1=55039 TO S3053: POKE Y1, 32: NEXT Y1
POKE Ko-&44, 32: POKE K0-63, 32: POKE K0-&%3, 32
POKE 54113.32 POKE 54109, 32: POKE 53983, 32
POKE 5 9, 32

FOR Y 0 )

CBINT(55039+RND(ZL)*128)

"POKE C, 46: NEXT YJ1: GOTO 120

900 PRINT"LASERS DRY. FOR Yi=1 TO 500: NEXT Yi:L=9:GOTO 801
iOOO PngT“YEEEE-HAHHH"‘"

YORK TAXI —==-

TO 200
PRINT"TUBES EMPTY... ":FOR Y2mi TO 500: NEXT

THIS PROCRAM WILL RUN ONLY ON MACHINES WITH ASCII xEvmOArRDS. THIs

CAN BR CONVERTED TO A POLLED KEYBOARD SYSTEM.

CONVERTIONS. )

(SEx PrROORAM

CH A TAXI. ... " ' 29

1 REM==—ara—e 8. BENNETT-==N. Y TAXI-—-

2 PRINT“DO YOU WANT DIRECTIONS (Y OR N)": INPUT ES

3 IF ASC(E$)=7B THEN 17: PRINT PRINT PRINT“NEN YORK TAXI"

4 PRINT: PRINT: PRINT"THE OBJECT OF THIS E IS TO CAT

5 PRINT: PRINT'WITH OUT BEING HIT BY BAID TAXI (ITS HARD TO GET N. Y. "
6 PRINT: PRINT"CABBIES ATENTION

7 PRINT: PRINT: PRINT"YOUR CONTROLS ARE": PRINT: PRINT"L - MOVE UP "



8 PRINT: PRINT"2 ~ MOVE DOWN": PRINT: PRINT"3 — LEFT"

9 PRINT: PRINT"4 -~ RIGHT":PRINT: PRINT"AND MOST IMPORTANT"

10 PRINT: PRINT"S - FLACS DOWN T

11 PRINT: PRINT"OH, I ALMOST FORGOT: YOU HAVE TO BE DIRECTLY"
12 PRINT: PRINT"IN FRONT OF THE C R HIM TO NOTICE YOU.

13 PRIN&:PRINT;ZEADYN%YNQQQ n TURN)” INPU T Rs

: : 0700
19 FOR N=mCA TO CA+8: POKE N, 32: NEXT N: POKE CA-61, 3
20 POKE CA-40, 32: POKE CA-59, 32: POKE CA+&é4, 32: POKE CA+71, 32
21 CA=CA+2: IF LND>SS THEN 70
22 FOR N=CA TO CA+8: POKE N, &2: NEXT N
25 POKE CA—61, 47: POKE CA=-&0, 61: POKE CA-39, 92
a7 POKE CA+bb, 79: POKE CA+71, 79
28 LN=LN+2
a9 IF VI)O THEN 310
39 FOR N=11 TO12: HI=FPEEK(CA+N)
3 ﬁEQ%<§32ANDHI<)224THEN300

4@ FOR V=mI-1 TO I+1:POKE V, 32: NEXT V: POKEI-44, 32: POKE I+&3, 32
43 POKE XI+63, 32

50 POKE H, 48: POKE H~&4, 79

60 POKE H+63;47 POKE H+463, 92

70 ;OﬁE H+1, 92: POKE H-1, 47

90 H-PEEK(57343) IFH<176 OR M>182 THEN 19
IF Mw=i7 HaH=—6&

130 M=0Q: G 19

200 POKE H-1:32 POKEH+1;3

210 FOR N=@ TO 70©: NEXTN: IF K/2-INT(K/2) THENESO
220 POKE H-63o47:POKE H-65, 92: FOR N=@ TO 70: NEXT N
225 POKE H-43, 32: POKE H—65, 32: K=K+1 070 19

230 POKEH-1, 47: POKEH+1, 92: FOR N=0T070 NEXTN
240 K=K+1:GOTO 19

300 HI=9: VI=3d

305 IF K/2=INT(K/2) THEN 4

310 VI=sVI-1:IF VI<1LI THEN 320 GOTOL?

315 GOTO19

320 POKEH~&4, 83: POKE H=-43, 80: POKE H—62o76 POKE H-641, 65: POKEH-60a84
ggé g-Igg(tg*RND(H)) IF U>3 THEN

326 PRINT“WELL, WHATS A FEW HONTHS IN THE HOSPITAL... "

330 PRINT: PRINT" (DONT ANSHE YOU LOSE 10 POINTS ON THAT ONE":PRINT
331 PRINT" WANT TO TRY_A AIN " INPU Ds

332 IF ASC (D$)=89 GOTO 17

333 PRIN : PRINT"SCARED HUH ? TAKE A BUS NEXT TIME !'!"

336 PRINT

340 PRINT"TOTAL S8CORE : ";S8C
35 END

490 POKE H+1.92 POKE H-L1, 47
425 8C=8C

430 IF B 2 THEN 600

4350 PRINT'“CONGRATULATIONS 1o

452 PRINT RINT”YOU ,CAUGHT A CAB WITH NO BLOOD LOST !"

457 PRINT"SC ORE } 8C

458 FOR Bﬂl TO 1500 NEXT B

4460 VI=0: GOTO 17

500 PRINT"OUCH ! I BET THAT HURT !

565 PRINT: PRINT

519 PRINT: PRINT"IT COST YOU 10 POINTS TO00. IN _VIEW OF ALL YOU’VE"
3515 Pélgz ngNT“GONE THROUGH, I'‘LL GIVE YOU ANOTHER CHANCE"

a
[
-~
on

0TO 331
600 PRINT"SAY ARE YOU BY ANY CHANCE FROM NEW YORK ... 7"
605 PRINT: PRINT"SCORE : 1 8C
610 GOTO 4
700 CA=84*INT(10§RND(H))+53760

==

LN
705 COTO022



Memory Dump

Purpose

The program permits the user to dump contiguous blocks of
memory of any length (65A will not dump blocks of more than
2561 words). This program also enables the user to
specify the end address of a dump. This is very valuable
when running at high baud rates!

Memory Allocation
OF7C - OFB4 and OOFA-OOFB
Starting Address- OF7C

Relocation Information
The only position dependent instruction is the JMP at OFA4

Use

Toad the "GO" locations and load FA with the ending address
low and FB with the ending address high. Type a "G".

The program replies with an "X" and expects a four digit
hex starting address for the dump. The program prints

the block up to and including the last byte specified
(unlike the 65A, this program will stop in the middle of

a line). The program types an "R'" and returns to the €8A.

Memory Dumg

Location Op _Code Mnemonic Notes
F7C A9 88 DUMP LDA #'X Type an
F7E 20 0B FE "JSR OUTCH "X
F81 20 C7 FE JSR BUILD Accept Start-
. ing Address
for Dump
F84 AQ 00 LDY #300 . Clear Iadex
F86 42 09 DUP LDX #§9 Set Byte/Line
. Count .
F88 A9 OD LDA #'CR Qutput
F8A 20 OB FE JSR QUTCH a Carriage
F8D A8 O0A LDA #'LF Return, Line
. _ Feed
F8F 20 0B FE JSR OUTCH
Fo2 CA DUl DEX . Decrement
‘ Byte/Line
Count
F93 FO F1 BEQ DU9 ' Reset if Zero
Fos 20 EO FE JSR PRTBYT Print Current
byte
Fo8 AS FA LDA FINL Low Address
Fo9A Cs FC CMP FC Match?
FoC FO 09 BEQ DU4 :
FOE E6 FC DU3 INC FC Increment Pointer
FAQ DO FO BNE DUl Carry?
FA2 E6 F INC FD Yes, Carry!
Fad 4C 92 OF JMP DUl Loop Back
FA7 AS FB DU4 LDA FINH High Address
FA9 CS FD CMP FD Match?
FAB DO F1 BNE DU3
FAD A9 82 LDA #'R Print an
FAF 20 OB FE JSR OUTCH "R" and
FB2 4C 40 FE JUMP CONTROL + B Exit
]|
FINL FA
FINE FB



PRINTER PATCH —=--
This program is a patch for 0S-65U operating system to enable the
use of a Selecterm printer on C3 machines.

10 REM CREATED BY FOUR STATE MICRO COMPUTER SYSTEMS INC.

20 REM JOPLIN, MISSOURI 64801

30 REM JOE F. LINDEN _

40 REM NAME -- PRINTER PATCH FOR SELECTERM PRINTER

50 REM EXECUTES IN BASIC MODE OF OPERATION

60 REM RE-CREATION DATE -- 7/18/78

70 REM

80 REM EXECUTIVE OVERLAY ROUTINE AS FOLLOWS =--

90 REM

100 DIM A(53)

110 FOR I=1 TO 53:READ A(I):NEXT I

120 I=1

130 FOR J= 8668 TO 8696 :POKE J,A(I):I=I+1:NEXT J

140 FOR K= 8576 TO 8599 :POKE K,A(I) :I=I+1:NEXT K

150 END

160 DATA 169,0,141,03,247,141,02,247,169,4,141,03,247,173,02,247
170 DATA 41,128,201,128,208,247,169,0,76,128,33,36,36,141,03,247
180 DATA 169,127,141,02,247,169,44,141,03,247,173,205,34,41,127
190 DATA 141,02,247,76,143,34

POKE 8708,129

BACK SPACE ===- ' . »

This program 1is for enabling the backspace for the 0S-650

operating system on C3 systems. NOTE: this routine interferes with the
new 65U editor.

250 REM'FOR BACK SPACE THIS LINE SHOULD ‘SAY GOSUB 5809

3068 REM POXE QUTPUT TO ALLON PRINTING OF BACKSPACE
5248 POKE 24349,8: REM BACSPC=8

3828 REM POKE PATCH INTO INPUT ROUTINE

3639 POKE 1373, 76:POKE 1374, 3:POKE 1375, 2

3840 REM POKE PATCH INTO $3C08

3859 FOR PTR=23552 TO 23571

5868 READ MRC: POKE PTR. MAC

3879 NEXT PTR:RETURN

3888 DATA 204, 8, 208, 13,32, 8, 46, 72

3898 DATA 169, 32, 32,8, 48, 104, 76, 76,5, 76, 97, 5

32




REPORT WRITER ~--

This program is a Report Writer which can produce general%zed
listings and selective reports from disk files. The program will
run on C3 systems under 65U.

3 FORX=L TO 32: PRINT:MEXT

4 PRINT"REPORT WRITER*

3 PRINT® .

6 POKE2888, 9:REM RCCEPT NULL INPUT

7 FLAGY:FLRGL1:REM FLG3-30088 ERR CHK FLGLL-SPRCE SuPP
16 DV(1)=PEEK(9832): IF OV(1)>127 THEN DV(1)=DV(1)-128+4
38 DW$(L)=CHRS(OV(1)455)

40 IHPUTDEVICE FILE STORED ON "; DV$(2)

41 DVECOLEFTS(DVS(2), 1)

42 IF DY$(2)>="A" R DY$(2)¢="E" GOTO 54

43 PRINT:GOTO 49

49 GOTO 54

S8 PRINT:PRINT*LHAT!*:PRINT

34 INPUT®FILE NAME, PRSSWORD *; NS, P$

60 IF LEN(MN$)CS THEN MMs=Mis+* *:GOTO 69

65 IF LEN(MNS)Y6 THEN GOTO 58

78 FS=LEFTS(MNS, S)+°g"

148 IF Ps="  THEN P$="RMNRN®

138 IF LENCP$YO4 GOTO 50

198 INPUT“CONSOLECC) OR PRINTER(P)*; v$

208 PRINT

248 IF LEFTS$(YS, 1)="P* THEN V0=5:S4=132:G0TQ 299

238 IF LEFT$(YS, 1)=*C* THEN YO=PEEK(1166S) :SK=29:G0T) 299
238 GOTQ 1¢9

298 INPUT“ENTER HERDER COMMENT *;H$

295 PRINT

390 NEs=**:IF He=NE$ GOTO 339

318 IF LENCH$)>SK-10 THEN PRINTMAXILM LEMGTH OF COMMENT *; Sk-18:GOT0299
338 Y=123:0IM L5CY):DIN FPCY):DIN FLCY) :DIN LLSCY)

335 OIM LF (Y

349 REM

338 PRINT™ENTER LRBELS (WHEN FINISHED TYPE ‘DONE/ FOR THE NEXT LRBEL)*;L$(X)
35T F=0:%=1.Y=183

368 PRINT:FORX=1 TO Y:PRINTLABEL # *; 3% : INPUT L3(X)
389 IF L$CX)="DONE® AND NF=0 THEN GOTC 2029

399 IF L$CX)="DONE" THEN L$(X)="*:GOTD 468

39S INPUT"LABEL CHANGE (Y OR N> (8

336 IF C3O"Y" RND CSO"N" THEN GOTO 295

397 IF Cs=*N" GOTO 419

408 PRINT*ENTER CHANGE FOR LABEL # *; ¥:INPUT LLSCX)

410 PRINT

430 NF=NF+L:NEXT X

460 REM

473 INPUTUARE ALL LRBELS ENTERED CORRECTLY NOM ¢¥ (R N)“; Qs
473 PRINT.PRINT

485 IF LEFT$(Q$, 1)="¥* THEN GOTO 629

498 IF LEFT$¢2%,1)="N" THEN FORX=L TO NF:L$(X)=**

SO0 NF=NF-1:NEXTX:GOTO 358

688 DEV DV$(D)

650 OPEN F$,P$, 1

653 INDEXCL=9: IMPUTVL ECOF

678 [NDEX(1D=20: INPUT 74, BOOF

579 INDEXCA=34: INPUT 74, RL

£80 IMDEXCLO=42: INPUT 24, MR

698 FOR %=L TO \F

809 FP(X)=1E8

250 NEXT R}

998 GOSUB Seos

910 FOR 't=L T0 iF




320 IF FPCY)IEB GOTOS30

921 PRINT*ERROR =+FIELD NOT FOUND#»*:FORX=1 TO MF+2:L$CR)=NES:LLECK)=NES
922 FL(X)=8:FP(X)=9:TT=9:6=0:CLOSE 1:G0T0 349
933 REXT Y

38 PRINT

1089 LR=3

1200 IF CNT= GOTO 1240

1228 IF LCCT3 GOTO 1419

1248 PG=PGHL:PRINTHD

1239 PRINTHD, H$; TRB(SU-18); :PRINT¥VD, * PAGE " PG
1289 PRINT#VD -

1298 IF CNTO@ GOTO 1328

1309 REM SECTION TO CALCULATE TRBS FOR OUTRUT
1365 FL=FL+1:IF FLOL THEN GOTO 1328

1310 DIM PP(NF+1): REM PP=PRINT POSTIONCS)
LRFR =L TONF .

1325 IF LENCLL$CX))=d1 THEN L$CX)=LL3(X)

1338 IF FLOHOCLENCLECX)) GOTO 1369

1349 REM FIELD LONGER THAN COLUMN HERDER

1330 PP(X+1)=FLCX)+PP(X)+3: GOTO 4370

1363 PP(X+L)=LEN(LS(X))+PP(X)+3: REM HERDER > FIELD
1370 NEXT: REM TABS ARE SET AT THIS POINT

1371 IF PPOF+L)CSI THEN GOTO 1380

1372 PRINT*ERROR +=iIDTH OF REPORT 'RITER IS *; PP(NF+L)-S; * CHARRCTERS TO")

1373 PRINT"O LONG*+* :FORK=1 TO NF+2:L$(X)="":D$(X)a"" . FP(X)=0: FL(X)=@: TT=H
1374 PG=Q:LLS(X)="": [F XQF THEN PP(X)=@

1379 NEXT X:CLOSEL:GOTO 349

1339 FOR X=t TO NF: PRINTHVD, TRBCPPCX) )1 L8CK)s : NEXT: PRINTHVD: PRINTHVD
1399 ,

REM
- 1400 REN

1448 FOR Mot TO WF: INDEXCLOSBODF+FPCXIHLR: INPUT L, 08CK): NEXT
1420 FOR X=t TO NF: PRINTIVD, TRBCPPCX)) DSCX0s - NEXT: PRINTIVO
1859 LR=LRWRL:CNT=CNT+4: [F CNTaNR THEN GOTO 2000

1663 IFINDEX(4))=E0DF GOTO 2000

1830 LOLCHL: IF (CO%4 THEN LC=0:00T0 1240

1908 FOR Red TO NF:DS(X)a"" :NEXT R

1989 GOTO 1410

2000 DEVOVS(L) :CLOSE: FLAGLO: FLAGLR:

2010 PRINT: INUT'ENTER A C T0-CONTIME ) GBs: FORY=1T032: PRINT NEXT EMD
5009 TT=d: INDEXCL)=S3

$080 INPUT A4, %8

5109 FOR %=1 T0 ¥

£101 yx

215 IF LS(X)aKS THEN Uslied:GOTO 9360

5200 NEXT X:00T0 5250

5309 FP(X)aTT

S35 INPUT 2L, LFCY) :REM GET FILE LENGTH

5408 TT=TT+LF(Y):REN KEEP RUNNING TOTAL INTO RECORD

$425 IF LSCK)=HS THEN FLCY)SLFCY)

£450 BaB+LENCLS(X)): IF BHNFCSH THEN GOTO 5550

5463 PRINT*NIDTH OF REPORT WRITER > ° Si :PRINT* CHAR®:FOR X=L TO IF
5478 LSC)=**:NFNFL FPCXY=0:NEXT X

5430 TT=9:5=0

5500 CLOSE 1:60TO 349

S99 IF INDEX(L)CBODF GOTO 2650

5600 IF INDEX(1)BODF THEN PRINTSERROR *+FILE HERDER ERROR®*
5709 RETURN

£0999 REM ERROR HRUDLING IS DGNE HERE

32010 ER=PEEK(10226) EL-PEEK(LUP)WEEK (LTSI o4
$020 REM CHK FOR CHRMEL ALRERDY OPEN :

[es

i T i . a1 I e g ~—

e




IF ER=133 THEN CLOSE

IF ER=128 THEN ERRS="INVALID FILE MAYE": GOTO 52090

Y6830
50040 REM CHK FOR NCN-EXISTANT ENTRY ERRCR
Seedo
So0s8

REM CHK FOR END OF FILE HIT ERRORR
30079 IF ER=132 THEN ERR$="END OF FILE ERROR": CLOSE:GOTO 52009
58980 REM CHX FOR SYSTEM ERROR I E CHRMMEL NOT OPEN ERROR
50233 IF ER=129 THEN ERR$="CRMNOT ACCESS FILE®:GOTO 52008
30409 ERR$="DISC ERRCR CODE “+STR$(ER)+"IN LINE “#STR$(EL)

38200 CLOSE

52989 PRINT:PRINT"srerceRROR®SSRES" - PRINT PRINT

33080 PRINT ERRS

54098 REM PICK UP DISC ADDRESS WHERE ERROR OCCURED

54018 ER=0:FORI=4 TO 4 STEP -1:ER=ER¥2S6+PEEK(I88I+1)NEXT |

54020 D=PEEK(9832):IF D127 THEM D=0-128+4

$4330 PRINT QN DEVICE “+CHR$(D+63)+" AT DISC ADDRESS";ER

34048 REM COMMCH EXIT PATH

54038 DEY CHR$(DY(1)+65) :REM SELECT ORGINAL DEVICE

34868 FLRG19:FLAGL2

S4079 PRINTINPUT™ENTER A C TO CONTINUE °;GR$:FORA=1T032:PRINT:NEXT:END

LOCATE FILE ON.  DEVICE -~~~
This program locates any file under 0S-65U ‘operating system on C3
machines.

48997
48398
48999
45000
49010
49020
S0000
50010
50020
50030
50040
50050
S0060
50100
59997
59993
59993
60000
60010
60020
60025
60026
60027
60930
60040
60050

REM

REM «==== LOCATE FILE ON ANY DEVICE -—==—-
REM

Ovs="A*:IF CH=@ GOTO 42029

DEY DV$:0OPEN F$, P$, CH:GOTO RL

DEY DV3$: RUN F$,P$, SL ' '

ER=PEEK (182267 : EL=FEEK 11774 ) +PEEK(1177S) %256

IF EL<O42@18 AND EL<>49829 GOTO S9198
DV3=CHR3(1+ASC(DY$)) : IF DVs$<"I" GOTO EL .

PRINT :FRINT"FILE OR PROGRAM NOT FOUND OM LINE":PRINT:PRINT
PRINT"PUT THE FILE < “;F$; " > ON LINE":PRINT

POKE 23283, 9:INPUTYENTER A C - TO CONTINUE "; X%

GOTO 435099

PRINT:PRINT"DISC ERROR":STOP:REM. wwew STANDARD DISC ERROR POINT
REM

REM ROUTINE DESCRIPTION ————-

REM

REM ENTRY=— F$,P$ = FILENAME AND PASWORD

REM CH=G RUN AS R PROGRAM

REM CHCO® OPEN AS A DRTA FILE

REM RL = RETURN LINE NUMEBER

REM ¢STACK LOST ON ERROR--NO SUB ROUTINES)
REM ¢NO FOR LOOPS)

REM . :

REM EXIT  RETURM TO LIME RL (RETURN LINE NUMBER)
REM IF NO FIND THEN ALLOWS RETRYS UNTIL FOUND

35
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PRINT ":**** CASH FLOW BUDGET ANALYSIS it#use’
" +* 1]
PRINT ": PROGRAM BY P LINDQUIST 04/13/79 #
] *l
;EENT R SRR Rt B SRRt PR SR 2 R Y

REM PROGRAM PERFORMS CASH FLOW BUDGET ANALYSIS AS A
REM FUNCTION OF CALENDAR PERIODS BASED ON WEEKLY START
REM DATES IN DATA STATEMENTS BEGINNING AT L/N 1600.
REM AVAILABLE DISK FILES : "SAMPLE"
DlS;"SAMPLE
=
DIM P3(26), PS(26), BAL (24)
DIM P(30), DATES(30), IES(30), AMT(30), DESS(30)
ER%N;;DO YOU WANT INSTRUCTIONS (Y OR N)7“i
=
POKEK, 4 : IFPEEK(K)=8THEN2000
FOKEK: 16 : IFPEEK(K)=8THENGOSUB1145: GOTOZ2000
GOTO1140 '
FORI=1iTOL10: PRINT: NEXT
REM INSTRUCTIONS
PRINT: PRINT"“PROGRAM PERFORMS CASH FLON BUDGET ANALYSIS "
PRINT"PROGRAM WILL ASK WHAT ACTION IS REQUIRED B
PRINT“PRINTING ‘REQUEST?‘. YOU MAY RESPOND BY"
gR%mT“TYPING H T. P, B L, 8 R/ OR D AS FOLLOWS: "

PRINT"H~~-REPEAT INSTRUCTIONS"

PRINT"T-~-INCOME OR_EXPENSE TRANSACTION"

PRINT"P--SHOW DETAIL FOR PERIOD"

PRINT"B--DISPLAY BALANCE FORECAST; HISTOGRAM: AND STATISTICS"
PRINT"L--LIST ALL TRANSACTION

PRINT"S-~-SAVE TRANSACTION FILE ON DISK FILE"

PRINT"“R--~RECALL TRANSACTION FILE FROM DISK"

PRINT"D--DELETE TRANSACTION"

PRINT"E--WILL EXIT TO THE SYSTEM MONITOR"

PRINT
PRINT“T——(INCOME OR EXPENSE_TRANSACTION) WILL BE FOLLOWED"
PRINT"BY ‘?7°‘. YPE ‘DATE, I or E, AMOUNT, DESCRIPTION‘"

PRINT"FOR EACH TRANSACTION. WHERE ‘I’ INDICATES INCOME, “
PRINT"AND ‘E’ INDICATES EXPENSE.

INT
PRINT"TO CONTINUE, HIT SPACE BAR"
K;57$89 : POKEK, 2 : IF PEEK(K)=0 THEN 1370

PRIN
PRINT"DATE MUST BE_IN FORMAT MM/DD/YY. IF DATE IS*

PRINT" ‘00/00/60’, THE TRANSACTION WILL BE REPEATED EACH"
PRINT"PERIOD. IF MM IS ‘00, TRANSACTION WILL BE"
;E%”T“REPEATED FOR EACH MONTH.

PRINT"P-~(DETAIL FOR PERIOD) WILL BE FOLLOWED BY “?°. "
PRINT“TYPE IN THE PERIOD START DATE (MM/DD/YY).

PRINT“B——(BALANCE FORECAST) WILL BE FOLLOWED BY ‘7’. TYPE"

PRINT"IN THE BALANCE FORWARD AND THE NUMBER OF FERIODS TO"

EEINI"BE FORECAST. "

PRINT"D--(DELETE TRANSACTION) WILL BE FOLLOWED BY ‘?7°. "
PRINT“TYPE IN THE ’‘DESCRIPTION’ OF THE TRANSACTION TO BE"
PRINT"DELETED EXACTLY AS TYPED WHEN THE TRANSACTION WAS"
PRINT"“ENTERED.

PRINT

RETURN , :
DATAL2/31/78, 01/07/79, @1/14/7%9, @1/21/79, 01/28/7%, 82/04/79
DATAR2/11/7%9, 02/18/79, @2/25/79, ©3/04/7%, ©3/11/79, 03/18/79
DATAB®3/25/79, 04/01/79, 04/08/79, 04/15/79: B4/22/79, 04/2%9/79
DATA@S/0&/79, @5/13/79, 85/20/7%, 85/27/79, ©0&/03/79, 86/10/79
DATAQL/17/79, 06/24/79, 97/01/79, 07/08/79, @T/13/79, 07/22/19
DATAQT7/29/79, 88/05/79, 08/12/79, 0B8/19/7%: 08/2&/79, ©9/02/79
DATA@R/09/7%: 09/16/79, @9/23/7%, 09/30/7%9, 10/07/79, 10/14/79
DATA10/21/79, 10/28/79, 11/04/79, L1/11/79, 11/18/79, L1/23/79
DATAL12/02/79, 12/09/79, 12/1&6/79, 12/23/79 12/30/7%, 01/06/80
REM INITIALIZE PERIOD START DATES

DATA"NULL"

RESTORE : PRINT : PRINT

PRINT“INPUT THE START DATE FOR THE FIRST WEEK ‘MM/DD/YY’"
Ig;u;"SHOULD START WITH A SUNDAY:

N
GOSUB 23009: SD=SI
INPUT"NUMBER OF WEEKS IN A PERIOCD: "iNW

READ D$: IF D$<O"NULL" THEN2020




:8£§;E§ESRT DATE NOT FOUND - RESTART PROGRAM"
GOosSUB 2300 : IF ABS(SI-SD))E THEN 2014

2022 P3(1)=D3% : PS(1)=8I

2030 FORJ=2T0264

2032 FORI=1TONW

2034 READ D$ : IF Ds="NULL" THEN 2030

2036 NEXT I

gg%g OOSUB-BSOO : P$(J)=aD$ : PS(J)=SI : NP=NP+1i
2050 PRINT"PERIOD START DATES ARE AS FOLLOWS: ": PRINT
2052 FOR I=1TONP STEP 2

2034 PRINT P

2056 IF ICNP THEN PRINTTAB(ES); P$(I+1)

2058 NEXT I : PRINT PRINT

2060 PRINT'IS THIS OK? “i

2062 K=57088

2064 POKEK, 16 : IF PEEK(K)=8THENPRINT"YES": GOTOElOO
gg?g 88#%2.4 : IF PEEK(K)=8THENPRINT"NO?": GOT02000

PRINT: PRINT: FRINT
NT=0 :REM NUMBER OF TRANSACTIONS

@ S8T=100 :REM ST IS HISTOGRAM STEP SIZE

PRINTBFOR I=1TO0S50@: NEXT: PRINT"REQUEST? *“;

FOKEK, 16: X=PEEK (K)

IFX=64THENPRINT"E“:RUN"BEXEC* .

IFX=02THENPRINT"R": GOSUB4100: GOT02139: REM INPUT FILE
IFXmiSTHENPRINT" T : GOSUB2350: GOT0213@: REM TRANSACTION

: K)
IFX=64THENPRINT"L“ COSUB4000: GOTO2130: REM LIST
POKEK, 8: X=PEEK (
IFX=129THENPRINT"S“ GOSUBI000: GOT02130: REM DISK SAVE
IFX=64THENPRINT "D": COSUBI34@@: GOTO2139: REM DELETE
EgﬁEETHEQPQIleHELP7" GOSUBL163T: GOT02130@: REM HELP!!!
’ o=
IFX=16THENPRINT"B": GOSUB2700: GOT02130: REM BALANCE
POKEK, 2: X=PEEK (K )
%g%SSTHENPRINT“P“ GOSUB3300: GOTO2130: REM PERIOD DETAIL
REM_INTEGER-FOR-DATE SUBROUTINE
DE=RIGHTS(D%, 8)
DD=VAL(MID$(D$:4.2))
MM=VAL (LEFT$(D%, 2))
YY=VAL (RIGHT$ (D%, 2))
§E=00+100*(NM*100*YY)
REM_ TRANSACTIONS SUBROUTINE
FORI=1TO100: NEXTI: NT=N
INPUTDATES (NT), IEQ;AHT(NT) DES%$ (NT)
D$=DATES (NT)
GOSUB 2440
IFFLAG=1THENNT=NT-1: RETURN
P(NT}=IN
JES(NT)=LEFTS(IES, 1)
IFTES(NT)="I"ORIES (NT)="E"THENRETURN
FRINT“INCOME OR EXPENSE?
X=USR(X): IFX=E7THENSTOP
PRINTCHRS (
IFX=69THENIE$(NT)="E“ RETURN
ég%g?STgENIES(NT)-"I“ RETURN
REM CHECK~DATE SUBROUTINE
FLAG=0
IFLEN(D8) <OBTHEN26QQ
IFMIDS (DS, 3, 1)C>"/ "THEN2600
IFMIDS (DS, &, 1)<>" /" THEN2600Q
GOSUB2300
IFMM>12THEN2600
IFDD>3LTHEN24QO
IFSI=0THENIN=0: RETURN
IFMM=0THENIN=~1: RETURN
FORIN=1TONP-1
IEP?*IN)(=SIANDSICPS(IN*1)THENRETURN

PRINT"DATE NOT WITHIN RANGE OF PERIODS IN DATA TABLE"
PRINT"DATE MUST BE IN FORMAT ‘MM/DD/YY’. FOR EXAMPLE, "
PRINT"4TH OF JULY 1979 WOULD BE ‘@7/04/7%°.

FLAG=1: RETURN

REM__EXPENSE-INCOME SUBROUTINE

IF IES(J)="E"THENEAL (I)=BAL (I)-AMT(J)

IF TE®(J)="I"THENBAL (I)=BAL (X)+AMT(J)
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RETURN

REM BALANCE SUBROUTINE
FOR I=iTO1

INPUT BAL, N

IF NSONP THEN NS'NP

PR .
PRINT"BALANCE FORWARD :*“; BAL
PRINT ’

PRINT “PERIOD BALANCE";
PRINTTAB(25) ) V=== m——a e oo b i
BAL (1)=BAL,

FOR I=iTONS-L1

IF I>1 THEN BAL(I)=BAL(I-1)
FORJ=1TONT

IF P(J)=0 THEN GOSUB 2649 : GOTO02900
IF P(J)=I THEN GOSUB2640 : GOT02900
IF P(d))O THEN 2900

GOSUB3000

IFFLAG=1THENGOSUB24640

NEXTJ

PRINTPt(I+1)J" v, BAL (T

COSUBJ3l10

NEXTI

022833800

REM EACH—MONTH SUBROUTINE
DD=VAL(MID$(DATE$(J) 4.2))
Di=VAL (MIDS (P$(I), 4, 2)

DEGVAL(HIDQ(PS(I+1):4:2)
IF LEFTS(Pt(I):2)=kEFT$(P$(I+1):2)THEN3079

mn
r

2THENFLAG=1
IE DD>=D1ANDDDCD2THENFLAG=1

-RETURN
REM HISTOGRAM SUBROUTINE

I;gs#(I)CSTIETHENalé
FORJ’LTOINT((BAL(I)/ST)+ 3)

PRIN N
IE;%S(I))S?THENGELO

GOTO3210
IFBAL (I)>==ST/2THEN3210
PRIN;TAB(40+INT((BAL(I)/ST)+ S)y

PRT
IFPOS(I)>=40THEN3210
GOTO3180

RINT

RETURN :
REM_ PERIOD-DETAIL SUBROUTINE
FORI=LT0100 NEXTI: INPUT D%

2 GOS8

UB2460
IFFhAGﬂlGOTOSGOO
BSL(%)HO
g§§NT"DATE" “EXP/INC", "AMOUNT", "OESCRIPTION"

FORJ=1TON

IFP(J)HOTHEN3460

De=DATES (J)

GOSUB2300
FP(J)=IANDSI>=SJTHEN3460
IFP(J)2>OTHENS

888853000 IFFLAG=0THEN34BO
PRINBDATEQ(J):IES(J) AMT (J), DES$(J)

FRINTTAB(28)) " =———me———— "
;E%u;“BALANCE FOR PERIOD: ": TAB(28); BAL(I)

4
m

.REM_ DELETE-TRANSACTION SUBROUTINE

FORI=1T0100 NEXTI: INPUT DESS$
FORI=4TO
IFDES$=DES$(I)THEN3660

NEXTI

PRINT"TRANSACTION RECORD NOT FQUND: “;DES%
RETURN .

P(I)=P(NT)

DATES(I)=DATES(NT)
IES(I)=IES(NT) 38




AMT (I)=AMT (NT)
DESS(I)=DES$(NT)
NT=NT-1

URN
REM STATISTICS SUBROUTINE
gFNSCLTHENRETUR

8X=0
g8Y=0
X2=0

XyY=0
FORI=I1TOI1+NS
SN=SN+1
SX=SX+I
X2=X2+InI

SY=8Y+BAL (I}
XY-XY+I*BAL(I)

A-BN*XZ-BX&S
B (SN#XY~EX#8Y) /A
PRINT "SLOPE IS "; INT(B):; " (DOLLARS) PER PERIOD"“

ETURN
REN TRANSACTION-LIST SUBROUTINE
PRINT" TOTAL NUMBER TRANSACTIONS: “; NT
ggINT“DST%" "INC/EXP" “AMOUNT“ “DESCRIPTION“
ERIN;DATEQ(I);IE‘(I)nAMT(I):DES!(I)

RET
REM DISK RETREIVAL SUBROUTINE
FOR I=iT0100: NEXTI
INPUT"NAME" NAME
EgNAﬂggéﬁoétANDNeHE‘()DZSANDNAMEO<>DSOTHENRETURN
[
PRINT“DISK FILE FOR “; NAMES; " OPEN"
INPUT#&, NT
FORI={iTONT
INPUT#4, P(I) )
INPUT#E, DATES(I)
INPUT#6, IES(I)
NPUT#6, ANT(I)
NPUT DESS(I)
PRINT DATES(I), TES(I), AMT(I), DESS(I)
NEXT I
DIBK CLOBE, &
PRINT
;E%ﬁ;;FILE LOAD COMPLETE - "i NAMES:PRINT
EM_ DISK FILE SAVE ROUTINE
FORI=LT NEX T
INPUT"NAME" ) NAMES
IFNAHE‘C)DL‘ANDNAHE'<>DEOANDNAHE’()DG'THENRETURN
DISK OPEN, &, NAMES
PRINT;DIBnTFILE FOR "; NAMES) " OPEN"
FOR I-LTONT
RINT#6, P(I)
RINTﬁb: DATES (I)
PRINT#&: IEs(I)
PRINT#&, AMT(I)
PRINT#6, DESS(I)
NEXT I
DISK CLOSE, &
PRINT
PRINT"FILE SAVE COMPLETE ~ ") NAMES: PRINT
RETURN

39



JOYSTICK =~-- )
This program will run on any machine with joysticks. The progam

is a demonstration of the programming and operation of the joysticks.

10 REM PGM NAME = JOYSTK
20 REM TESTS 2 JOYSTICKS SIMULTANEOUSLY !
3@ REM PROGRAMMED BY L. KREBS OM 92.8i.79
3i REM
32 REM
33 REM
42 DIM K(20),P$(1@)
S8 FOR I=1 TO 1@ :REM INITIALIZE ARRAYS
68 RERD P$(I);
72 NEXT I
82 READ Q%$(1),R$(1) :REM GET ACTION MSGS + PLAYER MSGS
99 READ Q$(2),R8$(2) :
92 FOR I={ TO 18 :REM GET DECODE COMPARE UALUES
S4 READ K(I)
96 NEXT I
97 Y1=59 :
108 POKE 2073,36 :REM DISABLE CTRL-C
118 POKE 57888,128 :REM STROBE PLAYER "AT, ROW?
126 AA=PEEK(STRS88) AND 31 :REM USE ONLY BITS 9-4
124 POKE S57@88, 16 :REM STROBE PLAYER "B", ROW 4
126 BB=PEEK(57388) AND 248 :REM USE ONLY BITS 3-7
123 Z=9
138 A=AA AND 3@ :REM REMOVE ACTION KEY ON BIT @
135 LA=1 :REM ACTIOM KEY IS BIT @
138 X=1 :REM COMPARE UALUES IN K(1) - K(9)
148 GO0SUBL1GO3 :REM DO PLAYER A"
158 AL=Cl :REM SAVE PLAYER "A" POSITION
1B@ AZ2=C2 :REM SAVE PLAYER ARCTION KEY STATUS
188 RA=BB
19@ A=AA AND 120 :REM REMOVE ACTION KEY ON BIT 7
290 LA=128 :REM ACTION KEY IS BIT 7
203 X=12@ :REM COMPARE VALUES IN K(18) - K(18)
219 GOSUB 1P@B :REM DO PLAYER "B®
229 Bl=Cy
23@ B2=C2
252 IF ALI>YL THEN Z=1
285 IF A2<>Y2 THEN Z=1
2688 IF B2<>Z2 THEN Z=1
2685 IF BL1<>ZL THEN Z=1
278 Yil=AL:Y2=R2
282 Z1=B1:22=B2
290 IF Z=1 THEN 350
© 295 GOTG 408 :REM IF NO CHANGE, THEN DON T PRIMT
358 PRIMT R$(1),P8(AL),A8(A2)
368 PRINT R$(2),P$(BLl},08(B2)
385 PRINT "PRESS 'A’ TN ABORT"
378 PRINT »
408 POKE S7?B82,2 :REM PRESS "A" TO ABORT
428 IF PEEK(S57289)=54 THEN S9g@
442 GOTO L@@ :REM GO DO EVERYTHING AGAIN !
$38 PRINT “ABORT"
318 RUN"BEXECH
1802 REM SUBTROUTINE TO CHECK A JOY STICK
1810 Cl=18 :REM ASSUME ERROR UNLESS CHARNGED
1822 FOR I=1 70 9
103G v=X+I-]
1946 IF A=K{Y¥) THEM Cl=l
1959 NEXT 1 .
1118 C2=1 :REM ASSUME ACTION NOT PRESSED
1120 IFCAR AND LAY <> & THEN C2=2 TREM CHECK ACTTON KEY




1128 RETURH

1538 REM

1335 REM

2000 REM POSITIONS AVARILABLE

2881 REM NOTE: POSITION *Z" IS THE ERROR POSITION
2918 DATS A,B,C,D0,E,F,G,H,I1,2

2920 DATA “NORMAL",’ A’ POSITION =
2039 DATA * ACTION ",’ B’ POSITION =
2048 REM PLAYER "A” DECODE R-I
2650 DATA 16,20,4,12,8,10,2,18,8
2358 REM PLAYER "B" DECODE A-1I

298¢ DATA 32,48,16,80,54,72,8,40,3
3888 END

SE

cap
ope

18

2a

30

4@

=1o)

(=]3]

120
1109
129
122
130
134
136
138
148
150
168
- 178
288
219
229
238
240
259
268
300
31

322
333
340
358
389
379
389
339
429
4l@
428

T TIME OF DAY ----

This program will run on all machines with graphics and real time
abilities. It shows updated time every second.
rating system 1is needed to set up internal cl

REM SET TIME OF DAY PROGRAM

REM
PRINT: INPUT "TIME (H,M,S) *; H,M,S

T = 9480
POKE T,H: POKE T+l,M: POKE T+2,S

REM

REM DISPLAY TIME OF DAY & TRIP TIMER IF ON
REM

T = 3480

C = 224

H = PEEK(T): M = PEEK(T+1): 5 = PEEK(T+2)

IF PEEK(C-1) = @ GOTO 148

HT= PEEK(C): MT= PEEK(C+1): ST= PEEK({C+2)
PRINT HT;":";MT;":";ST,

PRINT H;™:*;M;":°;S

IF PEEK(T+2) = 5 GOTO 158

GOTO 1392

REM

REM TURN TRIP TIMER ON

REM

C = 224 .

POKE C,8: POKE C+1,@: POKE C+2,5

POKE C-1,1

GOTO 199

REM

REM ACTIVATE PIA EVENT INPUTS

REM

REM SETUP "STATE OF INTEREST" BITS
POKE 9392.254: REM PIA 1 A, LOOK FOR BIT @ = @

POKE 93896,253: REM PIA 2 A, LOOK FOR BIT | = O
POKE S40@,251: REM PIA 3 A, LOOK FOR BIT 2 = 0

REM SETUP MASKS

POKE 236,1: REM PIA LI A, BIT 9
POKE 234,2: REM PIA 2 A, BIT !
PCKE 238,4: REM PIA 3 A, BIT 2
REM FERMIT * RTMON' TO RUN
POKE 222,11

END

0sS-65D V3.1
ock hardware.

HC

41
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DIGITAL CLOCK ===-

will

This program will run on machines with real pime clocks
graphics. It is a digital clock updating time every mi

appear on the screen after time has been set. 0S-65D

operating system is needed to run the internal time hardware.

S DIM2¢(3,1),6(3,3),C(8,3,3):M=1:POKE2073,896: FORI=BT03: READZ( I, 1) : NEXT

32 FORI=ATO3:FORI=0TO3:READG(I, TI:NEXTT,I

33 FORI=BTO0S:FORJ=0T03:FORK=0TO3:READC( I, J,KI:NEXTK,J,1

48 FORI=1TO308:PRINT:NEXT: T=8480: GOSUB3800G: FORI=1TC30B: PRINT: NEXT
58 GO5UBZ2208G:GOTO50

2008
2ea1
2832
2903
2805
2008
2816
zell
281z
20c8
2930
8a8d
9010
9020
8825
9058
9849
S058

HB=PEEK( T ) : MO=PEEK( T+1 ): SB~PEEK( T+2)

CH=" A.M.":IFHBO>L2THENHO=HB-12:C8=" P .M. "
IFHO=12THENCS=" P.M,"

IFHO=BTHENHE=12

IFM@=M1 THENPOKES4853, 32: FORI=1TO180: NEXT: POKES4953, 42: 50T02B20
M

GOSUBSBRG

IFCH=" A.M."AMDPEEK(54123)=32THENPOKES4123, 146

IFCE=" F.M."ANDPEEK(S54123)=146THENPOKES4123, 32
IFPEEK(T+2 < >SBTHENRETURN

GOTO02820

2=49

Z(3,8)=IMT(HB-/1B):2(2,0)=HB-2(3,8)%18
2(1,20)=INT(MB-18):2(8,0)=MB-2(1,0)%18

IFQ5=0THENS100

IFZ=4THENRETURN

IFZ=3ANDZ( 3, 8 )=0THENPOKES4036, 32: POKES4180, 32: RETURN
FORI=8T03:FORI=8T03:POKEZ(Z,1)+6(I,T>,C(2¢(Z,87,1,3)

1=M@

868 NEXTJI,I:IFZ(Z,81=BTHENZ=2Z+1:G0T09039

1=15151
S@7e
o160
8119
9128
9125
9136
8140
3150

IFZ(3,8)=2ANDPEEK( 541088 )< >32THENZ=3: GOTO9048

RETURN . .
POKES4842, 174: POKES4106, 174: FORZ=0TO3

IFZ=3ANDZ( 3, 8 )=0THENPOKES4036, 32: POKES4188, 32: GOTOS136
FORI=0T03:FORJ=BTO3:POKEZ(Z, 1)+G(1,J),C(212,0),1,7)
NEXTJ,I,Z . :
QS=1:l=54@56: POKEL-63, 128: POKEL-62, 128: POKEL , 147
POKEL+1,144:POKEL+2, 144: POKEL.+3, 146: POKEL+64, 147
IFCs=" A.M."THENPOKEL+B7, 146

9160 L=54083:POKEL, 147:POKEL+1, 180:POKEL+2, 188:POKEL +3, 146

i78e
10zes
19610
10828
16825
12030
1@@40
12859
1B263
1ee7e
16020
10p90
19169
D000
3081D
IBCZE
20935
30843
38050
30058
301355
56

-

U ]
[N
Pl

[2

O

FOKEL+E4, 147: POKEL+E7, 145: RETURM

DATAS4047,54P43,54038, 54034, -64, -63, -62,-61,0,1,2,3,64,65
DATARSG,67, 128,128, L36, 131

DATA3Z, 128, 128,32, 147,32,32, 146, 147,32, 32, 146,32, 135, 135,32
DATR32,32,32,32,32,32, 146,32,32,32, 146, 32,32, 32,32,32
DARTAR3Z, 128,128,32,32, 144, 144, 146, 147,22,32,32,32, 135,135, 32
DATA32Z, 128, 128,32, 32, 144, 144, 146,32,32,32, 146,32, 135, 135,22
DATAZZ,32,32,32, 147, 144, 144, 146,32,32,32,146,32,32.32,32
DATA32, 126, 128,32, 147, 144, 144,32,32,32,32, 146,32, 135, 135, 32
DATA3Z, 128, 128,32, 147, 144, 144,32, 147,32,32, 146,32, 135, 135,32
DATR3Z, 128,128,32,32,32,32,146,32,32,32, 146,32,32,22,32
DATA3Z, 125, 123,32, 147, 144,144,146, 147,32,32, 146,32,135, 135, 3
DATA3Z, 128, 128,32, 147, 144,144, 146,32,32,32, 146,32, 135, 135, 32
INPUT"WHAT I35 THE TIME (H,M,5)";H,M,S

IFHC LORHD LZORHC YIMNTCH G0 T3R80
IFMCBORIMHSSORIE > INT(MIGOTO30202

IFZ<@ORS ,SSCRE4 YINT(3)50TO39080

PRINT: PRIMTH; "HOURS, "M"MINUTES, AND"S°SECONDES" :PRINT
INPUT"IZ THAT &.M. OR FL.M. ;Y

IFLEFTSCYS, Lo="P" " THENH=H+1Z

IFH=24THEINH=1Z -

IFH=1ZRHDLEFTEOYS, L)="A" THEMNH=0

ST=5420: POMEST, H: POKEST+L , M POKEST+Z, S: RETURN

o

nute. The
v3.1 HC

and
cloek




FLASHER ===

This program runs on all graphics machines except the C1P. This
BASIC program loads a machine level program into memory by the use of
DATA statements and then runs it. The program flashes random graphics
and color (if machine has color hardware) on the screen.

1 FL=PEEK(57088):G0SUBE@000
2 POKE2@73,96:POKES7@88, L

10
20
30
40
Se
g5
68
70

PRINT*TO ABORT PROGRAM, PRESS ‘CTRL .°
PRINT*PRESS ANYTHING TO BEGIN7?! " :INPUTYS
BE=INT(RND( 1)#9)+208: LE=INT(RNDC( 1 )#(216~BE))+1
CH=INT(RND( 1)#128)+128: IFRND( L) >.45THENBE=BE+16
POKE 16336, BE: POKE L6337, LE: POKELE338, CH
IFPEEK(570@88)< >FLGOTO79
POKESE832, 5: X=USR(X): 60T030

POKESE832, 1: END

0000 POKEBSSS,211:POKEBISE, 683

60010 FORI=16339T016372:RERDA *

60020 POKEI,A:NEXT:RETURN

600830 DATAL?72,209,83,174,21@,63,173,288,63, 141,225,63
60040 DATAR142,0,208,173,224,53,24,10S5,1,141,224,83, 144
60050 DATA242,238,225,63,136,152,208,235,96

THEME «=--

This short program plays the Star Wars theme through the tone
generator. The tone generator is the only special hrardware that {s
needed to run the program. ‘ :

1 POKES&33L, 7

10 DEFFNA(C)=(49132/(27(C/12)%220))

20 FORJ=1T02:FCRI=1T048

30 RERDA:POKES7E59, FNACR)

49 NEXTI:RESTORE:NEXTJ

59 £

108 OATAL L, 4.8,8,8,8,8, 86,3, 3,13,13, 13

110 DATAS, 8, 3,8, 8,8, 5 5, 3,413,143, 13, 3,88, 8,8, 8

120 DATRG, 3,6, 3, 2, 3 3, 2, 3, 1080, 1090, 1000, 1209, 1000, 1608

KEYS =wea

This program requires DAC hardware to operate. It is an assembler
program and must be typed in through the assembler editor, assembled
to memory by typing A3, and then started by typing "!GO 317E". After
the program is started the keyboard becomes musical, sending various
sounds through the DAC output. Note, there is no exit for this
program,

12 »=$317E

20 LDA #SFF

29 STA $DF@O

4@START LDA $DFOQ

50 TAX

BELOOP  ADC $29,X

78 STA SDFOL

g0 DEX 43
90 BNE LOOP
190 STA LOOP+1

i1@ JMP START



PLANE BANNER =we=
This program can be run on any graphics machine except the
The program is a demonstration of animation. If the program is to

run on a color system, please refer to USR(X) for 'eolor backgrounds,
NOTE: On non disk based systems you must delete all disk calls

(DISK!"CA 4FD0=36,1").

REMss PLANE BANNER sese 410 POKEL, 237

18
20 DIMAC2S) - 420 POKEI+D, 18

25 FORI=1T02@:READA(I):NEXT 430 POKEI+D-6,7

38 PRINT:PRINT:PRINT:PRINT 440 GOSUB12@0

38 PRINT® = 0.S.I. COMPUTERS® 448 POKEI-21,32 -

4@ FORI=1T022:PRINT:NEXT 445 POKEI+D-23,12

45 POKESE832,6 45@ FORJ=1TOS@:NEXT

SO D=d4@S6:TS=12:GR=6 480 POKEI, 32

60 DISK!'CA 4FD@=36, 1*:POKE20433, TS:X=USR(X) 470 POKEI+D, 12

80 FORI=549765T0SE200 588 NEXT

3@ POKEI+D,GR:NEXT : £09 GOT0202020

84 K=S53700 1008 FORU=7T020

S5 Ke=K+D:GOSUB11@0 1018 POKEI-V,A(U)

180 FORI=S491ST0S4937STEPZ 1820 NEXT :

11@ POKEI+D,@:POKEL, 1S 1832 RETURN

120 NEXT 1100 FORI=LTOLE

200 FORI=54464T054494 , 1110 POKEK+I,I

2108 POKEI, 237 1120 NEXT:RETURN

215 POKEI+D,2 ' 2000 FOR1=1T030@0:NEXT

220 FORJ=1T0OS@: NEXT 2005 FORI=S4915T0S4937:POKEL, 32: NEXT
230 POKEI, 32 2910 X=USR(X)

249 POKEI+D, 12 2100 END

250 NEXT S@00 DATA32,32,32,32,32,32
300 FORI=S3982T0S39S2STEP-L 5190 DATAE3,67,73,72,80,65
310 POKEI, 239 $200 DATAS2,7L,32,82,79,76,79,67

320 FORJI=1TOSO: NEXT
330 POKEI, 32

340 NEXT

400 FORI=54208T0S4238

«

AC wwe= : '

This program will run on any machine with CA-12 remote AC control
interface and ‘0S-65D V3.1 HC operating system. The program needs an AC
driver in memory before the program is typed into the computer.(See
color and AC manual.)

1@ REM AC CONTROL PROGRAM
29 REM (WITH EMBEDDED AC CONTROL DRIVER)
30 REM SETUP VECTOR TO ' ACTL' CODE
4@ POKE 548,127: POKE 548,50: REM $@224 = $7F, $32
S8 REM
6@ REM PRESET STATUS TO 64 CHAR DISPLAY
. 786 POKE 248,1: REM §F3
8@ REM -
90 REM OPERATOR INTERFACE FOR AC CONTRO
190 INPUT °DEVICE, COMMAND NUMBER "; N, M
112 ACTL N,M: GOTO 1l@@
120 REM
130 REM MINI LIGHT SHOW
140 NN=BS: BR=66: LO=87: REM ON: BRIGHT: LIGHTS ON
150 FF=58: DI=£9: AF=7@: REM OFF: DIM: ALL OFF
200 ACTL 1,2,3,12
219 ACTL NN
220 ACTL L,FF,2,FF,3,FF,12,FF
220 ACTL 12,NN,3,NN,2,NN, L,NN
249 ACTL L,2,3,12
ZEB FOR I=1 TO 19

89 ACTL DI
70 MEXT I a4



MACHINE CODE KALEIDOSCOPE wwaw

This program will only run on color systems., It is
program and must be typed in through the assembler edit
to memory by typing A3, and then
Depressing the "E" will return you to the assembler editor.

10

20

30

40

S0

=1%]

70

80

S0
100;
L1RCLERR
120 '
130

140

150

168
170LO0OP
190CHAR
1se
208CoL0
2@
229
228
249
258
260
270
2689;
230START
390

318

329
220
343;
352BCOL
260
3TALOOPL
330
338

400
412
422CONT
430
44@
450
466;
470
430

420
528

fl i
)

—
(a2 B R B U SO )

1 an a g
[T T (T}

i KALEIDOSCOPE
i DAVID E. TEWKSBARY

“=$4000
TEMP=$3FDO
DUMM=$3F D8

COUNT=S3FEAR

COUNT2=$3FEB

CH=$3FEC

NUMB=$3FED

LDA
STA
LDA
5TA
LDX
Loy
LDA
5TR
LDA
STA
INX
BNE

CINC

INC
DEY
BNE
RTS

LDA
STA
JSR

LDA

STA

LDX
LDA
STA
INX
CPX
BNE
LDA
CPX
BNE
LDA
STA

LDA
STR
LDA
P

BMNE

JSR
LDA
5Ta
RT3

#3500
CHAR+2
#S8EQ
CoLO+2
#Q

8

#32
$D000, X
8
SEDBQ, X

LOOP
CHAR+2
CoLOo+2

LOOP

#4
$DEQQ
CLEAR
#36
2073

#1
#3D4
TEMP, X

25

CONT

#3E ,
#38

LOOPL

*0

COUNT

#16
3DF00 -
3DFO0
#54
CCLADD
CLERAR
#1
BDECE

started by typing

=g H
S80TOLADD
€39

£008

s10
5201
630

B40
559;
660

570

zee
590
729

710

720
739;
740

750
780;
770

7808

720
500;
G810

820

830
248;
3EQBROW
860
870LO0P2
380

832

389

318

920

330

240

350

559
370;
380

339
1282RANDOM
1210
iR20
1932
1940
1858;
12583
1A7BROWADD
1539
1228
L1e9
Y]
Loz
LLID0OKAY
114

an
or,

assembler
assembled

"I1GO 4025".

INC
LDv
CPY
BEQ

LDA
STHR

LDX
LY
JSR

LDX
Loy
JSR

LOR
3TA

INX
INY
JSR

LDX
LDy
JSR

LO¥
Loy
LDA
STA
INY
STR
INY
INX
CPX
BNE
Loy
3TY

LDy
LDA
ADC
DEY
BNE
oRA
STh

INC
LDy
CcrY
BME
JmE

DA
Ta

DTN

COUNT
COUNT
#9
BCoL

#63
MUMB

¥l
#5
SUB

#3
*7
ADD

#B5
NUMB

SUB

#2
%6
ADD

#1
*1
TEMP, X
DUMM, v

DUMM, v

*9
LOOP2
*0
COUNTZ

$S
H
oMM, vy

RANDOM
#1283
CH

COUMT2
TOUNT2
COUNT
DKAY
COLADD

#B65
HUMB

45



©1188; _ 1400 - INY 1550 INX

1180 LDX 48 1418 ISR A Y
1179 LDY #17 1420; 5o tgsg i;ﬁ CH
ii:g- ISR SUB iifg tgx #15 LB6BOPOKEZ STA SEQO0
; Y #23 : A 0200
1290 INX 1450 JSR ADD i$§3p°“5 gg? *3
1210 INY 14883 1712 BNE MOUE1
i200; o noo 180 I srzo TP RoKARE
3 | 1730:
1250 LDv v2 et iTdoAnD  LhR SRR
£008; cL
1260 JSR ADD iSLODCNER LDA SDE@@ 1323 ADC NUMB
127e; isz2e EPL DONER 1770 STA $3FDO,Y
1280 INX LS30TIGHT2 LDA $DEQQ 1790 BCC RIGHT
1290 NV 1540 BMI TIGHT2 pd INC $3FD2,X
1300 JSR SUB 1550 LDY #1 IaaaRIGHT RTS ’
1310; 1580 LDX #9 15810
1320 LDA #63 LISTOMOVEL LDA DuUMM,Y !
1330 STA NUMB 1580 STA POKE+2 18205U8 oA $3FDa. ¥
1342; 1590 cLe l?i SBC NUMB
1358 LDX #1L 1600 ACC #16 1: 2 STA $3FDB,Y
1360 LDY #18 L1618 STA POKEZ+2 1859 BCS RIGHTZ
1370 ISR SUB L620MOVE2 LDA DUMM, X La8@ DEC $3FDO, X
1380; 1639 STA POKE+L. 1872 ’

1390 INX 1540  STR POKEZ2+l 188ORIGHT2 RTS

RANDOM SQUARE e===- :
This is a short graphics demonstration program. The program 1is
compatible with all graphics machines except the C1P. If a color unit
is used, then the program "USR(X) for color backgrounds" should also
be used. If the computer system does not have a disk drive, then the
disk call ( DISKI"CA 4FD0=36,1 ) should be deleted from the program.
NOTE: For more detail see USR(X) for color backgrounds.

10 REM »s PAUL A. JOVIAK e
12 REM s+ RANDOM SQUARE e»
1S POKESE832,6:PRINT: PRINT:PRINT:PRINT

17 PRINT® OHIO SCIENTIFIC:*®

28 PRINT:PRINT" COLOR GRAPHICS"
23 PRINT" ' AND*

25 PRINT” INVERTED VIDEO®

30 FORI=1T020:PRINT:NEXT

4@ DISK!°CA 4FD@=3g,1°

S@ D=40S6:B(1)=1:B(2)=-64:B(3)m-1:B(4)=64
80 FORPS=1TOS

99 FORL=1TO02:H=58318

18@ FORI=1TOLl1STEP2

149 H=H+63:FORK=1T04:Z=H

144 IFK=2THENZ=H+I

| 145 IFK=3THENZ=H+I+I#-64

146 IFK=4THENZ=H+Ie-64

1S8 FORJ=@TOI-1

160 TS=INT(LE#RND(Z))

17@ RS=INT(2S5eRND(TS))

208 POKEZ+J#B(K),TS

220 F=PEEK(S7@68): IFF< >1 THENS@®

258 IFL=2THENPOKEZ+J+B(K)-D,32:G0T0SA@
306 POKEZ+J#B(K)-D,RS ‘

‘508 NEXTI,K,I,L - :

§0@ POKE208433, TS:X=USR(X)

65@ NEXTPS '

808 END 48




this program requires a votrax driver (see Votrax user's manual),.

BLACKJACK ===-
This program will run on any machine with a Votrax unit.

DIMCC13, 4): FORI=1T030: PRINT: NEXT :

B$="PA1L PA1 THVY UH3 UH3 UH3 Pﬁa D E L ER PR1L® :
PRINT"1 vo a:T ANCOTHER CARD": PRINT"2 TO DOUBLE YOUR BET"
PRINT"3 TO_ST "

S$m® OQF SS(i)n“HEBRTS“ ss<a>-"oxanonos"

S$<3>-"CLUBS“ S$(4)="SPADES"

PRINT: INPUT"NuMBER OF P%nvsns (1=-3>"s N

FORT21T043; FORS=E 104  COL, Jome: NEXTY, T

FORT=1TON+1: FORJniTDS PCI, J >-e NEKTJ SHCI>=0: NEXTT
PRINT"ENTER", : PRINT#S3, "I N T ER P

BRINT" vour™) : PRINT#S, Y U R BALS"

PRINT" seTs: " :PRINTHS, "B EH T § PA"

FORI=170380: NEX

E
,PRINT PRINT: FORIniTON : PRINT: PRINT"PLAYER"!

PRINTH#S, "P L A ER PAL1Y: PRINTI:: T=I+20: A$="": GOSUB1671

@ INPUTWCI): IFN( )08"0“(1)(58160T011

101 PRINT: PRINT"GET "*: PRINT#3, EHL T PA@"

102 PRINT" SERIOUS!!";:PRIN T*S.“S ER I RH2 S"

105 PRINT: PRINT: PRINT#5, "PA1_PA1 PAL":PRINT"PLAvEr": : GOTO91
118 NEXT: FORI=1TO4: PRINT: NEXT

120 FORaﬂiTOE FORIL=4TO2: GOSUB1109: PC(Q, I1)>=IC: GOSUB1000

430 NEXTI1i: PRINT
140 GOSUB12083: IFT=81THENGOSU513.5 SN(Q)ﬂl GOTO3989
186 IFIi=3THENT=20+Q:A$="PAL1 P L PAL": GOSUB1671

187 IFI1=3THENGOSUB120@: GOSU

uBi4 G
198 PR%H;"PLRY!R“G* : INPUTC: IFC(iORC>3ORC<>INT(C)GOT019G

200 IFC=10RC=3G0TOR230

220 WCA>alca)Iw2: PRINT#S, "D D UHL UHL B L PR Y UR PR B EH T PRO"
238 IFC=160T0236

235 IFC=3THENPRINT#3,"S T A A1 ¥ Y1 PAi":GOTO300

236 PRINT#3."P L A ER PAR T A K S PHB W UH3 UH2 UH2 N N PRG"

246 GOSuB119@: PCCQ, I1>=IC: GOSUB1

268 LOSUB1208: GOSUB1458: IFV}EiTHENGOSUBi4BG GOT03BB

263 IFIiﬂSTHENSN(Q)Bi PRIN 1 PA1 I N ER PA1":GOTO300
270 Ii=I1+i:PRINT:GOTO

380 FORI=1T0O300: NEXT: PRINT NEXTQ

302 D0=@: DW=@

303 FORI1=1T02: GOSUB14108: PCLQ, I1)=IC: GOSUB188@: NEXT

304 GOSUB120Q: IFT’EiTHENGOSUBi3BS SN(Q)=1 GOTO7ee

306 PRINT#S, RIGHT$(B$, 12> : GOSUBL

308 IFSWC(QI=QTHENDW=DUW+WN{Q)
309 NEXTQ:IFIi'STHENSN(N+1)=1:GOTO?BB
310 IFDN)GﬁNDTiClSGOTOSES

316 IFN=1ANDDW<OBGOTO32S
328 IFDO)DNORTi)iBTHENPRINT#SaB$+" STAH HO“ GOT0690
325 PRINT#S, B$+" A PRO W UH3 UH2 UHE N

326 DQ=9: Di=Q

330 GOSUB11Q0: PCKQ. I1)=IC: GOSUB1000Q

340 GOSUB1200: GOSUB1430: IFTC2RTHENIL=I1+1: Ti=T: GOTO3@?7
350 EOSU91408

EM
7008 FORI-lTOS:PRINT'NEXT
710 FORI=ATON: HCID)=HCI)=WCIY: NEXT
720 IFSN(I)=GGDTO726
721 PRINT#S,"H AH PR1L H AH PAL"
725 PRINT"THE HOUSE WINS <nen:~)"" GOTO?9@
726 PRINT"CONGRADULATIONS TO: ":PRINT
730 S=0: FORI=1TON: IFSN(I)wGGOTD 40
735 PRINT" PLaver"I: H(I)=H(I)+N<I)m2 S=1
740 NEXT
7580 Q@=N+1: GOSUB1200:
760 FORQ=1TON: GOSUBiEGa IFPTC<22ANDT<PT+1G0TO?70
761 IFTO210RSWC@I=1GOTO?70
765 PRINT" PrLAYER"G:H(Q)=HC(Q)+W{Q)»2: Sml
778 NEXT: IFSﬂBTHENPRINT"THE HOUSE! *: PRINT#5. "H AH PAL H AH Pni“
790 PRINT: PRINT: PRINT
800 G=N+1i:GOSUB1200: PRINT"THe House HAD"T: PRINT: PRINT
840 FORQ-iTON GOSUB1200
820 RINT"PL&Y!R"QJ"SCO "TJ“Nac:n"ﬂ(@)a“Houo:nos“H(Q) NEXT
838 PRINT: PRINT: PRINT“Do"t PRINT#S;"D D U PRB"
831 PRINT" vou"::PRINT#S, "y U PRO"
832 PRINT" wanT"::PRINT#S, "W AHL EH2 N T PAB"
833 PRINT“ To": : PRINT#S, "T 00 01 PA®"
834 PRINT" conTINue"::PRINT#S, "K UH N PR TI N Y U®
8335 INPUTVS IFLEFT$¢YS, 1)="yY9G0T078

Note,

4350: Ti=
FORQ=1TON: GOSUB1200: IFT(-T10RT>219NDSH(Q)UOTHENDONDO+N(Q) GOTO309

47



48

PRINT: PRINT“You “*'PRINTﬁS;“V Ui U PRG"
PRINT"May "::PRINT#3, "M 4

oE K NT#S,

PRINT"aT “::PRINTH#S, "RE T T PRO"
PRINT"rHE ":: PRINT#S;“TH UH UH1 PRG" ‘
PRINT"FronT °;: PRINT#S, "F R AHL N T PR@"
PRINT“nasu“' PRINT#S,“D EH S K PAL PAL"
PRINT", mLzmsa'!"%: PRIN s"P L E S PRB"
RUN"BEXEC

PRINTCS: S$: S${IS): RETURN
ICBINT(RND<1)*13)+1 IS=INTCRNDCL>%4)+1
IFCC(IC, IS>)=1G0TO
CCXIC, IS)=1: C$~NIDS<STR$<IC>,2) IFIC=1THENCS="RACE"
IFIC=11THENCS="JRCK"
IFIC=12THENCS="QUEEN"
IFIC=13THENCS$="KING"
IFICO10THENIC=18

RETURN

IC=0: T=Q: FORI=1T05=IFPC(Q:I)=1THENIC=IC+1
T=sT+PCCQ, I): NEXT

IFICﬂGTHENRETU N

FORI=4TOIC: IFT+10>21THENRETURN

T=T+1@: NEXT: RETU

PRINT#3, "B L AH 1 Ea K PH. J J EH3 HH1 K PRB"

PRINT: PRINT"BLHCKJHCK"“ NT: R

PRINT#3, "B AH1 S TPEE D" PRINT PRINT“BUSTED"“ PRINT: RETURN

H O _I1 NG
0NT-16070147841480:1490:1500:1510;1520:1539;1540;1558
ONT-18G0T01560. 1579, 1588, 1590, 16080, 1610, 1620, 1630, 1640
ONT~19G0T016709, 1679, 1678, 1670, 1670, 1670, 1678, 1670, 1670, 1670
ONT-28G0T01670, 1778, 1780,

As=A$+"T IU IU U1 Ui PA1": GOTOL1800
As=A$+"TH TH R E ¥ PA4": GOTO1800
As=A%$+"F 01 04 R PR1": GOTO1800

A$=As$+"F AH2 _AH1 I3 ¥ V¥V V PA4L": GOTOlSBO
As=A$+"S I I3 K PAO S PA1": GOTO1
R$-ﬂ$+"8 EH3 EH2 vV EHZ N N PRL1": GOTOiBOG
As=A$+"A2 A2 AY T PA1":GO0TOi80Q
As=A$+"N AHL EH2 ¥ N PA1":GO0TOi800
AS=A$+"T AEL EH N PA1": GOTO1800
AS=A$+"UH3 L EH1 Vv EH2 N PAi":G0OTO18080
As=A$+"T W EH L _V PA": GOTO01800

As=As$+"F 04 R T E N PR":G0T0O18@0
AS=AE+" VT E N PAR": GOTO1800
As=As$+"S Il K S T E1 E1 N":GOTO18@09

As=A$+"S EHL v EM3 N T E1_E1 N*:GOT01800

A$=A$+"A1 AY Y1 T PAR E1 Ei N PA":GOT01800

A$=As+ "N AH2 I3 v N T E1 E1 N PR1":GOT01800

A$=A$+"T W EHL N T E PA@"

gNT~ 1950701803,1683,1690.1739.1710,1720.1?33,1?48,1?sa,1?69
AS=AS+" W UH2 UH2 N N PA1"

As=As+r T

A$=A$+" T :

As=As+ F 01 01 R PA1.:GOTOLS
A$=As+" F Y

A$=A$+" S

A$=Ag+" S N

Ag=Ag+" f2 A2 AY v T PA1": GOTO1900

Ag=As+: N AHL EW2 ¥ N PR1.:GOT01800

R$=H$+"TH ER T E PA4": GOTOL800Q
A$=A$+"TH ER T PR W UH3 UHE UH2 N N PA1": GOTOL1800
A$=A$+"TH ER T E PRG ":GOTO1470

PRINT#3, R$: RETU
IFC=10RC-360T0830




Telecom Test =--

This program should be used with C2-4P's and C2-8P's with the
universal telephone interface option. (CA-15) to test and demonstrate
the versatility of this comprehenisve interface board.

1 REM TELCOM TEST PROGRAM

10 DIMNCLS), NSC18), DC16)

38 DATR 238, 222, 190, 237, 221, 189, 239, 219, 137, 215

S2 DATA 231, 183, 126, 125, 123, 119

SSOATA L2 4,56,7,3,3,0,% %A.8,C.0

S6 FORIw1TOL6:READNCI) :NEXTI

S7 FORI=LTOLS:READNSCI) I NEXTI

100 A=63488: FORI=ATOR+SSTEP2: POKE], 255 NEXTI

188 FORI=A+1TOA+7STEP2:POKEL, 8:NEXTI

110 OATA 63, 13, 240, 293

129 FOR IsATOA+7STEP2:READS:POKE I, B:NEXTI

130 FORI=A+ATOA+?STEP2:POKE], 6: NEXTI : POKES3424, 255

133 POKE 63496, 3:POKE 63496, 14%5:REM ACIA

14@ PRINT“L = ORIGINATE CALL PULSE DIALER

142 PRINT™2 » ORIGINRTE CALL TONE DIALER

144 PRINT3 = HANG UP*

149 PRINT“4 = DECODE TONE INPUTS"

146 PRINT"S = END PROGRAM & HANG UP“

147 PRINT"S = CALL MATIONAL WEATHER SERVICE*

148 PRINT"? = CALL TIME SERVICE®

149 PRINT"S = RUTO ANSWER MODE"

130 PRINT"9 = FORCE OFF HOOK AND 'YOUR FUNCTIONM*

200 INPUT"COMMAND*; C

210 ON C GOTG 19919, 1849, 2009, 5209, 9999, 5020, 5050, 5098, 5092
220 GOTO 200

1930 REM ORIGINATE.

1010 INPUT"NUMBER PLEASE"; As

1020 L=LENCAS):E=t:POKE 63499, 9

1020 FORJ=LTOL

1049 FORI=LTOLS: IFMIDSCAS, J, L)sNSC I THEND(JD=NC]) :E=d

1088 NEXTI:IF €=1 THEN GOTO 1010 ’

1068 w1 :NEXTS

1070 REM # IS NOW IN DC(@) = D(1%) - # OF DIGITS IN L

POKE 63459, 1:REM OFF MOOK

IF Ce1 THEN POKE 6£3488.30:REM PULSE DIAL

IF C=2 THEN POKE 62488, 29:REM TONE DIRL

REM WAIT 1 SECOND

0=6@: GOSUBE00?

REM BEGIN-OIAL

FORI=1TQL : POKES3494, D(1) : Dl : GOSUBERRY : POKEE3494, 253 : D=1
1160 GOSUBBARO :NEXTI:GOTO140

REM HANG UP PHONE

2019 GOSUB 9099:G0T0140

5200 AF=“3311242":C#2:00T01020

-S8S0 ASE"4711212%:C»2:G0T01220

6209 REM ANSWER MODE

6010 PRINT"3 = TAPE REC. *

8018 PRINT"4 = MODEM RCV. "

8020 PRINT"S = TONE DECGCOER®
6038 INPUT™YOUR INPUT FUNCTION™;R
6060 PRINT"Q = NO QUTPUT"

6063 PRINT*1L = VOTRAX CUTPUT®
6070 PRINT®2
8073
50890
6@%0
6094

GhEERSSE

= AUX QUTPUT"
PRINT"2 = TAPE PLAYER CQUTPUT*
PRINT"4 = MODEM QUTPUT™
PRINT*3 = TONE GEN. OUTPUT

INPUT*QUTPUT FUNCTION"; X
6100 POKE 63488, C(Rwg)+X)
6193 IF COS THEN G0TO 6120
6110. Z=PEEK(63488) : 2eZANDL28: IF 2=3 THEN 6140
6129 GO3UB 5080
6130 IF Re3 GOTO 14@
6432 IF Rwd4 THEN PRINT"INSERT 'YOUR MODEM PROGRAM™:GOTQ140
6434 IF R=S GOTO 90901
6149 GOTO 6010
8008 FORT=1TOD:WAIT %6832, 128, 123:WAIT 36332 128 :NEXTT :RETURN -
9000 GOSUB 9@80:POKE 63468, 45
9084 PRINT:PRINT:PRINT"PRESS (#) TO EXIT THIS MOCE & HANG up*
9803 Z=PEEK(63433) : ZwZRANDL23: IFZ>0 THEN 9020
9918 GOTO99eS :
9820 FaPEEK(63492) AND 1%:REM GET OATA AND RESET FLAG 49
9030 PRINT"YOU PRESSED “: NSCF): IFNSCF)=“#“ THENGOSUSSG299 : GOTO140
9940 GOTQI90S
9060 POKE 63498, L:RETURN:REM LIFT HOUK
9990 POKE 53499, 3:RETURN
9999 POKE 53499, 3:EMD



50

Little Guy =~~~

This program will run on any graphics machine except the C1P

with color (optional tone generator)

Using keys 1l-4 you move a

little man around the screen trying to find the door.

S (=2

19 L5=50 TRPEM LOW WHOOP

l2 HS=1@8 :REM HIGH WHOOP

14 55=2 {REM WHCOOF STEP

18 OK=1392 tREM GUY MUST MOVE!!!! OM START

22

30

30

33

io%e
152
23@
30
400
€08
200
700
800
23S
300
3ee

DEF FNR(X)=INT(X#RND(SD))
INPUT* INPUT SEED";SD

GOTO 100

POKE 2073,173 : POKE 56832,1 : END
FORL=BTO35:PRINT : NEXTL

POKESE832, 4

A=40S6

BL=l4
FORL=532468T0S5295: POKEL+A, BL : NEXTL

GOSUB3000@:REM »»+ MAKE A RANDOM DOOR #=s
GOSUB3@100:REM »#s MAKE A LITTLE GUY w=a

GOSUB31000: REM ss» LET THE USER MOVE
END

S8 REMsws RANDOM DOOR ses

29 DX=FNR(32)

10 DY=FNR(32)

32020 RD=53248+DY#64+DX
30030 POKERD+A,C
3005@ RETURN

300
301
381l
sl
39l
30L

99 REMsas LITTLE GUY ses
Q@ GX=FNR(32)

19 GY=FNR(32)

20 LEwE3240+CY+84+GX

30 IF LG=RD THEN 30100
49 POKELG, 240

30158 RETURN

30200 REMaes MOUE LITTLE GUY UP(L) sas
30210 POKE LG, 32

30220 IF GY<>@ THEN 30230

30222 G'f=31

30224 LG=LG+1984

30226 POKELG, 240

308228 PETURN

30230 GYeGY-1

20240 LG=LG~B84

29250 FOKELG, 240

30260 RETURN

32300 REM#es MQUE LITTLE GUY DOKWNCS) b

303

1@ POKE LG,32

130320 IF GY<>31 THEN 30330

30322 G'Y=2

30324

LG=LG-1984

32326 PCKE LG, 240

30328 RETURM

302330 GY=GY+l

38340 LG=LG+E4

30350 POKE LG, 240

30360 RETURN

320400 REMass MOVE LITTLE GUY RIGHT(3) ##»
309410 FOKE LG, 32

30420 IF GX<>31 THEN 30430

30422 GX=0

8424 LG=LG-31.

30426 POKE LG, 242

39428 RETURN

3430 GX=GK+]

30448 LG=LG+l

28450 POKE LG, 249

30460 RETURN

30500 REMs4s MOUE LITTLE GUY LEFT(T) ses&.
38518 POKE LG, 32

30520 IF GX<>@ THEN 30530
38522 GX=31

30524 LG=LG+31

38526 PUKE LG,240

30528 RETURN

30530 GReGK-1

38540 LG=LG~1

39550 POKE LG,249

30560 RETURN

20600 REM»ais MOUE LITTLE GUY UP+RIGHT(Z2)
30610 POKELG, 32

30620 IF GY<>@ THEMN 30630
30622 GY=31

30623 GX=GX+)1

30624 LG=LG+19685

30626 IF GX=31 THEN 30632
39628 POKE LG,240

30629 RETURN

306830 IF GX¢>31 THEN 32840
30631 GY=GY-}

30632 GX=Q

306834 LG=L.G-95 -

306836 POKE LG, 240

30638 RETURN

3064C GXmGX+]

306850 GY=GY-{

0660 LG=LG-83

30670 POKE L.G,240

30680 RETURN

30720 REM=as MOUE LITTLE GUY DOWN+LEFT(E)
30710 POKE LG, 32

30720 IF GY<>31 THEN 32730

30722 GY=2
30724 GX=GX-1

| 3@7268 LG=LG-1965

38727 IF GX=8 THEN 30732
32728 POKE LG, 249

30722 RETURN

39730 IF GX<>@ THEN 30740
30731 GY=GY+l

30732 GX=31

38734 LG=LG+3S

38736 FOKE LG,Z248

30738 RETURN

20740 GK=GX-1

3075 GYaGY+l

30780 LG=LG+B3

38770 POKE LG,248

AA7RG RETURN

IR




388la FOKE LG, 32 312@2 50TO 31320

32320 IF GY<>3i THEN 30830 31210 GOSUB32SQe

3e€22 Gv=0 77 31212 GOTO 31300

30823 GA=GXrl 31220 GOSUB 39420

30824 LG=LG-1383 31222 GOTO 31300

20826 IF GX=31 THEN 32832 31238 GOSUB 30809

30822 POKE LG,240 31232 GOTO 31300

30823 RETLRN 31240 GOSUB 3030@

39830 IF GX<>31 THEN 30840 31242 GOTO 31300

30831 GY=GY+l 31258 GOSUB 3a7TQ0

30332 GX=Q 31252 GOTO 31300

30934 LG=LG+33 31268 GOSUB 30529

30838 POKE LG, 240 21252 GOTO 31390

30838 PETURN 31272 GOSUB 3@S09

30840 GX=GX+1 31300 OK=K : REM SAVE OLD DIRECTION
30850 SY=GY+L 31305 IF LGKO>RD THEN 31830

31313 POKEZ2073, L73:REMme 7C WORKS!!! se
31320 REMss MAKE A WHOOP FOR FINDING DOOR
31330 POKE 58332,8 :
31342 POKEST289, 0

13S@ FOR I=i TO S
31360 FOR J=LS TO HS STEP SS

39860 LG=L.G+55

30372 POKE LG, 240

30380 RETURN

30990 REM#ss MOUE LITTLE GUY UP+LEFT(8)
30319 POKE LG, 32

30920 IF GY<>@ THEN 30938 31370 POKES?083, T

30922 Gy=31 _ 31380 NEXT T

38923 GX=GX-1 , 31390 FOR J=HS TO LS STEP -SS

38324 LG=LG+!383 31400 POKE S798S,7

309268 IF GX=0 THEN 3@832 31418 NEXT I

30928 FOKE LG, 240 31420 NEXT 1

30929 RETURN 31430 POKESS832, 4

30930 IF GX<>@ THEN 30940 3144Q FOR J=l TO 3@Q:NEXT J

20331 GY=GY-1 31450 POKE RD+A, BL

30932 GK=31 31460 GOSUR30QCA

9934 LG=iG-33 31465 POKE 2073,S6:REMws NO 7C AGAIN!! se
20936 POKE LG,248 . : 31478 GOTO031300 '
30938 RETURM | 49008 RETURN

30848 GX=GX-1

30350 GY=GY-1

30960 LG=LG-6S

303792 POKE LG, 240

39986 RETURN

31000 REMsss POLL KEYBOARD s«
31005 J=FNR(8)+1

31016 POKE2Q@73,396:REM#»4 NO 1C sss
31020 KB=57388:R1=128

31025 UP=128: D0=32: LT=16: RT=64
31927 UR=192: UL=144:DR=38: DL=48
2123@ POKE KB,R1

31040 K=PEEK(KB)

31050 IF K=UP THEN 312090

31260 IFf KaUR THEN 312i@

31879 IF K=RT THEN 3122@

31080 IF K=DR THEN 31230

31999 IF K=DO THEN 3124@

3110@ IF K=DL THEN 31250

31110 IF K=LT THEN 31260

31128 IF K=UL THEN 31270

31125 IF K=2 THEN 38

31148 K=OK : GQTO 31959

51
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COPIER =e=a

This program will run on any disk based machine with a polled
keyboard except the C1P. It will copy all tracks except track 0. Place
new disk into the drive, and initialize it. Take out the initialized
disk and place the master into the drive while copler is in memory.
Run the copier. Depress the space bar when "OLD DISK" appears on the
screen and the screen will fill with the contents of that track. Now,
remove the master disk and place new disk into the drive. Depress the
space bar and "OLD DISK" will appear again. Replace new disk with the
master and repeat procedure until program runs to completion. After
copying tracks 1-39 for 5" floppies (or 1-76 for 8" floppies), you
must copy track 0 as follows, First type "EXIT" and A% will appear.
Type "CA 0200s13,1" for 5 inch floppies or "CA 0200=01,2" for 8 inch
flopples followed by RETURN and A® will reappear. Type "GO 0200"
followed by RETURN. Type "2" ,then RETURN. Type "RH200",then - RETURN
while the master disk is in the drive. Remove the master disk from the
drive and replace it with the new disk. Type "W4200/2200,8" ,then
RETURN. Exit and depress the BREAK key and then "D", NOTE: copy drive A
to drive A If you have are using a one drive system.

L FORI=1TO30:PRINT: NEXT

2 POKE2073,96

S PRINT"COPIER"

6 PRINT:PRINT"COPIES ALL TRACKS EXCEPT ZERO"
7 GOSUBLERQ@

19 DISK!BS

2@ FCRI=A+10BTOB+100

25 2%=RIGHTS(STRS$(I),2)

268 GOSUBSeas

27 FORJI=1TOX

28 PS$=RIGHTS$(STRS(J), 1)

20 AS$="CA DOGA="+28+","+P$

4@ DISK!As

45 IFC’-BSTHENPOKES?BBB 2:F=PEEK(S7288): IFF()lBTHEN45

. 6@ DISK!CS

58 AS="SA "+2%+", " +PS+"=DRBO./ " +X$(T)

70 DISK!AS

7S PRINT"sssses OLD DISK sssssss*

75 IFC3=BSTHENPOKEST088, 2:F=PEEK(S70288): IFF< >1STHENTS
88 DISK!BS

98 NEXTJ,1

180 END

1908 PRINT:PRINT

19010 INPUT*COPY FROM DRIVE";

1220 IFBS<>"A"ANDB$<>"B" HNDBS() C*ANDBS< >"D*THENLIO1D
1930 INPUT“COPY TO DRIVE";

1040 IFCS<>"A"ANDCS<>"B" HNDCS<)'C ANDCS< >"D* THENL@SO
1045 BS$="SE "+BS:C8="SE "+($8

1983 PRINT:PRINT

1060 INPUT*FROM TRACK";A

1068 IFA>3SO0RACLORAC>INT(AITHENLESGR

1272 INPUT"TO TRACK®;B

1867S IFB>330RBC(BORBC >INT(B)ITHENLIO7Q

1280 IFA>BTHENLRS?

1239 PRINT #swnsss OLD DISK sussssns”

1i20 INRPUT"READY*iQS:IFLEFTS(QS, 1)X>"y" THENRUN

S99¢ RETURN

SP0Q DISK!*DIR "+2%

S108 XsLVALICHRS(PEEK(SSLIOE)))

5200 FORJT=QTOX:X$( j+1 )=CHRS(PEEK(S5109~-T#684) ) NEXT
S300 RETURN

[PPSR NSO S




PROGRAM CONVERSIONS «==-

The ASCII keyboard is located at the address 57343 in memory.
Note, the polled keyboard is located at the address 57088. First, look
through the program for all variables being assigned a value by
PEEKing this location, The PEEK is wusually followed by comparisons
with that variable to determine which key was depressed. The two
things that will differ in programs written for ASCII keyboards and
polled keyboards are, the keyboard is at a different address in memory
and the comparison values are different., Here are 3some conversions
from ASCII to polled done with the help of "The Challenger Character
Graphics Reference Manual",.

100 Q=PEEK(57343)
200 IF Q=177 THEN 500
This is a sample of two 1lines from a program written for ASCII
Keyboards., You must now subtract 128 from the comparison value (this
is a hardware consideration).
177-128=249 .
49 is the ASCII value for a "1" (i.e., ASC("1")=49 ), so the program
i3 looking for a "1" to be depressed on the keyboard. Using page 11 of
the character graphics manual, the code modified for polled keyboards
becomes:
100 POKE57088,128 : Q=PEFK(57083)
200 IF Q=128 THEN 500
EXAMPLE #2
ASCII program:
100 Q=PFEK(57343)
200 IF Q=212 THEN X=1
300 IF Q=198 THEN X=2

SUBTRACT:
212-128=84 ASC("T")=84 (looking for a "T")
198-128=70 ASC("F")=70 (looking for an "F")

POLLED program:
100 POKE57088,16, : Q=PEEK(57088)
200 IF Q=16 THEN X=z1
210 POKES57038,8 : Q=PEEK(57088)
300 IF Q=32 THEN X=2

128 & 232 14 ] ] 1 1
COLUMN ADDRESSIS
C7 Cs ¢ 4 ¢ ¢2 ¢ ce

Y
ONE-
° ! 24 34 4 $4 @ 7 PLAYZR
84 94 94 24 -4 R
5 =2 :
cd L4 od ud &
:é:
L)  § R b 4 Y ) 4
: g pn—
sd odrgd agd wgd 14 «x
-8z -
(4 v ) N L] *
- a e
T™WO-
. ' VEYEYVia' WPEVER PLAYZR
a — e 53
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USR(X) FOR COLOR BACKGROUND ====

This is a BASIC program that sets wup an ASSEMBLER subroutine
under the USR(X) function. The subroutine changes the background color
of the entire screen. Note, if a disk system 1is not wused +then the
BASIC code; DISKI!"CA 4FD0=36,1"; must be removed from the program.

To save the assembler program (created by this BASIC program) on
disk, type DISKI"SA 36,1=4FDO/1" after running the program. This will
let you call the program from disk in any other BASIC program by the
command DISKI"CA 4FD0=36,1" instead of running this BASIC code.

Use the following code in BASIC (after the assembler program 1is
loaded into memory) to exicute the assembler routine. NOTE: this must
be done after the subroutine is in memory.

POKE8955,208:POKE8956,79 _
This is the high and low addresses to tell the computer where the
USR(X) function is located in memory.

POKE20433, (your color choice, 0-16)
This is your choice of color background.

X=USR(X)
This is the BASIC command for jumping to. an assembler subroutine
specified by the previous POKEs,. :

160 FOR!=208432T(20473:READX:POKEI, X:NEXT

200 DATARL62, 14, 169, 0, 141, 242, 79, 169, 224, 141, 243,79, 173, 242, 79
210 DATAR4, 183, 1, 141, 242, 79, 173; 243, 79, 103, 8, 144, 243, 79, 201, 232
220 DATRR40, 6, 142, 8, 224, 76, 220, 79, 96, 8, 2

MEMORY TEST ===

The following memory test is written for 4 and 3K BASIC in PROM
machines. By changing lines 0 and 1 the program is easily adapted to
your particular requirements. This program should be run anytime your
computer "acts funny" as a quick diagnostic.

Y=8191
I;PUT"4 OR 8K"i K: IFK=ATHENY=4093
P=1023

A=233
10 FORX=PTOY
POKEX, @

anF-e

NEXTX
20 FORX=PTQY
22 Z=PEEK(X)
23 IFZ<{OGTHENGOSUB10O
25 NEXTX: PRINT" PASS USING "; @
= Sreien

=Y

100 PRINT"LOCATION"; X; “"WAS": Z; "NOT"; Q: RETURN
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Mini-Floppy Disk Directory

0S-85D VERSION 3.9

-- DIRECTORY --
FILE NAME TRACK RANGE
0SESD3 B - 12
BEXECs 14 - 14
CHANGE 1S5 - 18
CREATE 1?7 - 19
DELETE 20 - 28
DIR 21 - 21
DIRSRT 22 - 22
RANLST 23 - 24
RENAME 25 - 25
SECD1IR 26 - 28
SEQLST 27 - 28
TRACE 29 - 29
2EROQ 3B - 31
ASAMPL 32 - 32

5@ ENTRIES FREE OUT OF B4

18 REM BASIC EXECUTIVE
20 'REM

24 REM SETUP INFLAG & OUFLAG FROM DEFAUL
POKE 6993, X: POKE 8994, X
3@ PRINT : PRINT "BASIC EXECUTIVE FOR 08-65D VERSION 3.0" :

25 X=PEEK(109308):

4@ PRINT "43 OCT 1978 RELEASE"
100 PRINT
110 PRINT “FUNCTIONS AVRILABLE:"

10090
10100
101410

‘PRINT :

REM DISABLE "REDO FROM START"
POKE 2893,585 : POKE 2894.8
PRINT "SYSTEM OPEN" : END

Full Size Floppy Disk Directory

05-85D YERSION 2.8
-~ DIRECTORY -

FILE NAME  TRACK RENGE
56503 8 -8
BEXEC* 9 -3
CHANGE . 10 - 18
CREATE 13 - 14
DELETE 15 - 15
DIR 16 - 16
DIRSRT 17 ~ 17
RANLST 18 - 19
RENANE 20 - 20
SECDIR -2
SEQLST 2 -3
TRACE 24 - 24
ZERC 25 - 26
ASANPL 7-

S0 ENTRIES FREE OUT OF &4

PRINT

420 PRINT "  CHANGE - ALTER WORKSPACE LIMITS"
130 PRINT * DIR - PRINT DIRECTORY"

140 PRINT " UNLOCK - UNLOCK SYSTEM FROM END USER MODIFICATIONS"
10000 REM |

40040 REM UNLOCK SYSTEM -

10020 REM | |

10038 REM REPLACE “NEW" AND "LIST"

10040 POKE 741,76 : POKE 750,78

10058 REM

10060 REM ENABLE CONTROL~C

10070 POKE 2073, 173

10080 REM

5§



19 EEE CHANGE PARAMETER UTILITY UNDER 0S-65D VERSION 3.9

30 PRINT : PRINT "CHANGE PARAMETER UTILITY" : PRINT
35 GOSUB 180@ : REMARK DO EVERYTHING ELSE FIRS
36 PRINT : INPUT ;CEREGE BRASIC’S WORKSPACE LINITS (Y/NY": AS

IF
4@ INPUT "HOW MANY 12 PRGE BUFFERS DO YOU NHNT BEFORE THE WORKSPRCE": B
98 IF B<B OR B>2 THEN PRINT_"ANSWER O, OR GOT

6@ L-igg?@+9:gg?§3é REM L=$317E PLUS Bw$C0B

O 0 170
130 PUT "WANT TO LEAVE ANY ADDITIONAL ROOM": AS
140 IF IDSCAS, 1, 15Oy THEN 179

136 IN EU; "HOW MANY BYTES":B

178 PRINT: PRINT “THE BASIC WORKSPACE WILL BE SET TO START RAT":

188 PRINT “"LEAVING": L—i&é?B*“BVTES FREE IN FRONT OF THE NORKSPHCE“
190 INPUT “IS THAT ALRIGHT":

208 IF MIDS$CAS, 1, 1)="¢" THEN 210

204 INPUT "NEW LOWER LIMIT":L : IF L<12670 THEN 204

206 PRINT L—126?B'“BVTES WILL BE FREE BEFORE THE WORKSPARCE"

8968@)>
228 PRINT: PRINT “YOU HAVE": (MP+1)/4: "K OF RHM"'

In256
240. INPUT "DO YOU WANT TO LERVE ANY ROOM RT THE TOP“:As$
250 IF MID$CAS, 1, 1>LO"Y" THEN 2890

268 INPUT "HOW MANY BYTES":B

U=U-8
2808 PRINT: PRINT “THE BASIC WORKSPACE WILL BE SET TO_END AT":U
299 PRINT "LEAVING": (MP+1i)%256-U: "BYTES FREE AFTER THE WORKSPACE"
300 INPUT "IS THHT ALRIGHT": AS
318 IF MID$C(AS,1,1)="¥Y" THEN 320
312 INPUT "NEN UPPER LIMIT":U : IF U>494132 OR_UCL+3 THEN 312
314 PRINT (MP+1>%236~U: “BYTES WILL BE FREE AFTER THE WORKSPACE"
328 PRINT: PRINT"YOU WILL HAVE":U-L+1i: "BYTES FREE IN THE WORKSPACE"
338 INPUT "IS THAT ALRIGHT":AS$
34@ IF MID$CRS, 1, 15<0%Y" THEN RUN

36@ REM NOW DO THE ADJUSTMENTS

REM
380 POKE432, U-INT(U/256)>%256: POKEL133, INTCU/R56)
390 Pgésiaa;L+1-INT((L+1)/256)*256=POKE121;INT((L+1)/256):POKEL;B:NE“

REM
1029 PRINTY "THE TERMINAL WIDTH IS SET FOR“*PEEK<23)
1030 INPUT “DO YOU WANT TO CHANGE IT C(Y/NX*":
1840 IF A$O"Y" THEN 1190
1850 INPUT “NEW VALUE": WD
1868 IF WD<1i4 OR WD>255 THEN PRINT "BAD VALUE" : GOTO 1050
1070 POKE 23, WD
1080 NC=(INT(ND/14)-1)*14
1090 POKE 24, NC
1100 PRINT : "PRINT "BASIC & THE ASSEMBLER USE": CPEEK(8960@)+1)/4:
1112 PRINT "K WORKSPACES (":PEEK(896@):"PARGES"
1120 INPUT "WOULD YOU LIKE TO CHANGE THIS (Y/N)>":A
1430 IF ASCO"Y" THEN 1170
1140 INPUT "HOW MANY PRAGES SHOULD THEY USE": KK
1130 IF KKCS@ OR KK>191i THEN PRINT -"BAD VALUE" : GOTO 1140
1160 POKE 8960, K '
1170 RETURN
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10 REM FILE CREATE UTILITY OF 0S-65D VERSION 3.0

26 REM

4@ REM EXECUTE:

50 REM

166 REM 3D7E ROGO ZEROQ LDY #0

110 REM 3D89 A26C LDX #12

120 REM 3082 98 TYA

136 REM 3D83 997E31 ONE STA $347E.Y
140 REM 3D86 C8 INY

150 REM 3D8? DOFA BNE ONE

160 REM 3089 EE8S3D INC ONE+2
179 REM 3D8C CA DEX

180 REM 3D8D DOF4 BNE ONE

190 REM 3D8F 6@ . RTS

200 REM

230 DATA 160, 8, 162, 12, 152, 133, 126, 49, 200, 208, 259

240
25e
280
320
330
333
337
340
350
360
370
380
390
400
410
420
430
440
450
460
490
See
510
Sae
536
S48
5S¢0
S7e
580
5%@
600

DATA 238, 133, 61, 202, 208, 244, 96
FORI=15742T01S5759: READD: POKEI, D: NEXT

POKES8953, 126: POKES8956, 61: X=USR(X): POKES9S5S5, 212: POKES8956, 34
PRINT: PRINT"FILE CREATION UTILITY":PRINT

PN=11897

INPUT"PASSWORD": As$: TIFAS{O"PASS" THENEND

PRINT

DEF FNACX)I=164INT(X/140)+X-10+INT(X/18>

DEF FNB(X)=1i@wINT(X/16)+X-164INT(X /16>

DATAR 1.,2,3,4,5,6,7,8,9,A:B,C

PRINT "CREATES AN ENTRY IN DIRECTORY FOR A NEW FILE"
PRINT "AND INITIALIZES THE TRACKS THAT THE NEW FILE WILL"
PRINT “RESIDE ON. THE TRACKS WILL CONTAIN NULLS WITH A"
PRINT "RETURN AT THE END OF THE TRACK. "

PRINT

INPUT"FILE NAME":RS$

IF LENCR$>>6 THEN 418

IF LENCA$)<6 THEN A$=As$+" ":GOTO 440

IFMIDS$(AS, 1, 1>C"A"ORMIDS(AS, 1, 135" 2" THEN420

REM CHECK ALLOCATION + WATCH FOR NEW NAME

DIM RLZC(?76)>

FORI=8TO76: ALACI)>=0: NEXT _

DISK!“CAR 2E79=08, 2": GOSUB100G8

DISK!"CA 2E?79=08,1": GOSUB1008006

REM

REM FIND FREE ENTRY IN DIRECTORY

GOsSuB 2eoes

IF FL=4 THEN DISK!"“S 971" : END
DISK!"CR 2E79=08, 2":\G0SUBi8pge6 /
IF FL=4 THEN DISK!"SH s 222E79/1": END

PRINT"#x DIRECTORY FULL #x%": END

10688 REM

168018 REM SUBROUTINE USED BY ALLOCATION CHECKER

16830 FOR I=PN+6 TO PN+254 STEP 8

10040 IF PEEK(I-6)>=35 THEN 12180

12850 Cs$="": FORK=1T06: C$=C$+CHRS (PEEK(I~7+K> > NEXTK: IFC${OR$THEN10090
10080 PRINT"#% FILE NAME ":CHR$(34>:A%: CHR$(34)>: " IN USE **":RUN
10090 TO=FNBC(PEEK(I))> : T9=FNB(PEEK(I+1))

10095 FORK=TOTOT9: ALXC(K>=-1: NEXTK

1010@ NEXT I

10118 RETURN

200800 REM

200108 REM SUBROUTINE USED TO ENTER NEW NAME INTO DIRECTORY
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20039 FOR I=PN TO PN+248 STEP 8

20840 IF PEEK(I)>=35 THEN 20880

200850 NEXT I

28060 FL=0: RETURN

20086 PRINT : INPUT "FIRST TRACK OF FILE":T@
26090 IF TB<S OR TO>76 THEN 20080

20400 INPUT "NUMBER OF TRACKS IN FILE":NT

20110 IF NT<i OR NT>68 THEN 209100

20115 T9=T@+NT-1

20120 FK=0

20138 FOR K=T@ TO T9

204148 IF ALACKY THEN PRINT"## TRACK":K: "IN USE #%":FK=i
20156 NEXT K

20160 IF FK<O>@ THEN RUN

20170 PG=12

20180 INPUT "12 PRGES PER TRRACK. IS THIS OK":Bs
20198 IF MID$(Bs$.1,1)>="¥" THEN 20220

20208 INPUT "HOW MANY PRAGES PER TRACK THEN":PG
20210 IFPGCOL2THENPRINT: PRINTYNOTE: ALL DEFARULTS ARE SET FOR 12 PRGES!"
20220 FORJ=0TOS: POKEI+J. ASCC(MID$(AS, J+1, 15): NEXTJS
20250 POKE I+6, FNA(TB> : POKE I+7,FNACT9)

20260 FORI=1iTOPG: READP$: NEXTI

20270 FOR I=TO TO TS

20280 T$=RIGHT$C(STR$<I+120),2)

20290 DISK!"IN "+T$ : DISK!"SA "+T$+", 1=317E/"+P$
20310 NEXT I

20320 FL=1:RETURN

REM DELETE FILE UTILITY UNDER 08-65D VERSION 3.0
REM :
PRINT: PRINT"DELETE UTILITY": PRINT

PRINT "REMOVES AN ENTRY FROM THE DIRECTORY":PRINT
INPUT "PASSWORD";A$ : IF AS{O"PASS" THEN END

PRINT

FLAG=® : PN=11897
INPUT “"FILE NAME":R$

4% IF LENCAS$Y>6 THEN 40

47 IF LENCA$YC6 THEN As=As+" " : GOTO 47

%0 DISK ! “CALL 2E?9=08,1"

60 GOSUB 18000 : IF FLAG=1 THEN DISK ! "SAVE 08, 1=2E?9/1" : END
76 DISK ! “CALL 2E79=@8, 2"

80 GOSUB 10000 : IF FLAG=1 THEN DISK ! "SAVE @6, 2=2E?9/1" : END
9@ PRINT “"w “; CHR$<34): A%: CHR$¢34): * NOT FOUND IN DIRECTORY w#w" : PRINT
100 END

10008 REM :

10010 REM SEE IF FILE NAME A$ IS IN DIRECTORY BUFFER

100290 REM

18030 FOR I=PNT TO PN+248 STEP 8

10048 FOR J=I TO I+5

10058 IF PEEK(J)COASCCMID$(AS, J-I+1,4)> THEN 10180
10060 NEXT J )

19079 FOR J=I TO I+S : POKE J,ASC("#") : NEXT J
10080 POKE I+6,0@ : POKE I+?7,@

10899 FLAG=1 : RETURN

g8 18180 NEXT I

10110 FLAG=Q : RETURN



18 REM DIRECTORY UTILITY FOR QS-6350 VERSION 3.0

20 REM

38 NF=8

48 PN=1189?7

S0 DEF FNACX)=1B#INT(KX/L16)+X-16wINT(X/16)
8@ DVmd : Ymi : X=sPEEK(8994)>

9@ IF

X=K¥ THEN 140

100 DVY=DY+1i : Ya=¥Y+y : GOTO 90

110 PRINT "LIST ON LINEPRINTER INSTEAD OF DEVICE #":DV:
1290 INPUT As$ -

130 IF MID$C(AS, 1,1)>="¥" THEN DV=4

10000
18010
10620
10038
10835
10040
10050
10060
100670
10080
10098
104130
10140
11000
110410
11020
11040
11056
14060
110670
11080
11090
11100
14110
11130
11140

REM

REM PRINT R DIRECTORY OUT

REM

PRINT #DV : PRINT #DV, "0S-65D VERSION 3. 0"
PRINT #DV, " ~- DIRECTORY ==" : PRINT #DV

PRINT #DV, "FILE NAME TRACK RANGE"
PRINT #DV,* "
DISK ! “CALL 2E?79=08, 1"
GOSUB 11000
DISK ! "CALL 2E?79=98,2"
GOSuUB 11@00

PRINT #DV : PRINT #DV.NF: "ENTRIES FREE OUT OF 64" :

END

REM

REM READ DIRECTORY OUT OF BUFFER INTO RRRAYS
REM

FOR I=PN TO PN+248 STEP 8

IF PEEK(I>=335 THEN NF=NF+1 : GOTO 114130
Ngmnu

FOR J=I TO I+5

N$=N$+CHR$C(PEEK(J)>)

NEXT J

PRINT #DV. N$; TAB(412): FNA(PEEK(I+6)): TRBC16);: ="
PRINT #DV, TABC17): FNACPEEK(I+?))

NEXT I

RETURN

PRINT #DV
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X)ﬂia*INT(Y/ié)*X-iG*INT(X/iS)
64), TBX(64), TI%CES)

Y=l : XaPEEK(B8994)
86

DvaDV+1 : Ymy+y : GOTO 82

PRINT: PRINT "SQRTED DIRECTORY UTILITY":PRINT

INPUT “SORTED BY NAME OR TRACK (N/T>";2

PRINT “LIST ON LINEPRINTER INSTERD OF DEVICE #"; DV,
6 INPUT R$ : IF MID$CAS, 1, 1)="yY" THEN DVs=s

2$="N" OR 2$="T" THEN 10000

I
110 PRINT "THEN IT WILL BE UNSORTED"

REM
ggn PRINT A DIRECTORY OUT

PRINT #DV : PRINT “DV:“OS-GSD VERSION 3.0"
PRINT #DV, " == DIRECTORY =-' PRINT #DV
;E%NT #DV:"FILE NAME TRACK RANGE "

OISK ! "CHLL 2E79=08, 1"

GOsSuUB 110

ODISK ! "CALL 2E?9=08.2a"

GOsSUB 11000

IF Z8="N" THEN GOSUB 200909

IF Z2¢="T" THEN GOSUB 21000

FOR I=@ TO AY-1

PRINT #DV, NM$CID) TABC12); TBXCI TABCL6) ) "=" TABCL? ) TORCID

N T I
PRINT #0V : PRINT #DV, 64-AV; "ENTRIES FREE OUT OF 64" : PRINT #DV

M
REM READ DIRECTORY OUT QF BUFFER INTO ARRRYS

I=PN TO PN+248 STEP 8
EK<I>-35 THEN 11130 .
PEE PEEKCI+2))+CHRSCPEEKCI+3))

CADIANAODTD
<DDIXIM
Pwvw

[ ]
-‘|I1IZ
220
++MX
AVAVY ¥
VAV PN

mo
I MMmMmmm<Ye3I R nanmmzomn
AIIIOHX

®»

»A

I~

DIIZIIAX R8N

DBV VDZDAHAZZHTROOD
(
l

P ~nO ZH+ <<'€Z|

M=INT(M/2)
IF MIB THEN RETURN
Kafy=q=-

I=]
IFJI)-G THEN 208358

+1
IF _J>K THEN 2002S
GOTO 20840

REM

REN SORT DIRECTOR? BY TRACK
-1

M=INT<M

IF M=© THEN RETURN
J=9 ! KafAV=1-M

=
IF _J>K THEN 21023
GOTO 21040
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410 REM RANDOM ACCESS FILE LIST UTILITY UNDER 0S-65D VERSION 3. @
. 20 REM
3@ PRINT : PRINT “RANDOM ACCESS FILE READ" : PRINT
4@ INPUT "FILE NAME":N$ o
.S58 IF LENC(N$>>6 THEN 4@
78 DISK OPEN, 6, N$
7?5 INPUT "EXAMINE SINGLE RECORDS OR GROUPS ¢S/G)>";R$
?? IF R$="G" THEN 200
78 IF R$<{>“S" THEN 7S
8@ PRINT : INPUT “RECORD NUMBER":R
9@ DISK GET.R
100 INPUT #6, Rs
11@ PRINT : PRINT As
120 GOTO 80
280 PRINT : INPUT “"FIRST RECORD":R@
218 INPUT "LAST RECORD":R9
2280 IF R9<RO THEN 200
238 FOR R=R2 TO R9
240 DISK GET,R
250 INPUT 46, As
262 PRINT : PRINT As
270 NEXT R
280 GOTO 7S

:0 REM RENAME FILE UTILITY UNDER 0S-63D VERSION 3.0

@ REM '

3@ PRINT : PRINT "RENAME UTILITY* : PRINT

35 FLAG=Q : PNw14897

49 INPUT “OLD NAME"; As

45 IF LENCAS)>6 THEN 49

47 IF LENCA$)<6 THEN AsmAg+" * : GOTO 47

SO DISK ! "CALL RE?9=98, 1" '

€0 GOSUB 10008 : IF FLAGe=1 THEN DISK ! "SAVE 08, 1=2E79/1" : END
7@ DISK ! "CALL eE?9=@8, 2"

80 GOSUB 10208 : IF FLAGw1 THEN DISK ! "SAVE 98, 2w2E?9/41% : END
98 PRINT "ww “:CHR$(34); A% CHR$<345: * NOT FOUND IN DIRECTORY s
10@ END

10008 REM

10010 REM SEE IF FILE NAME A$ IS IN DIRECTORY BUFFER

19020 REM

40038 FOR I=PNT TO PN+248 STEP 8

10040 FOR J=I TO I+S

10050 IF PEEKCJI)<OASCCMIDSCAS, J=I+1,4)) THEN 10100

18060 NEXT J v

18072 PRINT "RENAME ", CHR$¢34); A%$) CHR$(34>: : INPUT " TO"; ANS
10875 IF LENCAN$>>6 THEN 100790

10080 IF LENCANS$)><6 THEN ANS=ANS+" " : GOTO 10060

10002 IF MID$CANS, 1,15<"A" OR MIDSCANS, 1,1)>"2" THEN 18870
100685 FOR J=I TO I+S : POKE J, ASCCMID$SCANS, J=I+1,45) : NEXT J
12090 FLAG=41 : RETURN

1018@ NEXT I

101106 FLAG=Q : RETURN



REM SECTOR DIRECTORY UTILITY UNDER 0S-63D VERSION 3.0
REM

PRINT : PRINT "SECODIR" : PRINT

PRINT “"USES 0S-65D’S DIR COMMAND TO PRINT OUT A SECTOR“
PRINT "MARP OF A GIVEN RANGE OF TRACKS" :- PRINT

PRINT : INPUT "FIRST TRACK":Te@

IF Te<4 OR T@>?6 THEN 30 '

PRINT : INPUT “LAST TRACK":T9

IF T9<T@ OR T9>76 THEN 5@

PRINT : PRINT “SECTOR MAP DIRECTORY" : PRINT

FOR I=100+TG TO 100+T9

DISK ! “DIR "+RIGHT$(STR$(I),2)

PRINT

100 NEXT I
110 END ' | s

REM SEQUENTIAL FILE LISTER UTILITY UNDER 0S-65D VERSION 3.0 -
REM :

PRINT : PRINT "SEQUENTIAL FILE LISTER" : PRINT

PRINT *"TYPE A CONTROL-C TO STOP"

PRINT : INPUT "FILE NAME":ARS$

IF LENCR$>>6 THEN 60

DISK OREN, 6, R$

108 INPUT #6,Ds$
4110 PRINT Ds$
120 GOTO 100

REM TRACE UTILITY UNDER 0S-6SD VERSION 3.0

REM

PRINT : PRINT "TRACE UTILITY" : PRINT

PRINT "WHEN BRSIC’S TRACE FEATURE IS ENABLED, BASIC WILL PRINT®
PRINT "OUT EACH LINE NUMBER OF THE PROGRAM BEFORE IT IS EXECUTED"
PRINT

INPUT “ENRBLE OR DISABLE (E/D>":As$

IF As="E" THEN 100

IF As="D" THEN 208

GOTO 40

100 REM

410 REM ENABLE

120 REM

432 REM THIS MUST ALL BE DONE RS ONE LINE!

1408 REM

150 L=2014:POKEL, 32: POKEL+1, 216: POKEL+2, 88: POKEL+3‘234 POKEL+4, 234
1608 END

20@ REM

210 REM DISRBLE

226 REM

230 REM THIS MUST ALL BE DONE AS ONE LINE!

- 240 REM

250 L=2011:POKEL, 24: POKEL+1, 144: POKEL+2, 2: POKEL+3, 230: POKEL+4, 200
260 END ‘
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ég sén FILE Z2EROING UTILITY OF 0S-65D VERSION 3. @
gg EE” TO ZERO OUT DATA BUFFER: EXECUTE THIS:

160 REM 3D7E R@8Q ZERO LDY #0

118 REM 3D8@ R20C LDX #12

128 REM 3082 98 TYA

138 REM 3D83 997E31 ONE STA $317E. Y
140 REM 3D8s C8 INY

1350 REM 3D87 D@FR "BNE ONE

160 REM 3D89 EES8S3D INC ONE+2
178 REM 3D8C CA DEX

188 REM 3D8D D@F4 BNE ONE
%gg REH 3D8F 60 RTS

230 DFITR 160; e, 162; 12a 132, 153, 126, 49, 200, 208, 250

133, 2eg, » 244, 9
230 FORI-15742T015?59 RERDD POKEI, D: NEXT
260 POKEB9 5, 126: POKES9356, 64.: XﬂUSR(X) POKE8955a212 POKEB9S6, 34
285 D F FNACX) =1 @uINT (X 160 +X~16INT (X/16
298 P PRINT"FILE ZERO UTILITY":PRINT
3080 PRINT“COMPLETELV ERASES THE CONTENTS OF A DATA FILE"

: PRINT
328 INPUT “"PASSWORD":A$ : IF RAS<O"PASS" THEN END
330 INPUT “FILE NRME":AS o
340 IF LENCA$>>6 THEN 330

35@ IF LENCA$)><6 THEN As=As+" " : GOTO 358

PN=411897
378 DISK!"CA 2E79-BB;1“ GOSUB 10000
380 IF FL<OO THEN 4@
398 DISK!"CR SE?SHGBaB” GOSUB 10000
480 IE :g-o THEN PRINT "#k FILE NAME NOT IN DIRECTORY #w":END

448 PRINT: INPUT”IS IT A NORMAL 12 PRGE DATA FILE":AAS
420 IF MIDS 1,1)5my" THEN 450

439 INPUT “THEN HOW MANY PRAGES PER TRRCK":PG

448 IF PG<1 OR PG>12 THE 430

4350 DATA 1,2,3,4,35,6,7,8,9,A,B,C
468 FOR I=1 TO PG : RERD P$ : NEXT I
480 FOR I=T@ TO _T9

@ TE$=RIGHT$C(STR$(I+100),2)
g DIgK';SH "+TE$+", Am3L7E/"+PS

’

REM
REM FIND A$ IN DIRECTORY
ggR"E-PN TO PN+248 STEP ©
=
R K=I TO T+3 : B=BS4CHR$CPEEKCKD) : NEXT K

IF ASCOBS THEN 1
;E-FNR(PEE éI+6)) ¢ TSaFNACPEEKKI+7))
. .

SUDNOARLHNED
00000&00000%2
0

NEXT I
FL=@ : RETURN
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